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Time : Three Hours Maximum Marks : 80

Text Book : Literary Pinnacles.

N.B. :— (i) All questions are compulsory

(ii) Figures to the right indicate full marks.

1. Attempt any one from (A) and one from (B) in about 150 words
each : [16]
(A) () What qualities of a manager do you find in Uncle

Podger ?
Or
(i1)  According to G.B. Shaw, explain how capitalism has produced
universal ignorance of how things are made and
done ?
(B) (@) Compare Ralph Spencer and Jimmy Valentine.
Or
(ii) Why did Pahom buy more and more land ? What does
it signify ?
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2. Attempt any one from (A) and one from (B) in about 150 words

each :

(A)

(B)

(2)

(i1)

(@)

(i1)

[16]

What are the images poet has used in describing each
stage of life in °‘All the World’s a stage’ ?

Or
The poem ‘La Belle Dame Sans Merci’ is about the joyous
and sad aspects of love. Discuss.
Comment on the way the poem ‘The charge of the light
Brigade’ portrays war. Does it glorify or criticise
war ?

Or

Discuss ‘How do I love thee 7 as a love poem.

3. Attempt any one from (A) and one from (B) in about 150 words

each :

(A)
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(@)

(i1)

[16]
Discuss how liberty is not a personal affair but an
accommodation of interests, as reflected in the essay ‘On
the Rule of the Road’.
Or
Narrate your own experiences of pleasure derived from
ignorance, as reflected in the essay ‘Pleasures of

Ignorance’.



(B)

(2)

(i1)

Describe how the Selfish Giant turn into a selfless one,
in the story ‘The Selfish Giant’.

Or
Analyse the character of Mathilde in ‘The Diamond
Necklace’.

4. Attempt any one from (A) and one from (B) in about 150 words

each :

(A)

(B)

5. (A
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[16]
(i) ‘Afterwards’ is a poem about rebirth and renewal as it
is about death. Discuss.
Or
(1) Attempt a character sketch of ‘Father Gilligan’.
(i) Discuss some problems we have to endure as in the
poem °‘If.
Or
(i1) In the poem ‘A Psalm of Life’ the poet compares
life with many things. Discuss their impact on our
lives.
Attempt any one of the following : [8]
(1) Write a detailed note on the language of presentation.
(1) What are the important points to remember while making

a presentation ?
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(B) Attempt any one of the following : [8]

(i) Why is time management an important soft skill in the
present times ?

(i) What is ‘Goal Setting’ ? How does it lead to better

performance ?
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Q.1] A) Traruisez le texte suivant en anglais : {10)

La sécurité est un droit essentiel pour tous nos citoyens. Un droit qui constitue, pour ce Gouvernement,
un devoir et une nécessité. Nous essaierons tout pour la garantir et I'assurer sur 'ensemble de notre
territoire, et dans toutes les institutions de la République. Parmi celles-ci, évidemment, il y a
I'école. Dans nos écoles, nos colléges et nos lycées, des familles remettent leurs enfants aux mains de
leurs enseignants. Ces femmes et ces hommes travaillent tous les jours. Leur sécurité constitue un
impératif majeur pour le Gouvernement et une priorité pour toute la communauté éducative. Nous
sommes obligés de dire la vérité aux Frangais. Nous disons donc encore aujourd’hui que le niveau de
menace terroriste est trés élevé. Les événements tragiques auxquels notre pays a d( faire face au cours
des derniers mois en témoignent.

B) Traduisez le texte suivant en frangais : {10)
A peaceful Europe — the beginnings of cooperation

The European Union was set up with the aim of ending the frequent and bloody (sanglant} wars between
neighbours, which resulted in the Second World War. As of 1950, the European Coal and Steel
Community began to unite European countries economically and politically in order to secure lasting
peace. The first six countries were Belgium, France, Germany, Italy, Luxernbourg and the Netherlands.
The 1950s were dominated by a cold war between east and west. Protests in Hungary against the
Communist regime were suppressed (réprimer) by Soviet Union in 1956. In 1957, the Treaty of Rome
created the European Economic Community (EEC), or ‘Common Market'. The euro was the currency for
many Europeans from 2000; more and more ccuntries adopted it.

PT.0:



Q.2) Répondez aux questions suivantes en 60-70 mots : (3 au choix) [15]

1. Comment est la vie actuelle d’étudiant ? Discutez en bref ses occasions et ses défis.

2. Comment serait la vie sans I'électricité ? Décrivez la situation en imaginant les conséquences et
aussi les causes en bref.

3. Qu’est ce que vous voudriez devenir aprés vos études? Parlez des avantages et des deéfis de votre
métier révé ?

4. Décrivez le systéme politique francais.

5. Quels sont les enjeux et les avantages de I'immigration ?

Q.3] A) Choisissez UN de sujets suivants ; [10]
Rédigez une composition sur ce sujet suivant :
L'éducation joue un réle important dans le développement durable du monde.

ou
Ecrivez un dialogue entre un conseiller et vous en discutant les mérites et les inconvénients du
télétravail.

B] Faites I'organigramme de la faculté de Vuniversité dans laquelle vous étudiez ou d'une entreprise
que vous connaissez [5]

Gramm:aire 2t Vocabulaire : [30]
Q.4] A) Transformez les phrases au discours indirect. : (4)
Le touriste a demandé au guide ol se trouvait la gare.
M. Charles dit : « N'oubliez pas de changer ton code confidentiel, Julien »
Le juge déclare : « la séance peut commencer.»
4. Marc a demandé au professeur : « Est-ce que je peux entrer ? »
B) Transformez les phrases 2 la voix passive : (4)
1. La crise économique aux Etats-Unis en 2008 a bouleversé le systéme bancaire.
2. Des troupes américaines ont attaqué quelques régions syriennes.
3. Lesimmigrés organiseront des manifestations contre les inégalités.
4. Le professeur va nous montrer nos résultats.
C) Mettez les verbes entre parenthéses au subjonctif ou & lindicatif : (4)
1. Marie est certaine que Jean (ne pas l'inviter) a son mariage.
2. Lesgrands-parents voudraient toujours que leurs petits-enfants (venir) les vair.
3. Il est essentiel pour nous de (utiliser) le portable.
4. |l faut que nous (prendre) la décision.

L
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D) Complétez phrases suivantes a I'aide du verbe ‘servir’ : (4)

1. Le couteau couper les légumes.

2. Lesavocats beaucoup ___ moyens pour convaincre le juge.
3. Le portable aussi ___enregistrer la voix.

4. Lesenfants souvent le repas a leurs grands-parents,

E) Complétez phrases suivantes avec des expressions de but, cause et la conséquence. (4)
1. Il allume la lampe les enfants n’aient pas peur.
2. Les otages ont été sauvés I'efficacité de la police.
3. Letremblement de terre était ____ violent plusieurs milliers de personnes sont mortes.
4, Cette ONG organise des discours éduquer les gens.
F) Complétez phrases suivantes avec des prépositions correctes : (2)
1. Laconnaissance de la langue étrangére nous permet ____ communiquer sans l'interpréte.
2. Sivous tenez gagner le match, il faut travailler dur.

G) Récrivez les phrases suivantes en formant des noms des verbes soulignés. : (2)
1. Il aarrété de produire des voitures polluantes.
2. Lenseignant facilite aux étudiants d’apprendre de nouveaux domaines.
H) Trouvez les adjectifs : (2)
1. Celui qui a beaucoup de force, il est
2. quelque chose qui ne colite rien : c'est
I) Reliez les colonnes : (4)

A B
1 Le suffrage universel a) | Celui qui travaille a la maison.
2 L'économie de marché b) | Le vote de I'ensemble des citoyens
3 |.Le travail 8 domicile c) | Le manque du travail
4 Le chdmage d) | L'encouragement a I'échange libre
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Q1) Le département des ventes joue un role trés important dans une entreprise. Pourquoi?
et quelles sont les différentes maniéres de vendre un produit. Justifiez avec les
exemples. [10]

Q2) A) Quelles sont les différents moyens de faire la publicité et énumérez les avantages et

les désavantages de chaque moyen. [10]
B) Pour quels services s'adresse-t-on aux banques? Expliquez en détail? [10]
C) Le marché de téléachat---avantages et désavantages. (5]
Q3) A) Expliquez les termes suivants: [20]
a) un découvert
b) spot publicitaire
c) DAB

d) un concessionnaire
e) l'approvisionnement
f) un ristourne

g)VRP

h) une échéance

i) escroquerie

j) paiement par traite

P.T.O.



B) Complétez: [6]
1) le guichet ou il y a le mouvement des fonds est la ;
2) La dégustation et la distribution des échantillons fait partie de la publicité
3) Une carte bancaire avec le code confidentiel s'appelle :
4) Un cheque sans provision s'appelle un cheque

5) Dans quelques grandes entreprises, le service de
graves.

6) Les représentants regoivent une

se charge des litiges

sur les ventes réalisées.

C) Faites une phrase en employant les mots suivants [4]
1) banque, multiplier, agence
2) cheque, encaisser banque
3) investissements, capitaux, terme
4) retirer, compte, livret

Q4) Vous étes le Chef des achats de votre entreprise. Le Directeur des ressources humaines
voudrait organiser un congrés de deux jours pour tous les employés. Il vous demande
de commander toute la papeterie requise pour le congrés. Vous connaissez bien
l'entreprise BIC. Vous passez la commande en urgence. Mais les produits que
vous avez commandés ne sont pas encore livrés malgré une promesse d'un delai
d'une semaine. Vous étes un client fidéle du magasin et ce service vous €nerve.

Vous écrivez une lettre au chef de magasin et vous exprimez votre insatisfaction.
Vous demandez une remise et un paiement dés réception des marchandises.

[15]
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Q1) Traduisez en anglais. [15]

Mais pourquoi Pair est-il aussi pollué ? Et que peut-on faire pour mieux respirer ?La
qualité de I'air, c'est important

L'air que tu respires contient plusieurs gaz. dont l'oxygéne qui t'est nécessaire pour
vivre, mais aussi des poussiéres microscopiques : les particules fines. Si l'air contient trop de
ces particules, il est pollué et cela devient dangereux pour la santé. On peut avoir les yeux qui
piquent, le nez qui coule, ou se mettre a tousser. Les personnes les plus fragiles, comme les
bébés, les personnes dgées ou les asthmatiques, peuvent avoir beaucoup de mal & respirer un
air trop pollué. Pourquoi I'air est-il pollué ?

Dans les grandes villes, il y a beaucoup de véhicules qui rejettent du gaz. Il y a aussi
beaucoup de fumées : celles du chauffage des maisons et des immeubles, ou celles des
cheminées des usines. Tous ces gaz et ces fumées contiennent des particules fines qui
polluent l'air. En temps normal, les mouvements de I'air, comme le vent, suffisent a disperser
ces polluants dans l'atmosphére. Mais depuis plusieurs jours. il y a trés peu de vent dans
certaines grandes villes de France, comme Paris ou Lyon.

De plus, il fait beau. Pourquoi est-ce un probléme ? Parce qu'en hiver, le soleil chauffe la
couche d'air la plus haute, tandis que pres du sol l'air reste plus froid. L'air chaud reste alors
en altitude et forme une espece de couvercle qui empéche l'air qui est prés du sol — et qui
contient le plus de particules fines — de monter dans 'atmospheére pour se disperser.

Que fait-on pour y remédier ?

On peut essayer de réduire la quantité de gaz polluants émise dans l'atmospheére. C'est pour
cela que, cette semaine, les villes de la région parisienne ont limité la circulation automobile :
les jours pairs, seules les voitures ayant une plaque d'immatriculation finissant par un nombre
pair avaient le droit de circuler, et inversement pour les nombres impairs. Aujourd'hui, la ville
de Lyon, elle aussi a décidé d'appliquer cette mesure. Mais méme si on limite la circulation,
nos villes dégagent tellement de particules polluantes que seul un changement de
météo pourra mettre fin a ce pic de pollution.
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Q2) Faites selon les indications données [12]

a) (mettez les signes de ponctuation ou nécessaire.) [2]
1) cette année je vais en vacances a 1'ile de la réunion
2) les pommes je les aime ni trop acides ni trop sucrées

b)Choisissez les signes de ponctuation qui correspondent aux définitions [6]

sert & respirer

sert & designer ou annoncer quelque chose dans la phrase

sert a séparer les termes d'une liste

pour parler

pour exprimer une doute ou un silence

sert  exprimer l'exaspération
¢) Placez la ponctuation dans ce texte [4]
hier soir nous sommes allés au cirque nous avons vu les trapézistes des clowns un lion dans
sa cage un jongleur des ce qui nous a plus amusé ce sont les otaries et leurs gros appétit il faut
toujours leur donner du poisson

Q3)

A) Traduisez en francais [9]
1) I can’t take it anymore !The more I think, the more I am confused. I am in the dark about
it.

2) All of a sudden , I heard a deafening noise. Undoubtedly, an accident. Three people died
on the spot. I rushed with the first aid kit but alas...

3) The period of payment will not be prolonged. I can assure you of that. However, any delay
thereafter is inacceptable.

B) Traduisez en anglais [6]
1) Le premier ministre a déclaré qu'il va effectuer la nouvelle loi advienne que pourra.

2) Je l'ai rencontré pour la premiére fois lors d'un passage a Paris.

3) J'ai assisté a la conférence du lauréat.

4) Le port du casque est obligatoire.

5) Les amis lui manquent.

6) Elle a passé son examen en juin.

C) Traduisez en francais. [10]
1) Eventually he migrated to UK and his life actually changed with the move.

2) Have you wrapped the present ?

3) The Head of the department always supports ideas that are novel and creative.

4) He pretended to faint when the teacher asked him about his homework.

5) Did you read the latest short story by the famous author Maupassant?
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D) Traduisez en utilisant les noms collectifs. [10]

1) The shop had a wide range of products.,

2) A choir of singers sang a beautiful song in the church.

3) "What a pack of lies! I don't believe you" said the teacher to the student.
4) The final interview was conducted by the board of directors.

5) In the forest we were attacked by a swarm of bees.

Q4) Trouvez les expressions idiomatiques /proverbes équivalents en francais. [16]
A)

1) as stubborn as a mule

2) to be fed up

3) as talkative as a magpie

4) don't count your chickens before they are hatched

5) to call a spade a spade

6) Birds of a feather flock together

7) sleep like a log

8) every cloud has a silver lining

B) Traduisez en anglais [2]
1) Je ne peux plus supporter son mauvais humeur.
2) Les préjudices causés a I'image du Parlement sont énormes.
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T.Y. B.A. EXAMINATION, 2017
GERMAN
General Paper III
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

Note: 10 marks are for Listening Comprehension and 10 marks for Orals.
Use of a bilingual dictionary is allowed.

Frage 1. Ubersetzen Sie! [12]
A. Ubersetzen Sie den folgenden Text ins Englische oder Marathi! (06)

Benedikt, 15 Jahre: ,Jch bekomme mein Taschengeld jeden Montag frith von meinem Vater oder
meiner Mutter. In meiner Familie gibt es ein Familienprotokoll, in dem genau festgelegt ist, was
ich davon alles bezahlen muss und was nicht, eine neue Zahnpasta zum Beispiel. Meine privaten
Sachen aber muss ich davon bezahlen, also wenn ich mir Computerspiele oder Snacks in der
Schule kaufen will. Davor hatte ich gar kein festes Taschengeld und es gab immer Diskussionen
dariiber, was ich selbst bezahlen muss..* *

. Ubersetzen Sie die folgenden Sitze ins Deutsche! (Nur 3) (06)
Could you please tell me, when is the concert?
I forgot to close the windows.
The email must be sent by evening.
You are as dirty as a pig.
In the coming years we will have more water problems.
They rebuilt their burnt house.

G W S0 I = e
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Frage 2. ‘ ' [20]

A. Beantworten Sie VIER der folgenden Fragen! (12)

1. Worum geht es in dem Gedicht ,Jetzt*?

2. Warum ist ,Danke‘ ein schwieriges Wort?

3. Ist die Mutter nur eine Hausfrau? Erldutern Sie anhand der Situation der Frauen in Indien.
4, In wiefern ist Deutsch wichtig fiir Thre Karriere?

5. Wie wiire das Leben ohne Freunde?

6. Schreiben Sie einen Witz!

7. Wie wire es gewesen, wenn Thomas Edison die Gliihbirne nicht erfunden hitte?

B. Lesen Sie den folgenden Text und beantworten Sie die Fragen! ~ (08)

Der Tag davor: Die ersten Vorbereitungen werden getroffen. Meinen Freunden und
Arbeitskollegen, meinem Vater und auch meinem Nachhilfeschiiler sage ich Bescheid, dass ich
die nichste Woche ausschlieBlich iiber das Haustelefon erreichbar bin.

Whats-App wird mir fehlen, und auch das kurze Anrufen und Quatschen bei meiner besten
Freundin funktioniert dann nur noch, wenn wir beide gleichzeitig zu Hause sind. Andererseits

freue ich mich, weil ich dann ja viel Zeit habe, weil ich nicht mehr auf Nachrichten antworten
muss, die (manchmal) total unwichtig sind.

Tag eins- Die ersten 24 Stunden ohne Facebook sind vergangen und es ist ziemlich entspannend,
so vollig ohne Handy. Trotzdem ertappe ich mich dabei, wie ich auf die Handys meiner Freunde
gucke. Beim Grillen sehe ich, wie eine Freundin mit ihrem Vater Nachrichten schreibt, Es geht
darum, wann dieser sie abholt. Was ein Gliick, dass ich schon 18 bin, denn ich darf allein Auto
fahren.

Tag acht, 17.13 Uhr- Whats-App 712 neue Nachrichten, Facebook 13 Nachrichten, eine
Freundschaftsanfrage und 33 Benachrichtigungen, zahlreiche Emails und Twitter posts. Eine
SMS, ein verpasster Anruf, Es ist ein komisches Gefiihl, sein Handy nach iiber einer Woche
wieder anzuschalten. Die zwei Stunden, die ich nach Anschalten meines Smartphones damit
verbracht habe, auf Nachrichten zu antworten, zeigen, wie viel Zeit durchs Handy verloren geht.

A. Beantoworten Sie die Fragen! (nur 3)

Was wird von der Person versucht? Ist es ihr gelungen?

Wie war der erste Tag der Person ohne Handy?

Wiirden Sie auch so etwas versuchen? Begriinden Sie Ihre Meinung,
Wie viel Zeit investieren Sie am Handy? Woflir?

Geben Sie dem Text einen passenden Titel!

. Schreiben Sie aus dem Text: 2 Soziale Netzwerke!

o=l e
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Frage 3. Grammatik und Wortschatz! [20]
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. Bilden Sie Passiv! (Nur 4) (04)

Ende des letzten Jahres brachte man die Tiirme des Museums unter.

Du kannst mit deinem Chef {iber die neuen Arbeitsbedingungen sprechen.

Die Lerner sollten in den Sprachkursen nur auf Deutsch reden.

Die Regierung musste fiir die Entwicklung des Landes einen neuen Plan entwerfen.
Die Eltern verstecken die Ostereier in dem Garten oder in dem Wohnzimmer.

. Erkliren Sie die Redewendungen und Sprichwirter! (Nur 4) (04)

Jemandem die Daumen driicken.

Liigen haben kurze Beine.

Man soll den Tag nicht vor dem Abend loben.
Ende gut, alles gut.

Tomaten auf den Augen haben.

. Ergiinzen Sie die richtige Form: Partizip I oder II. Beachten Sie dabei auch auf die

Adjektivendungen! (Nur 4) (04)

. Die Studentin bringt das Handy von dem Geschéft zuriick. (reparierend/

repariert)

Der Konig spricht mit der Prinzessin.(weinend/ geweint)

Der Kellner hat den Gésten den Tisch gezeigt. (gedeckt/deckend)

Die Leute aus Ostberlin versuchten, die Mauer zu {iiberqueren.
(einsperrend/eingesperrt)

Der Ritter ist Stolz auf sein Land. (blutende/geblutet)

Man freut sich iiber die Wiinsche. (erfiillend/erfiillt)

. Bilden Sie Konjunktiv I! (Nur 4) (04)

Lisa sagt: ,,Ich fahre wahrscheinlich nachste Woche nach Marokko.*

Der Beamte meint: ,,Korruption verunziert das Land.*

Sie beschwert sich: ,,Mein Mann hilft mir nie bei dem Haushalt.“

Der Chef fragt den neuen Mitarbeitern: ,, Wann bekomme ich das Dokument?*

Die Frau bestétigt: ,,Meine Tochter heiratet bald.“

Das Kind erkldrt seiner Mutter: ,,Ich habe doch keine Spielzeuge mehr.”

Formen Sie um! (Nur 4) (04)

Je: ich arbeite viel, desto: ich bekomme viel Stress (je...desto)

Kinder sind naiv. Sie sind auch liebevoll. (Nicht nur...sondern auch)

Die Frau wischt die Kleider. Dann héngt sie sie auf. (nachdem)

Die junge Frau mit dem kurzen Rock ist blond. Sie ist intelligent (zwar...aber)

In der Nazizeit in Deutschland mussten viele Autoren aufhren zu schreiben. Sie mussten
in ein anderes Land ziehen. (entweder...oder)

Die stindig zunehmende Zahl der Autos verursachen eine enorme Luftverschmutzung. Es
wire besser, ... (Schreiben Sie den Satz im Konjuktiv II fertig)
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Frage 4. Wirtschaftsdeutsch! [08]
Sie haben ein Sprachinstitut und benétigen dafiir Schreibwaren. Schreiben Sie eine Anfrage.
ODER

Schreiben Sie einen Lebenslauf fiir die Stelle als Journalist/-in.
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Seat
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T.Y. B.A. EXAMINATION, 2017
GERMAN
(Special Paper III)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80
FrageI:
(A) Ubersetzen Sie den folgenden Text ins Englische oder Marathi! (06)

Facebook wurde 2004 von dem Harvard-Studenten Marc Zuckerberg gegriindet. Es handelte sich
hierbei urspriinglich um eine Art virtuelles Jahrbuch. Auf Facebook sollten Zuckerbergs
Studienkollegen einen Steckbrief von sich anlegen und sich untereinander vernetzen kdnnen.
Bald waren Studenten aller renommierter Universitit der USA auf Facebook vertreten. Danach
kamen andere Hochschulen und High-Schools hinzu — bis sich schlieBlich jeder ab 13 Jahren
anmelden konnte.

(B) Antworten Sie auf zwei der folgenden Fragen! (08)
1. Wie wird Nanotechnologie auf dem Gebiet der Lebensmittel verwendet?
1. Welche Griinde haben Allergien? Nennen Sie zwei Losungen zu dem Problem!
2. Welche Faktoren beeinflussen das Gedéchtnis?
3. Warum nennt man Ayurveda ein ganzheitliches Gesundheitssystem?
Frage I1: Antworten Sie auf die folgenden Fragen! (nur yvier) (16)
1. Wie funktioniert Twitter?
2. Welche Rolle spielen soziale Medien in der heutigen Welt?
3. Welche Wirkung hat die zunehmende Verstiadterung auf die Umwelt?
4, Warum halten Wissenschaftler Menschenaffen fiir die kliigsten Tiere?
5. Was betrachtet man bei der individuellen Heilbehandlung im Ayurveda?
6. Was wissen Sie tiber ,Leonie‘?
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Frage 111: Beantworten Sie die Fragen! (nur vier) (24)

1. Was wissen Sie iiber die germanischen Stdmme und ihre Frithzeit?

2. Wie kam es zu der Reformation in Deutschland? Wie reagierte die Kirche darauf?

3. Wie fiihrte Bismarck Preulen zur europdischen Grofimacht? Was machte er fiir die
Biirger in seinem Reich?

4. Schreiben Sie {iber den Frieden von Versailles!
Warum scheiterte die Weimarer Republik?
6. Was wissen Sie iiber die Hitler-Diktatur?

n

Frage IV:
(A) Schreiben Sie ausfiihrlich iiber eines der Folgenden Themen! (10)

1. Karl der Grole
2. Der Investiturstreit
3. Renaissance in Deutschland

(B) Schreiben Sie iiber eines der folgenden Gedichte! (06)

1. ,Abgedankte Soldaten® (Friedrich von Logau)
2. ,Unter den Linden‘ (Walter von der Vogelweide)

Frage V: Ergiinzen Sie! (nur 10 Liicken) (10)

1. Etwa zwischen 375 und 453 regierten dig --------- tiber ganz Europa.

2, - ist die Hauptstadt von Deutschland.Das méchtigste und dauerhafteste der
Germanenreiche war das Reich der --------- !

K I gilt als der Griinder des ersten deutschen Reiches.

4. 1806 setzte --------- dem Heiligen Rémischen Reich Deutscher Nation ein Ende.

S, memeeee- ist die Hauptstadt von Deutschland.

6. ------—-- ist die Hauptstadt von Deu

7. Die Zeit zwichen Bismarcks Riicktritt und dem Ersten Weltkrieg trigt den Namen

L war der erste Prisident von der Weimarer Republik.

9, Hitler setzte am 30. Januar 1933 durch ein ,,----------- “ die Verfassung der Weimarer
Republik aufler Kraft.

10. Die Nazis waren nach dem Vorbild des intalienischen --------- organisiert.

11. Gegen die Allirten kdmpften im 2. Weltkrieg die ,,Achsenmécte™ - s und
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GERMAN
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Time : Three Hours Maximum Marks : 80
N.B. :—All questions are compulsory.

Frage I- Literaturgeschichte [45]
A. Erginzen Sie ! (Nur 8 Liicken) (08)

10.

gilt als einer der zentralen Leitmotive des Barocks, in dem die Nichtigkeit und
Vergénglichkeit des Lebens im Vordergrund steht.

Zur Zeit der Aufkldarung beherrschte das Argument, was ist, ist gleichzeitig auch
gut. '

Die Zeit des Sturm und Dranges wird auch als bezeichnet, die viele Genies
hervorbrachte.

Die Klassiker strebten nach ideal durch Kunst und Dichtung,

. Junges Deutschland wird als eine Bewegung innerhalb der Epoche des

bezeichnet. -
Theodor Fontanes Roman Effi Briest steht im engem Zusammenhang mit der Epoche des

Expressionismus stammt vom lateinischem expressio und bedeutet

1909 entstand SDS, eine Organisation von

Grolistadt, Technik, Alltag, u.a. waren die zentralen Themen aus der Literatur von der
Epoche der

Eines der Merkmale der Epik im Naturalismus ist der stil, eine genaue
Darstellung kleinster Bewegungen.
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B. Ordnen Sie zu! (05)

i.  Barock Erster Weltkrieg
ii.  Junges Deutschland Weltwirtschaftskrise
lii.  Realismus Wiener Kongress
iv.  Expressionismus Dreifligjdhriger Krieg
v.  Literatur im dritten Reich PreuBen wird zur GroBmacht
C. Beantworten Sie ZWEI folgenden Fragen (16)

1. In wie fern ist das Weltbild der barockischen Dichtung von dem Element der
Antithetik geprdgt? Belegen Sie Ihre Antwort mit passenden Beispielen!

Was sind die Grundideen des Naturalismus?

Erklédren Sie die Merkmale und Formen des Realismus anhand eines Beispiels!
Warum distanzierten sich die Romantiker von der Wirklichkeit?

Wie beschreibt Rilke die menschliche Exsistenz in den Gedichten ‘Der Panther’,
‘Das Karussel'l und ‘ Herbst™

D. Beantworten Sie VIER folgenden Fragen (16)
Was stellt das Gedicht Trdnen des Vaterlands von Andreas Graphius dar?

Warum ist Brentanos Ballade Loreley unter der literarischer Kanon der Romatik
zuzuordnen? '

Warum gilt die Ringparabel als ein exemplarisches Beispiel der Epoche Aufkldrung?
Nach welchen literarischen Motiven strebten die Impressionisten?

Schreiben Sie {iber den Expressionismus!

Wie ist die Naturbeschreibung in dem Gedicht Phantasus von Arno Holz?

Erkldren Sie das Humanitdtsideal von den Klassikern!

iU

| 5%

i 0

Frage 11- Novelle- Aus dem Leben eines Taugenichts [20]

A. Beantworten Sie ZWEI der folgenden Fragen! (12)
1. Schreiben Sie einen Beitrag iiber die Sprache und den Stil der Novelle!
2. Welche Symbolik teilt das Einschlafen und das Trdumen des Protagonisten in der
Novelle?
3. Wie ist die Figurenkonstellation in der Novelle?

B. Beantworten Sie EINE der folgenden Fragen! (08)

1. Reise und Identitit haben einen engen Zusammenhang in der Novelle. Was meinen Sie
dazu?

2. In wiefern kann man das Motiv der Natur um den Taugenichts als Représentation von
Romantik darstellen?

3. Ist Taugenichts ein verdnderter Mensch am Ende der Geschichte? Begriinden Sie Ihre
Meinung anhand passenden Beispiele!
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Frage I11- Philosophie [15]

A. Erginzen Sie ! (Nur 5) (05)
1. Philosophie bedeutet (eine Liebe, ein Freund, eine Frage) der Weisheit.
2. (Platons, Thales, Sokrates) Vorhersage der Sonnenfinsternis gilt als die
Geburtstunde der Philosophie.
3. Sophisten waren (Denker,Philosophen, Lehrer) der Weisheit.
4, Die wichtigste Frage fiir Immanuel Kant, was kanndas _ (Denken, Erfahren,
Suchen).
5. Die Aussage ,,Religion ist das Opium des Volkes” stammt von . (Nietzsche,
Heidegger, Marx)
6. (Realismus, Nihilismus, Kommunismus) ist Entwertung der obersten Werte
so Nietzsche.
B. Beantworten Sie ZWEI der folgenden Fragen ! (04)
1. Schreiben Sie iiber den Beitrag von Thales im Bereich von Philosophie!
2. Was behaupteten die Atomisten?
3. Was ist die Ideenlehre von Platon?
4. Mit welchen Fragen beschiftigt sich die Philosophie nach Immanuel Kant?
C. Beantworten Sie EINE der folgenden Fragen ! (06)
1. Worum geht es in dem Buch Sein und Zeit von Martin Heidegger?
2. Was ist der Verdienst von Sokrates, Platon und Aristotles in der Geschichte der
Philosophie?
3.

Was ist der Unterschied zwischen Herrenmoral und Sklavenmoral?
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4, (o1 frefafes 4 ¥ fodl uier sfafadl & fawfa &9 fafae @ (10
@ C.BR.
(ii) C.H.D.
(iii) E.C.
(iv) F.D.
(v) L.IC.
(vi) P.O.
(vii) P.W.D.

(em) fa=fafed & @ fedt wen favg W g o@d &ifeg [5]

() ‘Torere feag@’ AR &1 GHER-UF & fa gdd oied &g

(i) Teagened H 9= Tihide HEGH &l dedl & fau g
WG RIS |

[5201]-3018 3 P.T.O.




5. (31)

(am)

[5201]-3018

frfafea § 9 fRdl ek fos@ W 99 &1 99 @R &I : [5]

() TAmfEg, Suafad, TAER O3ed, YRd @R, T8 foeol d |t
T R 6l Eo8 9Rd AWIH A9 wRRA & &g 9
IS B

Gi) fovman fasm, sSugfue, fafy @9, YRd TR, #igdt Hw=0
e, WeFeh i SHI WACE § favie weEed % ue W g
FE FH FHEAGI HARY S wE B

frfafea 7St stear s sig=e &1 fedl # offa] &iftee @ [5]

HRICHTST B @ik @R Ad Bld 30l S SHAMRA eehrTd shell

&l fren SHTETRe vl fHafauarst wesidl helt ARl Hcdmwl

R Ul TUER IS AYEl HeY WHS[H HUATEl d Evdehd]
3R, N SEeR fovag 2ar o &=l HaaR STgs WU SAfoRd
IS S9Ee B9 CWIEY WIEATET SRaEeun Sfadd’ A RUieR

= favarg Teear. SRO9 AUREl UEEE 98 SO 3TEd a8 oAl

MU SoAasdeh  doadM@T=a1 YR SFfdes IMadl gEnfad kel

FAYAl, AU Tehal d UM BId. '‘hividel U Wd: Yd 49d. d

SR Sedidl 3T9d. HWell HiEN o Wdd @l 8al 37, o odrel

TFadAl e ged ad RO



[5201]-3018

SPE)

Mahatmaji was a real leader of men and he led the people.
He never played to the gallery or cared to secure cheers from
the crowd. Indeed more than at any time, today, there is
an urgent need to understand the message of Bapu. He
belived in work, and according to him, life should be one of
ceaseless activity. He never believed in the maxim that “ends
justify the means.” If only he lived for another quarter of
a century, he would have established international peace based
upon his philosophy of life. Because once he said, “no nation
belongs to itself, every nation belongs to the world. I want
my country to be free. So that it might die to serve the

cause of humanity.

5 P.T.O.



[5201]-3018
(wErsgeren &)
g dA "e qutish : 80
oAl :— (i) |ty Afer ¥
(i) <fet R fa@ &iF uwdl & yois T
1. fmfafed § 4 fedt e foo9 WM TOER &1 99 AR &S ;0 [8]
(i) et fovafaarem & ‘@i SEd wERE’ favE W sAEmREmi S

ot gHER|
(ii) o wefaeme™ H W= ‘fAfa s sifwem’ @1 el & fau
TR |
2. fAfafed 4 9 f&<l & 99 & W®Y IR hiel [16]

(i) Gf=Ea wrer fauarm, 9Ra @R g wiel faum, 3ufRigs =i
‘IS A BE' TS WeR WEW, % U9 & yd TR @
faw o= 91 W@ ®i

(i) IR ufeg fet goesr Tfhfd, YRd WHR, gR Sitaq s faum,
TEE T, & (W AR Ue W 4iudl el RS STl
Tl w1 fgfed & wed d el ARw W feeEr Smar ¥

(iii) S°OF WEMRUMGRT & R A /Y T & A@NE Hd, fosiel ==
% "o H fAfoqr #mE S B

(jv) 3T FAR/ET FAN HEWeFEH, HERTE Sk, TS S, H A

fe7 =1 JuwE e & fau smaed war g/l T

[5201]-3018 6



3. (31 frAfafed #§ ¥ fodl @ s dfwfaal & fedl of &9 fafee : [10]
(i) AIR
(it) ASH
(iii) BARC
(v) CCI
(v) CBI
(vi) DT
(vii) GICI
(viii) ITI
(zx) MHRD
(x) MIB
(xi) CSIR
(xii) NSC
(xiti) LC
(xiv) DGSD.
(am) Frafafed @ 4 fFdt wer ufssg &1 &l sgae &ifsw @ (6]

(1) WIAENHEl SIT=A1 SRt @Id 39edl d1d, dehqd STavddh  dddl
TIRH hIEdl ATel, Tdehd Tog dl hel [HesUATEl UfhAEl AW
RET I eI AdRL TS ST YOGl shraffad  hiodrd
IR AR, HeEd ®IgR ANRehreA Qe e o' @
sy W IYasy dol WUk eTe | feeedta fafay
fahIUr=a1 33ae SNNIdEl &9 URhi=al HrEl 9l 3w o8 |
SITTfdehiehe0l & WITAMRIONd 1992 Fdl a8 LA ST

ST RO STHE §ed STl

[5201]-3018 7 P.T.O.



(ii) Generally, a physical quantity is given by its magnitude
and unit. The magnitude of a physical quantity
represents how many times a unit quantity is present
in the given physical quantity. For example, 5 kg of
sugar means 5 times the unit of mass kg of the sugar.
In the study of Physics, we come across the physical
quantities with many different magnitudes. Some of them
can be infinitely large while some of them can be

infinitesimally small.
4, ffafea 4 9 f&< a9/ gl & s @4 § fafeg . [20]

() HHA® YN H RE TR HIGT|

(ii) HECEE AR w1 4 THET|

(i) OFR SAIAR HI Uikl THET |
(v) wASFgew fédt fEa-fea & & wd &t § 2
) T v & & gaute gEEE w1 Gfia afiEm i
(vi) WHHR YIAEE HY IR HI A 72
5. frafafed & @ fe=l = foorll W fewfrl fafew [20]
(i) gE dehdle H o STAR
(ii) AR
(iii) wfqere" ()
(jv) GIN UEfTRT H WTETE
() U8B TS H HAME TE G
() TS

[5201]-3018 8



Total No. of Questions—5] [Total No. of Printed Pages—3

o [5201]-3019
T.Y. B.A. EXAMINATION, 2017
HINDI : Special-3
(& . favw-3)
(R =g a1 sfe®)
(enfeaRTel | 3MEfThaATel  qh)
(2013 PATTERN)
g ;@9 ue quties : 80

o :— (i) |t g st ¥

(i) et iR fa@ @ik wwdl & qofs €|

fedt wifew & sfaem & wAfgusE R Amem &1 fag=a &ifSu)
[14]

Jqqa

frafafeq w fewfri fafew (98 2)

(1) faed &1 wm= R=a

(2) dfdw & fafy= W

(3) fgwra 1 UsHIfasw affeafa

(4) hIEEHI

afFdqerTeli AR YEn & & & wgtaal fave e [14]
YT

frefafeq w fewufmt fafey (+E 2)

(1) ofFaepre= amfee aifeafa

(2) dqaEt @ THIRAHEE

(3) N WK Hid YEM

(4) g wmEn # OFER o ANRH |

P.T.O.



3. YRAGYNA HA &I FIAdl T Hifed | [14]
rerar
frafafea w fewfoei fafew (F8 2)
(1) 9emd fad
(2) YR fog foae
(8) enfeardt wafwft fden qqa
(4) TgHfa Bfoeeror T |

4. & su=m four &1 formes ofieg 30 3¢ 999 & 9feM & W
HifeTg | [14]
3qdAr
frafafeq w fewfoml fafen (FE 2)
(1) Ufqerfos IT=EHR  FeETea a4t
(2) Tfad WfecdsR SAIRRT HEH
(3) HEMIHR HHAT Hifera
(4) YR

5. (3 fTafafeq & 4 < @ T & SW THh-T& a1 fafew
[10]
(1) ‘=wEEd’ & & 9E & AW fated
(2) ‘wmyg@’ feuwr wfaam § 2
(3) ‘SRR : TH Sedl’ fREEer @ g ?
(4) 9Rdg Hed @ & Hfogdl & AH SRl
(5) A YEIE & fRH Wwm wA-FHfa w1 9w fafen)
(6) BEER % Yaddk HHF T 7
(7) fgat g =t & oo fafew)
(8) ‘M’ fHus Su=E ¥ 2
9) ‘Ueal W' SUEH F SUAEER |
(10) SHs®RUR & f&dl ww St=m &1 9m fafe)
(11) ‘7 gft’ &1 fedl wew wert w1 AW fafew)
(12) #iema e & fordl TR 3™ &1 AW 9aET |

[5201]-3019 2



(em) fr=afafed ool § @ fR<l @ wvHl & SW 9ew # fafew
[14]
(1) ‘yifgere’ w1 & fowivad fafen
(2) gfgd & & WA & AW Rl
(3) Hfyero @ &t &=l & WAl & 9w fafew)
(4) Hfedsy & @wem & & favivand FaRy|
(5) ®EER w1 & foRand fafeu
(6) YURYH q ALHSHN % TH SRl
(7) SHsst g7 fafed & =€ & 9w fafew)
(8) UH=eg d werieri & AW fafew)
(9) AR TEE & & Ufqefaes Teshi & AW fafen)
(10) g fodl & feverl & am fafew)

[5201]-3019 3
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Seat
No. [5201]-3020
T.Y. B.A. EXAMINATION, 2017
HINDI (&)
Special Paper 4
(fagts qw 4)
(RTHITTE)
(2013 PATTERN)
g ;@ "e quTish : 80

g :— () |@ur Y e ©)
(i) et &R fa@ &iw g & quis |

1. frafafed & ¥ < <@ W & SW U&h-Ua o § fafew @ [10]
(1) 3S99E & Th G fdiEu|
(2) TUHHI F F oAEd T ?
(3) ¥AR® & AFF hi Weh favwar faf@w)
(4) Yenfas &t foRmad fafem)
(5) & & YeR fafau)
(6) @9 %1 wa uR9T ST
(7) 9T W & et 99 =1 § 2
(8) ST % fau ygea wumel v fafeu|
(9) U & FAgER ‘aAfa’ fFE wed § 2
(10) oTci=h &1 U & faf@w)
(11) fray &1 & fomivand fafew |
(12) 39 3R ®eHl H & AW T ?
| o



2. fmfafes & ¥ fo<i @ 9o & 3w dau # fafew .

(D)
(2)
(3)
(4)
(5)
(6)
(7)
(8)
9)
(10)
(11)
(12)

& HI hls Tk uiwmn fafew)
PR & & 9 fafe)
yE-vfwEl dAd g W § 2
TR & A & &f U fafe)
HeA H HEdE 1 HEd TS i |
TMfawes &1 & fagmand fafe
sMes & & o fafaw)

T & FER R0 fHd Fed ¥ 2

¥ AR® H WEY TR HIGC |
THHI & G dd TR

ToeT & SHUR ST i uRwmn i)
ey & Jq@ d@ faten

[20]

3. fmfafea @ 4 fo&=l & =& & YU A GREO TR HifST

(1)
(2)
(3)
(4)

4, fTmafafed 4 ¥ 9 9 994 & S 989 d fafew

(1)
(2)
(3)

[5201]-3020

3l
=T
ESIESIER]
ferafeofi

AT V-V Rl TS hifd |
HF H WEY TR HIfST |
HF & TANH W HET H YR Sifau |

2

[10]

[20]



(4) ACEAT 61 WEY W Hi9T |
(5) HA H TE H Hed TS HIfST |
(6) HEU W H HEEO UR=T SIS

5. frfafed 4 ¥ fo=l & 9l & I fowr 9 fafew . [20]
(1) werhred & doa fafem)
(2) Hert HI TR FATHL I d@l Bl 9dl hiTed |
(8) W & 37 W famr 4 == =wifsw]
(4) TEH & FUR W ARE & U dAdRL e @ UgE qd fafen|

[5201]-3020 3



Total No. of Questions—>5] [Total No. of Printed Pages—4
Seat
oo [5201]-3021
T.Y. B.A. EXAMINATION, 2017
PERSIAN
General Paper il
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. .—(1)  All questions are compulsory.
(2) Figures to the right indicate full marks.
1. Write thoroughly the style of Kazim Zadah. [16]
Or
Explain life and literary works of Kazim Zadah.
2. Write a critical appreciation of the book :?)1/"‘3/(5/. [16]
Or
Critically examine the chapters of #3/% ..
3. Examine the poetic art of Dr. Igbal in views of his poems of J/“”‘(.l./,,

[16]
Or

Explain the peculiarities of Persian poetry of Dr. Igbal.

P.T.O.



4. (A
(B)
5 (A)

Reproduce the poems in your own simple Persian (any one) : [8]
Tz ()
L=l (1)

S Batelb@FS (P

Explain the poetic forms of the  following (any two): [8]
Sts ()
vud (P
& ()
<7 ()

Translate the passages in English  or Urdu or Marathi (any

two) 8]

U!&L"‘%f;b"a’/{@“jvLfﬁ)iJ}E/X)WJ&D}JKd/:gﬁ‘Z (1)

NS U s ,«;/J/f I /fxz /g{fcu PRIy

_;Pui;'f(ﬂ;l:&til/f,«{ [f/‘:d/yw

J!“J,J/u::.«/lu:'urﬁﬁzljijzot{'@’wb’5551@))(}/%0{? (r)

Loyt 5350 TS m STaIS S sz LY

2 [5201]-3021



AN ST SO IR g gy Gt IR ST R Sy I

LU':};,&(@{ LLLUI:JIW{_U)}}A“V’()‘J’/é

At st St wr S LS osr53

;afuﬂQLugu}Luya}uutﬁé_ujssi,{jupg

2T T it s 2l s enTos L 3t G 3 ¥ o7
1

VN F e Ul s B8 S 16 B par SULL G a1 B (1)

ﬁ?:/;ﬂiu/,:bfl}ufﬂfb i/ﬁawﬂya“wl}a}@

);’.Jz}al}"; :/awg@!;f; ,‘f(t}b?, Eusle oo 1usl e Jay

_)’),?’;4_/}4.?5/,?’;%/; YA VEY Y
(B) Explain in Persian or translate and explain in English, Urdu
or Marathi the following couplets (any four): [8]

et eI G5 ()

w/}/m.;,g»dd}fi
sty s t/cfdj (r)

EIRL KT PRV DI R BT %
S A ()

o F S w Sl

P.T.O. 3 [5201]-3021



Azt bt oai st ()
Erst D a2

Sor 9SSy (0)
.::,./Ul:?uj}cfﬂdk,,z

(,:“irxz j;‘)TJ}/J (1)
AL U

4 [5201]-3021
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[Total No. of Printed Pages—4

Seat
o, [5201]-3022
T.Y. B.A. EXAMINATION, 2017
SANSKRIT
General Paper III
(2013 PATTERN)
Title :— (i) Venisamharam (S0iHeR)
(ii) Bhaminivilasah (¥fHifaemd:)
Time : Three Hours Maximum Marks : 80
1. (A) Translate into English or Marathi (any two) : [10]

ISa feRar W9 YW w0 (HIVTERT dei)

(2)

(i1)

ffSTaicdfaa mel Ayt

HRRvgRa 3d Afa=Tgad: |
fagmn fafg N TIgWTHE USH:

Wehivl: qoUmN  ERERUERESeRaH |

Heod: — A, TSI SRR TesHERTN fash A e =g |

fim: — o9, T 999Ed TEEREIsegae (S ) 3,
=M IS HERa&ad |

A — Y, SRR EE Qd age g Hag | asar]
FARME oA Hag |

S — JAR A= HaTy: |

P.T.O.



(B)

2. @A)

(B)

[65201]-3022

(Gii) F9: — 99, Td fea SH: weAfdl
Fsqeam — b da= Ul gRgseRyfest: |
qd: — (TY9) HOAR, T o= ool WRTH T4:
qRYeedan: |

FRAMT — B did, ¥ qAGI, HH AIUMEHIE  Fd
SSARETTAAag"  gaome  gfRwifad: |
Explain with reference to the context (any two) : [10]
oy WU w0 (IR Q@)

(1) T Ha{ RTUSHA: YA |

(2) Tt weRaed d@: g A fewfa)
(3) Afe dgcamelsT war YR 7 gad |

Critically appreciate the 4th act of Venisamhara . [10]

‘IuitERR’ ek @en i fafecad WuRm &L

Or

(feram)
Write the relevance of the title of drama Venisamhara .
‘JUITHRR’ ATekrAT iRl HHUSAT WS H.
Sfad wafg faar fedemf q@Ea (F=fU us=) [10]
Staa g feed e S 9 (SRl ure)
(Wedli, Ted, e, Rgeentt, fqm, wesmty, qugewr)

(1) STHARIISETO[AIT cooveeeeeemeeseemeemeemseneeeee g |
(2) a_]—a-ﬁ_[ ..................................... ﬁﬁwsml
(3) q ‘i"‘q’;r_q"_l G'\ert'l ..................................... g9 |

2



3. (A

(B)

[52011-3022

(4)
(5)
(6)
(7)

Translate into English or Marathi (any two) :

S ferar TS Wik &0 (HIOAEl qreid)

(1)

(2)

(3)

FoUMAA I hadtd el =Rl

A4 Heafa f& =9 d@gad &M@ g3gafd|
T HAGASHE S GEATGRME S YA

g fe g fadi fouggfed: aaes=R:
TR weorn gy e

Alelh o= Hedl a1 e gfe:|

w1 fo weRn SHfUgHE gt
yRERE fafera fasaar anfea

T 9d: wyAy q fedfi] IR =9a-
< HIsty Ta TErEEHE wH  wREE |
greaigaqfgtiaiiva: dHed Asid-

W A qa geavim fawargy e Ssafd

Explain with reference to the context (any fwo) :

THeYy TR HU (HUAREN aEd)

(1)
(2)
(3)

fasafer=yar=: ored  wafasafa : |
SUEYH Yo Wl a8 HE N |
HUATEeRd  SRERUERE T |

3

[10]

[10]

PT.O:



4, (A) Explain self confidence of Jagganatha reflected in

Bhaminivilasa . [10]
aififaeraa yfafafaa smoen Se=amn @a:fase=n  sraafayard
e h{].
Or
(feram)

Explain ‘Gajanyokti’® in detail.

TS=ART | T &

(B) fod wE faan fememt @@ (Fh 9s9) [10]
Staa wala feed e S 9w (SRl ure)
(Ffem:, effa:, o=y, Fo, wolon, WER, YD)

(1) oo odq ?ﬁ—a—'a—:m-[ qw fﬁﬂql
(Q) e | -q?'j-q-la;: qﬁmml
(3) _:'bla'lv_*’ff S IG] FIﬁTUTR‘L ..................................... |

(4) e | .g.aa ..................................... Jaraar S|
(5) DIEDILE oty Tlﬁ-r[g‘_tl ..................................... |

(6) IﬁQ‘IIE"a ‘i\a‘i‘dq‘ﬂ"”“qi: ..................................... |

.
('7) ﬁﬂ‘m qqaﬁ m—f\q- I T TP mml

[65201]-3022 4



Total No. of Questions—5]

Seat
No.

Time :

1. (A

(B)

Three Hours

T.Y. B.A. EXAMINATION, 2017
SANSKRIT
(Special Paper III)
(2013 PATTERN)

() HfageRel (FaT, iy, faved)

Maximum Marks :

[Total No. of Printed Pages—3

[5201]-3023

80

(ii) dfgewr aremErEn 3fde™ (History of Vedic Literature)

(iii) 9&pa @" (Sanskrit Composition)
() wd g e e
(i) SVEhEl® 3fh U O FLiferr.

(i) All questions are compulsory.

(i) Figures to the right indicate full marks.

Yeicliehl hIUATE Q™ SIS0 ]
Explain any two of the following :

(i) sEIs<ane fel

(i) HIST@ER:|

({ii) HIY¥HAH HOH |

YUl HIUAR G W W HA
Explain any two terms of the following :
i) I

(i)  wfqafaemre: |

(iii) FHEHH|

[10]

[5]

P.T.O.



2. (A YIaUSl HAR AW Geftd gA F difdeh Igd wed dibfoug
EZUE [10]

Split any four of the following by quoting relevant rules :

G g
(i) AR
(¢ie) HTEA:
(iv) sAlG:
(v) THfa:
(vi) TEME:
(B) Sfuaifh g+ fafegd (s=aft gs=) - [10]
Select the correct pair (any five) :
(1) ©m™Y 3vd FEd (i)  STURHEY
(2) & Y4 Tafd (i) hglfEdad wH
(3) TN A Juedrd (iii) O
(4) & I& QI (iv) SfEHTIH
(5) <EEw: HEfd (v) ITHIAd =
(6) wAfEq s AR (vi) HTHHAH FHH
(7)  §: «9vF == (vii) A= |
3. 'TEUIYE’ W&Y TR H. [15]

Explain the nature of Brahmanagrantha.
feRa/Or
‘gerg’ w fawaerR fEy formn
Write an essay on ‘O&Ig.
[5201]-3023 2




i~

4. (A) foous uf=x fagl (SR SEio)

Write critical notes on (any two) :
() RTEG YR TR
Indian Commentatory of Rgveda
(i) eSOl
(iii) TARIASTEIH |
(B) Sfua gmifH fafeqa (Fraft os=)

Select the correct pair (any five) :

(1) AYdaR: (i) HAMEEG
(2) RIS (ii) SRR
(3) SRIETATIYY (iii) STSZHTI
(4) HHaT: (iv) HITSFITOG
(5) FHoR: (v) 3FaQ

(6) S_AT (vi) O=_EH

(7)  Jeead (vii) ¥ |

5. UICIUR! HIVAE TeRleR Tipaa fHaw famr .

Write an essay in Sanskrit on any one of the following :

(G) wm e
(ii) a9=q:|
(ii) wogfd: wu fo 9 wAfd@ gam)

[5201]-3023 3
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

T.Y. B.A. EXAMINATION, 2017
SANSKRIT

Special Paper IV
(2013 PATTERN)

Time : Three Hours Maximum Marks :

Texts :— (i) SAAMCHTGA®: (Atmanatmavivekah)
((i) W®Eus: (Tarkasarhgrahah).

1. (A) Weidisl SR Seid Gedide TR &l

Y. [5201]-3024

80

[10]

Explain with reference to the context any two of the

following

() TH AW Setsate: |

(i) Hed ™ We  efadioeseTe |

({ii) A<HW AW HAGfeUPETHE SRRl |

(B) Wreiiaiuehl Hivrcel Qreer fear femr

Write critical notes on any fwo of the following :

(i) ISR |

(z1) AHHE:|
Gii) TAfSsamEH |
(iv) JAFASHIRY: |

2. (A AHE WEY W HA
Explain nature of 3cHT.
Or
(feram)

qegshiomer ey forer
Write an essay on YSdehiv.

[10]

[10]

P.T.O.



(B)
3. A
(B)
4. (A

[6201]-3024

Sfadita g fafegd  (f=afa gs=)

Select the correct pair (any five) :

(i)  HITHIR:
(i) R
(iii) T

(iv) oS

(v) FaUHq

(vi) eTraHIfasy

(vii) T

GreAicTdshl AR Glaid GeWiEs TR &

(a)
()
(e)
(d)
(e)
)
Q)

HA:

IR |
ST |
TR |
qdehly: |
efauferemg |
A |

[10]

[10]

Explain with reference to the context any two of the

following :

(() IR T |

({i) UhdGHoeRed: e |

(iii) FATHRER 7o oW |

Weliedeh! IRl Qlgle]  fod=e o &I

Write critical notes on any fwo of the following :

(1)  nAEE|
(i1) e
(iii) TR |

(jv) 9RAE

JMQIHU] W .
Explain Isg9HIT.

[10]

[10]



Or
(femam)

TAIYE W &
Explain @9
(B) 3fuaft gmifq fafaqa (F=ft o==)

Select the correct pair (any five) :

@) T (@) YME:
(i) MR (b)  ferem:
(ir) 3T () THAM:
(v) W (d) dmE=
(v) S (e) wH
(vi) SAI=TYE: (H T
(vii) Th: (g) M|

[5201]-3024 3
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Total No. of Questions—4+4] [Total No. of Printed Pages—4

Seat
o [5201]-3026
T.Y. B.A. EXAMINATION, 2017
PALI
General Paper : Udana and Cariyapitaka
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80

PART A - Udana
Q.1 Translate into English or Marathi. (Any Two)

dueit T ARSI I . (IR 2E) 12

1) 8 @ T A SEHdi[ SAdedie SEgEE ueE Sifed STHEIdl AEeaT
fueqauideni™) 19 S e HErReaql div Sl Saamadn- Jriaiar geaveaedd
P TeNEEE TSR fiver TiRii - 39 gfosRitrar squfifrar Sesrfitean sker @
W A HEEd T fver s 49 gfosfaftrar squiffee Semrfafan o @
Wwﬁﬁﬁmmmsﬁmwﬁﬁ TSI, g & iz

2) m@mﬁmmm m%a*amaﬂaﬂwﬂw mﬁmm
mm@mmﬁ;wmwwwmﬁwa&%;
AR, W, ST Tl TR T U | T HeoZ7To1 61 G ol @i e
A FgT e Roes AftEefly aeraEe) 99 Ot wE 9 R WEIE EE ST W
&qfa

PT.0:



3) R, oTae, fg @ TR ARE qRE o Ruer S e, WAt
Rt @71 Fafa S0 TR wid AANG TR € aREd, TRy ST w6 T
s 3, W, R ST IR S AR TR T WP, 7 s 1 e
R e T T, TR T R e H I g R, wafta Fn v
it gferen erafsan fverm sfeamn i) s ad Rrrgd st S R

Q.2 Explain with reference to context (Any Two)
HeEEid TEF F. (R §9) 08
1) A IgHA I &I, T TGl | Gftg Ts aeEl =, & g | = S
2) e |, faeua «iftw | gord gee &9, sremtaest [
3) eRroTodt g ST, afifea weafty R Srirar) et R, R A whe | R,
fan :
4) e g RveRgAl, SIaET JAsTE A Eifd | SRR AR TSTaasTT, ST HenaTi arg fa i

Q.3 Answer any one of the following question. 12
1) Write a detailed essay on Sangamdjisutta?
FTHRTIE 1 Rrearas iR e o,
Or/ T
2) Writea detailed-cssay on Pindapﬁtikasutta?
e 4 fasamE HER?R freg f‘E%El
Q.4 Write short notes (any two) 08
it Eiar foseT (@it §9)

1) Stieeg
2) TR
3) THYTEgH
4) e
[5201]-3026 2



PART- B Cariyapitaka
‘ Q.1 Translate into English or Marathi. (Any Two)

ST AT AOSTa WTSiaR . (FIVET 2i)
1) Ff & =, o o sl 3
ICFHTIR & o7, Rawmiy 33a
a@ﬁaﬁ#ﬁmwﬁawﬁl
&3 HiesTmEE!, T4 o7 ST
Tt TR R, el AR
O A g, e we aRin

2) g A Reremnfa, 9 = amafea s
Tl AHIFTETH, T A T JA0-
AR AT, SRR Sl
mﬁﬁ%mﬁ,mﬁﬁg@ﬂﬁu
A ST Fverd, FrRR
S & TfhRa, SR o TSl

3) ARG = atgan, fFHEntEE s
frirate ag @i, IREE IariRin
TEHEITA, FHa | aiedidl
d= Piereata O, aiard =1 7R
oyl 7=, o6 36 A =AER)
Tt e, 52 Fe-mEin

Q.2 Explain with reference to context (Any Two)

AR TS . (FURE )
1)ﬁmm,w&aﬁwmmlmqﬁaﬁmmamm
2) Fw firssTgd e, T Rl 3 i aRwa, Al d R R

[52011-3026 3
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3) T FEH gREY, A< e qerw 19y et A QA 3 6 gss st
4) T | | 2w, A J 3 HereH | el [ 7, aw s aiReEs

Q.3 Answer any one of the following question. 12

WEIGUH! BV THT H2M GRER SR &=

P 1) Explain in detail about structure and style of Cariyapitakapali?
TS Ao o faagae 5 Ay (&
Or/ R
2) Write in detail the information about danparmita with the help of Sivirajchariya?

T YRS He s =Ra s wE &

" Q.4 Write short notes (any two) 08

it Har foseT (oAt gie)

1) AAF=RA

. 2) AgaIsEREr
3) dogftedaRar
4) FHCeTERE

[5201]-3026 4



Total No. of Questions—>5]

No.

T.Y. B.A. EXAMINATION, 2017
ARABIC
General Paper |l

(2013 PATTERN)

Time : Three Hours Maximum Marks

[Total No. of Printed Pages—5
Seat [5201]-3027

: 80

1. Translate into English or Urdu or Marathi any two of the following

passages:

Lo, s P [

&

Joly ile AN L 255 LN B155T e D120 s

el ai

24 2 - o2 PN s Aa < > ow IR . s
) aiel) O i) o Lga o gj/j.,@.b Jyls g_:.,,/a_ﬂ\:)kg asb s s

E R

2 S0 - Loy - . - S - g
./L.\..g.j\ .33)\..1 B i)\.@.:/— w2 UL-EL—::-M o= i oYl 3R 9 :L.@.:/-‘ZL;—

EINS L Fw. s £ A

J\;;‘Y\ LSe C,-.t..i._;. (\.gu/..g ?Jﬁ‘ 15.3\.4/ LS% C)Lj:k_gj _t:)y\.:.wj ft_;T_f

,/5 5. 8  Foe //f}f/;f;f s o L T @
O soigs LIS AL s, c 0830V L

-

z
s 7 275 8 5 L.

2 = - -
« - < o - f I . ; . -
-9 2 e Li O gaizmy 9 42 L= e L.M.\..g > s R 4‘..:.9\ B J..i

g

2o L@

& - P - - i, @@ PV
:Q?LE}.JQM) C‘Z\j.&.“\.; 59 l¢Lx5\ oJ\_:MML_;._,,f‘) ;4.9\._\».&_’._3}”

_
BE o ggro

s 2 c s T N PR P R
E\.:.;>;=&M j.L;: Lot 41 % g c;’..».;’..; 3T R ‘/\....; ./L.».M ¢ Ll s \._.'._S;._>=_a 9

P.T.O.

gty B @33N 3 Jleasd Y1 af sid D108 SLETD (Ll

(<)

[16]



£ P
|

@ d ] . ) e , o - z /.E T - To-
%._49\....“ ‘/\""\J'U J":"f (J..:.s Q..f\..ébj; VJ g:,\.s‘J..o..“ By L.C«\j.;‘ \_>.L_Ib\._&j

- -
oo , s s

w 2 : z ., _ _ . > L o, v
IR I NE S [ Y oS [ PSS i P S A S by

oW

27 - T ),ﬂvl.,,/".ﬂ )’f,, },,/‘:// 7
J/...:.x.g) :u.gj/\..o..l.é o)\..&'e}“ Lséa_g g,ﬁ.%‘) LS'%J"":" L?J._b g:ﬂj_a_ﬂ_} t‘g\._ﬁv

o @l 258 8 8

- ~ PR ? N - P

i

e o e o . N P P I T A 2,
oY) dpmamdl Lzl adae M ala ) Cap

63}\} s u B

N " ‘/;/;,,Cf Lj /)/‘_L/"//”‘L }}”//L/}
w2 f(,.xs O3 v V-té 9 _Lidgns e Ah—w AT _«G‘QJJ._A Aan _.‘._.o._i

27 - P - 2 £ . :Q/ o .’fﬁ - > 2 > -

- oo

szl y s Gl sl G AL agidn S 8T 5 052l

28 F 5 e

/:);/.f/q/{f&:,; - A BN - Sy
BLadl Sasdl 58505 Chall Eall ) LoVl ol b

4 SR T R T R
jd‘JL—A—}>Y‘~ﬂJ—’j_QYL—A—°~—HQJ\JJJ

z
> ]
¢ — &.3.5//“ L.AM-j ‘

2. Define with examples any two of the following :

) R v
Azl

e
NS

LoE Bigsd

(@)

[16]
(V)
(M)
Q)
(9

[5201]-3027



3. (A) Explain with reference to the context any four of the following

couplets : [8]

@£

gi,..&:\.g L.:.::Lg ‘} :}.é_l:i (\)

SAN & LAk

2877 5 - 2

Aods 5a Cali el ()

s - oo s o 87

Q )/}} 2
P, gij;.&.ﬂj C)j.&..:

oyl Bl ()
SBT3 s
L Ll 01 pasdl LU
e Legie ) e

LaSU B Ol sl yaidl s AT (o

(%)

“ . - > f (.
J»EM ay (= g 2 CJ"G =R Ls

JW=Y jascia ELL O ()
Bali] s ag e dSe Ny ()

Jndl 3 201 56 S s

P.T.O. 3 [5201]-3027



(B)  Write the short notes on any two of the following :

aaalzad) ) ()

28 O

e JLM’ (V)

:5:3;.:&5\ D)

4. (A) Explain any one of the following Surahas :

éLiJ’.ﬁM )
o (M

LA o
(B)  Summarise any two of the following lessons :

ATy C}Q\ )
ol =T ()
A el (M)

5. (A) Translate into English of the following passage :

L s o8

# - ¢ - - - 8 -
cdanins - .,\..’ S5 4..: )’\.J .1.9 L'é'i Lg.w Sdse J\.; i -

)

) J..Mf 4\..,\.; J\._ﬂ U’d\ B .A._A 4..,‘._: ..X._A

20757 O o T 2 s ST I RO - -
Slees JJ GA.:’- L g/)j.,;d\ Y B J— 5.33[2 dopole 25

,,/// > o0

Crdl 3 355N B s Gl b e Jan LN i by A B

PPN R SR g e s w828 Z . - P . -

Jleallgde Lalsh el a3, i adias fmisjwmju;@_g
A5

¢ lﬁm»ﬂ}ﬂ

[8]

[8]

[8]

[8]

4 [5201]-3027



(B) Translate into Arabic the following passage : [8]
“India is my country. It is a rich region. Her land is fertile and
good for agriculture. Her fruits are many. Her climate is
moderate. Her sky is clear and her resources are abundant.
Our country is the biggest democracy in the world. And our
army is among the strongest armies of the world. | am a

soldier, a servant of my country.”

5 [5201]-3027



Total No. of Questions—4]

[Total No. of Printed Pages—3

Seat
No.

[5201]-3028

Time :

N.B. :—

T.Y. B.A. EXAMINATION, 2017
ECONOMICS
General Paper III

(Economic Development and Planning)

(2013 PATTERN)

Three Hours Maximum Marks : 80

(i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

Answer the following questions in 100 words each (any four) : [20]

(2)

(1)

(iii)
(Zv)
(v)

(vi)

Explain the concept of developing countries and developed
countries.

Explain the difference between Economic Growth and Economic
Development.

Explain the causes of Population Explosion.

Explain the Balanced Economic growth give solution for it.
Explain the Adam Smith’s Laissez-faire Policy.

Explain the merits of Foreign Direct Investment.

Answer the following questions in 200 words each (any two) : [20]

(2)

(i1)

What is Fiscal Policy ? Explain the Instruments of Fiscal
Policy.
What is a Economic Planning ? Why does India in needs of

Economic Planning ?

P.T.O.



(iii) Explain the need and importance of Foreign Aid.
(fv) What is meant by Economic Development ? Explain the
constrains in vicious Circle of Poverty in Economic

Development.

3. Answer any one of the following questions in 400 words : [20]

(z) What is Developing Countries ? Explain the Economic and
Demographic characteristics of Developing Countries.

(i) What is meant by Monetary Policy ? Explain the Objectives

of Monetary Policies.

4. Write short notes on (any four) : [20]
(z) Inappropriate Technology
(i) Scarcity of Capital
(iiz) Meaning of Economic Growth
(fv) Population Explosion
(v) Meaning of Foreign Capital

(vi) Ricardian Theory of Economic Development.

(W& wUR)
9% : W e TeHRUT TOT : 80
e — () Wd WA giefau seRdsw sed.
(i) 3ISHErS AH qOl IO SFifan.
({ii) WU Hed TUST YEAYART URrEl.

1. Qoo WAl SW Ydel 100 IS fosr (Hives 9Ir) [20]
(1) fowmgasie sufor fosfaa 91 o1 Theudr dieslE T &L

[6201]-3028 2




(ii) onfYer fasm snftn smfYfed got Idiadl Tk T HA
(iii) TIHGSA YFREE HRU T .

(jv) dqfaa sTfdew fomMEES=a SUEENT TR H.

(v) ofen foga FRE8U= 9RT e H

(vi) YA T TAAUHE HES T H

2. WG WA YAHl 200 I SW fowr (FomE qF) [20]
(i) USHRHE URU WUN HE ? USRS URUET Y T
(i) onfds feieH =S ™ ? 9Raa enfdes feisHET sTevasal @
qEd ?
(iii) Tocell Wedi=l Sevashal MU Hee T .
(jv) oMU fowm WS ®@ ? Afds foemda ‘SIcae gaw’ @
ITSYR TR .

3. WHGUHR! DR Ul W9 S 400 I fomr [20]

() fowrowia <9 =|oN ®™ 7 fOeania SumEl offde a ahEe
fowaes aftrey wse &

(i) “CHEETE GRU ®US HE 7 doauds dRomEl e W &

4., dieHE dw ferl (SR WR) [20]
i) o dEEE
(ii) oedgarEt 2=
(iii) ofdeh ggran A4

(jv) AHFETEE YTRIE

(v) U degarEnr 7Y

(vi) FRwErEn snfdes fawmmEr fagE.

[5201]-3028 3



Total No. of Questions—4]

[Total No. of Printed Pages—3

Seat
Yo, [5201]-3029
T.Y. B.A. EXAMINATION, 2017
ECONOMICS
(Special Paper III)
(S-3 : International Economics)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

Answer the following questions in 100 words each (any four) : [20]

(1)
(2)
(3)
(4)
(5)
(6)

State the features of International Trade.
Explain the determinants of Terms of Trade.
Explain the objective of SAARC.

Explain the types of tariffs.

Explain the direction of Indian Foreign Trade.
Write the objectives of World Trade Organization.

Answer the following questions in 200 words each (any fwo) : [20]

(1)
(2)

(3)
(4)

Explain the components of Balance of Payments.

Explain the causes of unfavourable terms of trade to developing
countries.

Explain the arguments in favour of Free Trade Policy.

Explain the main features of Foreign Trade Policy 2015-2020.

P.T.O.



3. Answer any one of the following questions in 400 words : [20]
(1) Explain the critical evaluation of Heckscher-Ohlin theory of
International Trade.

(2) Explain the role of Multinational Corporations in India.

4.  Write short notes on (any four) : [20]
(1) Scope of International Economics
(2) Leontief's Paradox
(3) Exchange Rate
(4) Special Economic Zone (SEZ)
(5) European Economic Community (EEC)

(6) FEMA.

(WS wUTR)
9% : i A TRUT TUT : 80
ol :— (i) Wd WA Hiednd.
(ii) ISlhele 37k YO U Fifadm.
(iii) TR H TUSH YAUCAHT UETEl.

1. wod TRE g&®T 100 Ieed I ferRl (HvE | ) [20]
(1) oTasd =Rt afersesr 9.
(2) =IHEE FfeEd #Om ged 9.
(3) Wl Ifed T FHA
(4) TN YHER TR HA.

(5) wRaren fagyr =mmrEr fown s wa.
(6) S SAURAEeAE Sfese T

[5201]-3029 2




2.

3.

Uod YeAEl SW 200 I e (Rived |@F) [20]
(1) HORRAITd ¥<h T H.

(2) fowgmwia I =R Ufdea SEUEET wRU TR F

(3) YAl HANR HRoT=Al GHEAY HE W

(4) focw =R HROTER (2015-2020) HEA ARl TR A

TAAIHT HIOAR T 400 ITEiaedd W fersr [20]
(1) AL A= ea=R-3ied ar=n fagame fewrms afteor &
(2) YRAie dgUsd wUAEl e T w0

digma feor fagr (@@ = m) [20]
(1) AT AR STt

(2) faAt=Tw=n fatenymg

(3) fafma =

(4) fouro snfdsw &= (37)

(5) FAfGga snfdfes wHeE™
(6) hHIL

[5201]-3029 3



Total No. of Questions—4+4] [Total No. of Printed Pages—7

Seat
Yo, [5201]-3030
T.Y. B.A. EXAMINATION, 2017
ECONOMICS
(S-4 : Elementary Quantitative Technique)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

Answer the following questions in 100 words each (any four) : [20]

(1)
(2)
(3)
(4)
(5)
(6)

What is Statistics ?

What is the tabulation of data ?

State the merits and demerits of median.
Explain the significance of correlation.
Explain the concepts of slope of curve.

Explain the meaning of hypothesis.

Answer the following questions in 200 words each (any fwo) : [20]

(1)
(2)
(3)
(4)

Explain the methods of collecting primary data.
Explain the functions of statistics.
Explain the types of correlation.

Explain the chi-sqaure test.

P.T.O.



3. Answer the following questions (any one) : [20]
(1) (A) What is the mode ? State the merits and demerits of
mode.
(B) Find the compound interest on Rs. 20,000 for 4 years at
Rs. 5% p.a. interest rate.
(2) (A) Explain the merits and demerits of arithmetic mean.
(B) Find simple interest on Rs. 14,000 for 3 years at 12%

p.a. interest rate.

4.  Write short notes on (any four) : [20]
(1) Limitations of statistics
(2) Classification of data
(3) Mean deviation
(4) Karl Pearson’s coefficient of correlation
(5) Elasticity of demand

(6) Index number.

(TS TUIR)
d% : W aE THUT TOT : 80
ol :— (i) W YA GEfau ofeavad R
(ii) ISihele 3k qUi U gYifadr.
(iii) HEWEES HB SUS YITUARl TBTel.

[5201]-3030 2



1. Qod YR S Ydw! 100 v=id fdagr (FHIheE =)

(1)
(2)
(3)
(4)
(5)
(6)

RS BN &g 7
Hifgdi=  TWROMRL0T RUN &1 ?
AL O] E.

IR 9¢ SANET Hhogdl W &L

Tieed = (feaerd) A4 W= &

2. WA YTEl IW YS! 200 IEIE TRl (FvRE @)

(1)
(2)
(3)
(4)

Tafes Hifedt () ThaAre USdt TR A
NI w1 T2 &

TeHau™ YR W .

FE-EGN IEU W H.

3. T YeAEl SW fae (SIUARl UER)

(1)

(2)

[5201]-3030

(37) 9gah WU B 7 Sgahrd URM |ETL

[20]

[20]

[20]

(9) @A R IFHST 5% T 20,000 TIAE 4 T Fha@ AN

<hlel.

(37) SFAHOGE TS RN T H.

() @ T UHel 12% T 14,000 F9AE 3 o6 W AN

<hlel.

P.T.O.



4, dieqd feqr fo@ (HU@El =|R) [20]
(1) YEARTET=A HAQl
(2) Hifedre arfieRTol
(3) wuEd fa=em
(4) e Y= gedey™ 9EUh
(5) HFTUR  AAferehdl
(6) frdweh.

[5201]-3030 4



[5201]-3030

(Public Finance)

Time : Three Hours Maximum Marks : 80

N.B. :— (1) All questions are compulsory.

(i) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(D)
(2)
(3)
(4)
(5)
(6)

What is Direct and Indirect Tax ?
What is public debt ?

State nature of the budget.

Explain the need of Deficit Financing.
State the role of Finance Commission.

State the limitations of Fiscal Policy.

2. Answer the following questions in 200 words each (any fwo) : [20]

(1) Explain the principle of maximum social advantage.

(2) State the principle of public expenditure.

(3) State the sources of Public Revenue

(4) Explain the recommendation of 14th Finance Commission.
3. Answer the following questions in 400 words (any one) : [20]

(1) Explain the causes of increase in public expenditure.

(2) Explain the role of fiscal policy in developing economy.

[5201]-3030
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4., Write short notes on (any four) : [20]
(1) Differences of Private Finance and Public Finance.
(2) Effects of Public Expenditure
(3) Concepts of impact of tax and incidence of tax
(4) Methods of repayment of Public Debt
(5) Gender Budget

(6) Causes of Deficit Financing.

(WIS wUIR)
9% : A A THUT TOT : 80
o — (i) Wd Uv Hiefdu sewad @R,
i) wodete si® o awiE.
(iii) WeHEEd HB TUST WIUCIHT URrEl.

1. Wod 9=l 3 Yol 100 IS fogr (ivdel ul) e [20]
(1) Y™« 0 ga& &wL BN &g 2
(2) HESHE HS WUS HE ?

(3) SIENYAF TWEY .

(4) THE AWM= RS T H
(5) foau smEmmT=R ofier @

(6) TSTRIST  HROT=A WA |

2. WHA YA SW TIE! 200 V=@ fawr (FOmE SF) [20]
(1) ¥&dq YMifseh oY dcd W& .

(2) TESHe TEE dd 9rn.

[5201]-3030 6



(3) HESh Hegard (IC==) HE G
(4) e fou swrme et @,

3. WOcUH! Wl Y S 400 vsgia ferer [20]

(1) dEsae @i deEl hRel T 6.

(2) fowgmeiia steforaeddian TsienreiE dRom= YfHeh TR .

4. drewa foor fag (g =9w) [20]

(1) WAt 3Fead 3T giesi-eh  STIedd Ardiel Hhidh.

(2) HESHE TE™ 9iom

(3) HUYE M FHIUR Hheddl

(4) eSS HS Wahersa gl
(5) famaf@ eSS
(6) qerE JIAHTOMET  HRL

[5201]-3030 7



Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat

- [5201]-3031

T.Y. B.A. EXAMINATION, 2017
POLITICAL SCIENCE
G-3 : Political Ideologies
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i) Figures to the right indicate full marks.

1. Attempt any four questions (in 100 words each) : [20]
(z2) End of Ideology.
(ii) Progressive Nationalism.
(iti) Meaning of Democratic Socialism.
(tv) Dialectical Materialism.

(v) Dr. B. R. Ambedkar’s thoughts on Religion.
(vi) Explain Gandhiji’s thoughts on Ahimsa.

2. Attempt any two questions (in 200 words each) : [20]
(z) Explain the elements of Nationalism.
(ii) Explain the characteristics of Fascism.
(izi) Explain the Marxian theory of Historical Materialism.

(iv) Describe the Feminism in India.

PT.0:



3. Attempt any one question in 400 words : [20]
(z) Explain M. Phule and Dr. Ambedkar’s thoughts on equality.

(i) Explain the types of Democratic Socialism.

4.  Write short notes on (any four) : [20]
(z) Dr. B. R. Ambedkar’s thought on social democracy
(i) Origin of political ideology
(iiz) Internationalism
(fv) Caste and woman
(v) Gram Swarajya

(vi) Class Struggle Theory.

(T wUi)
q% : A aE TRUT TUT : 80
g :— () 9Wd Y Giefdu HevEs &R
(i) SVEThErd 3 YU O gEiferdr.
(iii) TSHMES! Wb TUSH WYAUARI TErE.

1. Tcicdesl HIvdel 9 Y39 9ear (Y& 100 v=Sd) [20]
(1) TourRyome=r o4
(i) YTideh oA

(i) RIS GHSERET Y

(iv) fatufawmER/ggers  Sifakar

(v) T &t IR AWeHUD yHfawad faur
(i) W MHE AfeH dEad foER.

[5201]-3031 2



2. Wauhl FUGE G YT Gedl (Y&HT 200 IE@) [20]
(i) UNARN HeHh TR H
(i) wiggE=l dfmsl T w1
(iii) wEE=n Ufderfas  difqeart  dHE #.

(jv) YRAE e T

3. @aadshl wUCRl Teh I Hieal (400 Id) : [20]

o~

(i) W TRA oAU Bf. AGEHUA FHAGEIS foaER TR HA

(ji) TAhHIME! THNSEREN™ YhR T .

4. gied@ fau fomr (Fo@EE |w) [20]
(i) S . N SToSHU™ THESh cAhINeanas four

(i) U™ foarRyume=t ST

(iii) SATTRLIR
(v) < Swfor S
(v) UHETH

(vi) o T fage.
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[6201]-3031

G-3 : Local Self-Government in Maharashtra
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(i) Figures to the right indicate full marks.

1. Attempt any four questions (in 100 words each) : [20]
(i) Gram Sabha
(1) P. B. Patil Committee
(iit) Nagar Panchayat
(fv) Issues of finance in Local Self-Government
(v) Women’s leadership in Local Self-Government

(vi) Block Development Officer.

2. Attempt any fwo questions (in 200 words each) : [20]
(i) State the composition and functions of Gram Panchayat.
(ii1) Explain the recommendations of Balwantrai Mehta Committee.
(iiz) Explain the role of Leadership in Local Self-Government.

(fv) Explain the importance of 73rd Amendment.

3. Attempt any one question in 400 words : [20]
(1) Explain the recommendations of Vasantrao Naik Committee.

(i) Explain the structure, power and functions of State Election

Commission.

[5201]-3031 4



4.  Write short notes on (any four) : [20]
(1) Composition of Panchayat Samiti
(ii) T74th Amendment
(iti) Chief Executive Officer of Z.P.
(iv) Functions of Municipal Council
(v) Mayor

(vi) Democratic Decentralization.

(AS ®UI)
d% : W aE THUT TOT : 80
oAl :— (i) ¥d Y Hefau oevas  sied.
(i) SVEThErd 3 YU O gEiferdr.
(iii) GEWESl He TUSH YAUTAh TEIEl.

1. Sddsl HVAEl 9 999 Tedl (YIS 100 IE[) [20]
(z) A=Y
(Gi) d. &1 U gt
(iii) TR G=EEd
(jv) THH @O T s TeH
(v) e WU gemde wfean g
(vi) T fowE @fEwRl (B.D.O.).
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2.  WCcUshl hIUdEl G ¥ Higdl (I&HI 200 IEE) [20]

(G) UM YEEdE WA 9 RE W 6

(ii) deauE Hed wigdren Rremel T &

(iii) TR @ HEdd Agcerdl it T 6.
(jv) 733 FAGEWIE HWed TR H

3. Gadhl AR Teh Y91 Hieal (400 &) : [20]
() o9qud AEe gffdrem TERet s &9
(i) T fraf=q STERT=l 1, ¥R 9 &+ T &

4, geqEE fow fo@r (RveEEl 9r) [20]
() YEEd HiEdEr S
(i) 7491 HAGE]
(iii) Tooer ufoe=n gen srerl sfysrd
(v) TR uReR=l w1
(v) HRUR

(vi) ArHIMEl T

[a}

EXACT
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
Yo, [5201]-3032
T.Y. B.A. EXAMINATION, 2017
POLITICS
Special Paper III
(Public Administration)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(i) Figures to the right indicate full marks.
1. Attempt any four questions (in 100 words each) : [20]

(a) Mention the importance of Public Administration.

(b) State the Traditional Approach to study Public Administration.
(¢) Mention the merits of Public and Private Partnership.

(d) Explain, the need of administrative reforms.

(e)  Describe various functions of Bureaucracy.

(f) Explain the term ‘Administrative Accountability’.

Attempt any fwo questions (in 200 words each) : [20]
(a) Explain the meaning and nature of Public Administration.
(b) Write an essay on ‘Good Governance’.

(¢) Describe various methods of training.

(d) Mention important features of New Public Administration.

P.T.O.



3. Attempt any one question in 400 words each : [20]

(a@) What is Recruitment ? Explain the importance and various
methods of recruitment in personnel administration.

(6) Define the term ‘Budget’. Explain, Budgetary Process in India,

in detail.

4.  Write short notes on (any four) : [20]
(@) Bureaucracy : meaning and features
(b) Types of Budget
(c) Idea of E-Governance
(d) Legislative control over administration
(e) Importance of training in personnel administration

(f) Mention the goals of new public administration.

(WS wUTaw)
9% : i A THUT TUT : 80
el :— (i) |d WA Hefan smerusd R
(i) 3SoEtRels % WrAe Ul T SFifodrd.

1.  Telidis HIUHE wR Y Gear (YS! 100 IE[) [20]
(31) TARURMEAET Hed T .
(9) TIHIRMEATAT SR RIS gieah.
(%) TESR A0 @R &3 AFiGRY wEe T8 6.
(B) TOESE FYURUE RS TR FHA.
(3) FRWME &M@ 9uH H.

(%) ‘USHHE ITEMIe’ HHheddl T &
[5201]-3032 2



2. Welciis! HvaeEl EM Y Greal (YHT 200 IEE) [20]
(31) ArpyeTEATET ot omftr TWEY TR H.
(&) ‘g-vmeA’ deeuder fEy femn
(F) Toh WRMEAGE Ui’ ggdid 9uiE - &
() T acyemEEr Ay g .

3. @efidisl HIVARI Tk 999 Geal (400 ¥=M) [20]
(31) ‘ol mUS HE ? Uow WA oRde T oftor fafay wed
e .
(9) ‘SENUTE’ WUS HE 7 YRAHE SESUSeET 9ihar giawl T
F.
4, dreRd GO Rl (SR WR) [20]

(1) ApwmEl ;e emfor Sfvrl

() SREUAFRN THR

(F) I-TRTEAE Hehea T

() WMEAERE FPRHee™ s
(3) UIw YNEAME JRISOE Hew
(F) ATacisyemar=r 3fes.
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Total No. of Questions—4]

[Total No. of Printed Pages—3

Seat
Yo, [5201]-3033
T.Y. B.A. EXAMINATION, 2017
POLITICS
Special Paper IV
(International Politics)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

Attempt any four questions (in 100 words each) : [20]
(a) Idealist theory of International Politics.

(b) Meaning and nature of Balance of Power.

(c) Changing nature of the national power.

(d) Importance of Collective Security.

(e) Types of Diplomacy.

(A Meaning and nature of regional security.

Attempt any fwo questions (in 200 words each) : [20]
(@) Mention system approach to study the International Politics.
(b) Describe various elements of national power.

(¢) Write an essay on ‘Causes and consequences of terrorism’.
(d) Mention the meaning and changing nature of Collective

Security.

P.T.O.



3. Attempt any one question (in 400 words) : [20]

(a) Explain the meaning and necessity of the term ‘Disarmament’.
Discuss various challenges in front of disarmament.

(6) Explain, UN’s contribution in the protection and enrichment

of Human Rights.

4.  Write short notes on (any four) : [20]
(a) Techniques of balance of power.
(b) Human Rights : Meaning and nature
(c) Challenges to Diplomacy
(d) Importance of the study of International Politics.
(e) Decision-making approach of International Politics.

(f)  Functions of diplomates.

(TS wUiaw)

9% : i A TRUT TUT : 80
oAl :— (i) ¥Wd U grefau eevas .
(i) 3SEihele 37w Ui U qeifodn.

1. Toddsl HUHe 9 U dedl (TR 100 IE[) [20]
(31) ARSI Aeviart  fagm
(9) HaEdedr=n 319 effr @ey.
(F) TEHE T oEad WU

(8) dMfedr Fwaad W

(3) T YHR

(F) Ui gedaer 19 efn @&
[5201]-3033 2




2.

WOy HIUdel 2 93T dredl (Ydhl 200 IEid) [20]
(31) AU TSRRUTAT ST AR gieshA T8 .
(9) U T fafay wes auH &

(%) ‘Tevrdere ®wRU effor ufome’ AR frEw fom

(2) wMfer Fhwaa=r 1 ool S8ald @WEY W HA

TSR] HUMARE Tk YA diedr (400 I=@) [20]
(31) ‘f:vreieRTer’ A1 G ored onfor eyevesha T . ST gea
fafay streemEET == H

(9) WEAl THhd TV TN SIIET HeHid e TR ARRH T
<.

e four faer (sod =m) - [20]
(31) Hal HgaArE q&

(d) HEel sFh ;. A Il WEY

() USHAYE 3T

(B) A=A TSHRUTAT TEER Heod
(3) AT Teiehromeal  Avararen ol gftesn

(%) TSIl S
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [5201]'3034

T.Y. B.A. EXAMINATION, 2017
HISTORY
General Paper-II1
[History of the World in 20th Century (1914-1992)]
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(i) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four): [20]
(i) Explain the concept ‘Capitalism’.
(i) What is meant by ‘Socialism’ ?
(izi) What is the ‘Cold War’ ?
(fv) Why did USA enter the World War I ?
(v)  Define the term ‘Star War’.

(vi) What is meant by ‘Liberalization’ ?

PT.0:



2. Answer the following questions in 200 words each (any two) :[20]
(z)  Critically examine the treaty of Versailles.
(ii) State the causes of the Great Depression of 1929.
(iit) State the objectives of United Nations. Explain its structure.

(fv) Take a review for the rise of U.S.S.R. as a world power.

3. Answer the following questions in 400 words (any one) : [20]

(2) Narrate the circumstances which led to the rise of Mussolini

in Italy.

(z1) State the causes of World War II.

4.  Write short notes on any four : [20]
() Humanism
(i) Feminism

(itzi) Joseph Stalin

(iv) SAARK
(v) OPEK
(vi) WTO.
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(TS ®UTaR)
9% : = A THUT TOT : 80

oAl :— (i) Wd W STavds  Ied.
(ii) SSEheld 3 YU O SRiferdr.
({ii) TEUHS! o3 SUSH YYTULAHT TETel.

1. Y& YeEl IW YS! 100 ¥R ol (e |w) [20]

(i) ‘uegdare’ & Hheddl T H

(i) ‘wHSER’ WS %E ?
(iii) ‘Rogs’ =™ s ?
@iv) IS tI'FE‘.Qfm HegSId <Rl 9T HeAl 2

(v) ‘'WR a’ & g W% S

(vi) ‘SEREW WU HE ?

2. T WA SW YS! 200 VK[ faw (SR g§F) [20]
(i) =UF=N T fohcad YoIHTd  HA
(i) ®1 1929 <A1 HRMSE! HIO W
(i3i) TegHETEl Sfesl WE fost W TR &AL
(iv) Tk SWIfdek Tl WA Hfgue WEr=n I|7Aqr=n 3feEn =

[5201]-3034 3 P.T.O.



3. JedUs! HIUAR WeRl Y¥AE SW 400 [ fo@r : [20]
(i) SCmY) HUfaea 3I7AE HRONYd Sleiedl IR 9o &

(ii) TEA HegSEl HRU |ATL

4, JgeHEE foo fowr (FUERE = w) [20]
(z)  HEAER
(i) TR
(iii) SE® HefA
(ijv) W&
(v) U

(vi) SIMfder SR G

[5201]-3034 4



Total No. of Questions—4]

[Total No. of Printed Pages—3

o [5201]-3035
T.Y. B.A. EXAMINATION, 2017
HISTORY
Special Paper III
(Introduction to History)

(2013 PATTERN)
Time : Two Hours Maximum Marks : 50

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

Answer the following questions in 100 words each (any fwo) : [10]

(1)
(2)
(3)
(4)

Explain the concept of ‘Bakhar’.

What is a ‘Primary Source’ ?

How are History and Geography related with each other ?
Write the contribution of K.A. Nilkanthashastri to the History
of South India.

Answer any one of the following questions in 200 words : [10]

(1)
(2)

Explain the very scope of History.
Discuss the contribution of Itihasacharya V. K. Rajawade to Maratha
History.

P.T.O.



3. Answer any one the following questions in 400 words : [20]
(1) How to select a ‘Research Problem’ ? Explain.
(2) Discuss the salient features of the School of Nationalist
Historiography.

4. Write short notes on (any two) : [10]
(1) Sanad/Farman
(2) Unwritten sources
(3) History and Economics

(4) R.C. Majumdar.

(WS wUTaw)

9% : & a9 THUT TOT : 50
oAl :— () Wd U GrEefau ofevead SR
(i) IoEHEle 3 U U Syifdar.

1. @od JeEl Yds 100 vk Sw fael (SIode ge) [10]
(1) ‘"er’ & Gehodydl TR H.
(2) ‘wafE wWEA' WS &®E 7
(3) sfem onfor il ¥ TREAURM I YHR GAHd SATed  ?
(4) H.U FhSNTSEl I SfeU YR sfaerdren dreE  foE

2. WW ®HUME T gl 200 IR S foel [10]
(1) sfaeEr=l =A<l T H.
(2) zfaeEEE TSEe A" [USI=AT Sfdedren  STHUT ANEEE] ==
.
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3. WA HIUAE Weh AT 400 V=EM SW @ [20]
(1) ‘Oyiyd 999’ SygeR feersEt 7?7 T &L

(2) ARl IfaeEeEeTETE  faeRyaerEn 3@ afyre=l ==l .

4. wfgw du fam (FoTE @F) [10]
(1)  EF=R/HHA
(2) sifafea @em
(3) sfaem smfor syefeme

(4) SRH. HIHR.
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Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat

Y. [5201]-3036

T.Y. B.A. EXAMINATION, 2017
HISTORY
Special Paper IV
(History of Asia in 20th Century : 1914 to 1992)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) Explain the concept ‘Third World'.
(2) Write the causes of the Indo-China War of 1962.
(3) State the background of the rise of Rashid Ali.
(4) Give an account of the Zionist Movement.
(5) Write in brief the role of Ibn-Saud.

(6) Explain the composition of the Asian Association.

2. Answer the following questions in 200 words each (any two) : [20]

(1) State the contribution of Dr. Sun Yat-Sen in the history of
China.

(2) Explain the role of General Nasser in the modernization of

Egypt.

P.T.O.



(3) Give an account of Arab-Israel war during 1948-1973.
(4) Take a review of the rise and growth of Wahabi

Movement.

3. Answer any one of the following questions in 400 words : [20]
(1) Take a review of the reconstruction of Japan under General
Mac-Arthur.
(2) Discuss the reforms in Turkistan by Mustafa Kemal Pasah.
4.  Write short notes on (any four) : [20]
(1) Long March
(2) White-paper
(3) Welfare Dictatorship
(4) Peel Commission
(5) Kuwait-Iraq War
(6) Arab Nationalism.
(TS ®UI)
% : WA A THUT TOT : 80

ol :— (i) b9d Yy GrEefan oevas TR

1.

(ii) ISEHele 3k Yo IO Sy,

o YeEl S 9del 100 vsid foer (RiveEl |r) [20]
(1) ‘fam s & gdeu W &L

(2) 1962 =N WRA-9H JGrEl HRO fora.
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2.

(3) e eiferen SSATEl UrEYH L
(4) fasiife <eac=n g<@ =@
(5) FoI-dHigdl YfHeR dreswrd  fera.

(6) SN¥™AE Teeqa=l AT T &

o TRAE SW Yol 200 =@ faw (FonE M) [20]
(1) == sfaemnda Sl §9-Fd-8949 IReE 9.

(2) s sYfhiwmda SR TEET Y T H

(3) 1948 d 1973 A F@icl I-3@EA FEAET I .

(4) dgEl dFodc=al Sgd d fashrEr oferdn Al

WSS B TRl Y9 S 400 vk forar . [20]

(1) SRa Hee A= HIsomere Suq=a §Raqd=l STeE =

(2) HEH HATA UYRMA JHLAHLE  HSgd  Aciedl ErRom=t ==

k.
dqea fewr foaer (FU@m@El @w®) [20]
(1) ufed d=e@ (Long March)
(2)  vAdUIER
(3) HEAHR FHATIE
(4) A wfaeH

(5) HAA-IF IS
(6) A& TR

[5201]-3036 3 P.T.O.



[5201]-3036

(History of U.S.A. : 1914 to 1992)

Time : Three Hours Maximum Marks : 80

N.B. :— (1) All questions are compulsory.

(i) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1)

(2)
(3)
(4)
(5)
(6)

State the nature of the policy of Non-intervention Policy of
America.

Explain the concept of Dollar Diplomacy.

Write the Fourteen Points of Woodrow Wilson.

State the Truman theory.

Write the background of the disintegration of Soviet Russia.

Discuss the relations of America-India.

2. Answer the following questions in 200 words each (any fwo) : [20]

(1)
(2)
(3)
(4)

State the contribution of America in World War I
Explain the causes of the Great Depression of 1929.
Discuss the reconstruction of Japan under General Mac-Arthur.

Explain the role of America in Arab-Israel conflict.

3. Answer any one of the following questions in 400 words : [20]

(D)
(2)

[5201]-3036

Take a review of the ‘Civil Rights Movement in America’.
State the causes of the ‘Cold War’ and explain its

nature.



4, Write short notes on (any four) : [20]
(1) Balance of power
(2) League of Nations and America
(3) Movement of Womens Rights
(4) Korean crisis
(5) NATO

(6) Liberalization.

(W& ®UIR)
q% : diF A THUT TUT : 80
oAl :— (i) 9d Uy Grefau oavas eed.
(i) SoElwele 3 g qul U gRifaar.

1. T JREEl SR TS 100 ¥R g (Soel |mw) e [20]
(1) o= qewd=a ¥R @W&Y 9.
(2) sfer fewmdt (Dollar Diplomacy) & H&heudm T H.
(3) g focu=t =g a= fomn
(4) <Zgm fogia @
(5) wifgua Wrren fameart urdyH fom
(6) SERF-YRAd Gaurh == H

2. WOE WAE SW T 200 =@ e (FO0E gE) [20]
(1) ufeen WeRSHE HRee IFRE G
(2) 1929 =q WFfdsh HelHardl RO TR .
(3) A HE A= e SuEen eeed §enet ==\ 6
(4) SE-zEEA guudia el iy faee &

[5201]-3036 5 P.T.O.



3. WDl HIUAR TR Y™ S 400 V=K for@r [20]
(1) AHREhdId AFRI BFh addai=l  ST@El =4
(2) ¥ & HRO WRE AE WEY TR H

4, deqEE foor fag (SveE 9w [20]

(1) g1 9qed

(2) TseE™ oW SRR
(3) Wl THRF d39B
(4) SAfET o

(5) @1 (NATO)

(6) SERIHII.
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

Yo, [52011-3037

T.Y. B.A. EXAMINATION, 2017
ANCIENT INDIAN HISTORY, CULTURE AND ARCHAEOLOGY
General Paper III
(Outline of Religion and Philosophy)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) State the composition of Rigveda.
(2) Name the main Upanishadas.
(3) What do you know about ‘Puranas’ ?
(4) Write note on ‘Hinayana’ (Sthaviravadin )-
(5) State the Jain Triratnas.
(6) Who was Kakuda Katyayana ?

2. Answer the following questions in 200 words each (any two) : [20]
(1) What do you know about the ‘Aryan Problem’ ?
(2) State the main Shaiva Cults.
(3) Explain the Four Noble Truths.
(4) Write a note on ‘Ajivakas’.

P.T.O.



3. Answer the following questions in 400 words (any one) : [20]
(1) Discuss the philosophy in Bhagvadgita with reference to
Karmayoga.
(2) Explain the principles of the philosophy of Charvaka -

4. Write short notes on (any four) : [20]
(1) Yajurveda
(2)  Aranakyas
(3) Composition of Ramayana
(4) Buddhist “Triratnas’
(56) ‘Pancha Anuvratas’ in Jainism

(6) Sanjay Belattiputra.

(& wUI)
q% : dF A THUT TUT : 80
el :— (i) ¥Wd YA Evds  Ied.
(ii) ISERSld e Y= quf o SR,

1. @dd geEl W gAST 100 V[ foel (Fiovel e9mw) [20]
(1) SkreQrEl A 9.
(2) Y@ IJMERET A L
(3) TUUNfaTE g wM Aifedt R ?
(4) BHaE (YfaER]) deR feu o
(5) A el 9nm.
(6) hohe HIAIA hHIU BT ?
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2. Weld YAEl SR YdS! 200 v=[ faw (FodE SF) [20]
(1) ‘ematen gy wifael g w1 Ofedt ee ?
(2) Yg@ ¥4 HISH WL
(3) ¥R IMEEA W FH
(4) ‘sisitae’ IR F9 forEn

3. T YEAEl 3w 400 V[ foel (FIvMEl Uew) [20]
(1) <HHIT=N Gewld WieeTiddid  dadHel 99l .

(2) TS dETAT ded T H.

4, @ fou fag (FoemE =\ w) [20]
(1) a9
(2) IETH
(3) THEUMET &l
(4) <y fre

(5) S yHidA ‘U= STUEd’

(6) TSI WA
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Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

Y. [5201]-3038

T.Y. B.A. EXAMINATION, 2017
GEOGRAPHY (Gen.-III)
(Gg-310 : Regional Geography of India)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.
(iit) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencils is allowed.

1. Answer the following questions in about 20 words each (any
ten) : [20]
(1) Write any {wo neighbouring countries of India.

(2) Give latitudinal and longitudinal extent of India.

(3) Name any two tributaries of the Godavari river.

(4) Write any fwo names of Plateau in India.

(5) Write any two characteristics of monsoon.

(6) Write any two characteristics of Indian climate.

(7)  What is soil conservation ?

(8) State any two types of forests in India.

(9) Give the types of coal.

(10) Write any fwo names of Atomic Power Stations in India.

(11) Write any two names of petroleum producing centres in
India.

P.T.O.



(12)
(13)
(14)
(15)

What is White Revolution.
What is Tissue culture.
Write any two objectives of Regional Planning.

Define regional planning.

2. Answer the following questions in about 50 words each (any

two) :

(1)
(2)
(3)
(4)

[10]
Indus River System

Indian Islands

Deciduous Forests in India

Green Revolution.

3. Answer the following questions in about 150 words each (any

two)

(D
(2)
(3)
(4)

[20]
Describe the Ganga River System.

Explain the geopolitical importance of Indian Ocean.
Explain the distribution of coal in India.

Explain the regional development of Maharashtra.

4. Answer the following questions in about 300 words each (any

two)

(D

(2)
(3)
(4)

[5201]-3038

[30]
State the main physiographic divisions of India. Describe any
one of them in India.

Explain the characteristics of seasons in India.

Explain the major soil types in India.

Explain the significance of agriculture in Indian economy.

2



(WS ®Uiay)

9% : dF q™d TRUT TUT : 80
gl :— (i) ¥Wd YA EvdE 3.

(i) Sodhsls % FIAE YU O gFifer.

(Gii) 3MAYgE A Yok HFA 9 JNEe  FHEl.

(fv) RN Li9cd IuIaE 9@ AT

1. T JRAE SR OS] AR 20 V[ fawr (FoaE @@ ;o [20]

(1) YRare Yo SRl aF oumeEr Ad fos.
(2) HRAET &g o @enE fawr fomn
(3) TIRE AT HIAR qF SuAErEl A fes
(4) YRA HITARN G TSNl e ferl.
(5) WA wiUidEl g afwred fomn
(6) WRAE FAMMRET ®IUCE g afres fomn
(7) & U0 WS &®E 7
(8) YRAA ST hIUdel & YR 9.
(9) TS e YHR  HAT.
(10) YRAN@ HUAR SF SRS el Ad el
(11) YR HIvcaEl M @fFsidd Scdlgeh gl A1 ToTal.
(12) 99 hidl =Sl HE  ?
(13) 3 TaHT WU & ?
(14) Yl fEsEED SodE g SfEs T
(15) vy fawmEr=t = @
2. Wod YEAE SW YS! 50 Yid fo@ (HUEE dF) [10]
(1) fay =<Eyomed
(2) WHRdE &
(8) YRAWE UHHES! ST
(4) =@ s

[52011]-3038
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4.

Tod UeEEl SW Y@ gaR 150 Y[ faw (FomE ||) o [20]
(1) T &Y™ U 6.

(2) Tt wemrREN e Hew W

(8) YRAMIA TSl Hhiedemd faaiur T &

(4) YERIET YRR faw™ s &

e JE S el AR 800 VS fae (HUeE M) [30]

(1) 9Rar™ Yrhfdes fa9qm @i wioredl TRt faurma gfas) oo+
H.

(2) WA SRl ARl TR .

(3) WRAd Y@ Hal YR TeE R

(4) YRAE JTFTIdE FEE HET TR FHA

[5201]-3038 4



Time : Three Hours

[5201]-3038

(Gg-310 : Human Geography)

Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.
(iit) Use of map stencils is allowed.
(fv) Draw neat diagrams wherever necessary.
1. Answer in about 20 words each (any ten) : [20]
(1) What is Human Geography ?
(2) Write the period of Indus culture.
(3) Who states the stop and go determinism ?
(4) What is mixed races ?
(5) Write fwo identity of caucasoid.
(6) Write the location of PYGMY.
(7)  Write the geographical location of Cold Region.
(8) Write the location of Naga Tribes.
(9) Write two names of Tribes in Maharashtra.
(10) Write two effects of Migration.
(11) Write two factors of Migration.
(12) Write name of fwo languages in the World.
(13) Write two language families in Asia.
(14) Write fwo names of natural resources.
(15) Write two objections on Malthus Theory.

[52011]-3038

5 P.T.O.



2. Answer in 50 words each (any two) : [10]
(1) Bases of Human Race
(2)  Human life of ESKIMO
(3) World Languages

(4) Internal migration.

3. Answer in 150 words each (any fwo) : [20]
(1) Scope of Human Geography.
(2) Describe the Human Geography in pre-historical period.
(3) Write about Bhill tribe in Maharashtra.
(4) Write nature of Malthus Theory of Population growth.

4. Answer in 300 words each (any two) : [30]
(1) What is Race ? Explain Pure and Mixed Races.
(2) Give geographical account on ‘Eskimo’ tribe.
(3) Explain religions in India.
(4) Define migration ? Explain the types of migration.

(TS BUIMR)
% : WA A THUT TOT : 80
ol :— () Wd U GrEefau ofevad SR
(ii) ISEIHele Fh Yo IO Sy,
(Gii) RN Vi9a aTwuad WEE e,
(jv) STEYIE dF Ak HA Dl

1. Yosl gaR 20 vssodd Sw fewr (FIveE 9@ [20]
(1) ¥AFel Yles TS &E - ?

(2) fay w=dn Fees fomn

[5201]-3038 6



(3) wisn smfor S fHgid i Higer 2
(4) fHEEw =S @@ 2
(5) HlhehEeasiia ki€l SBE=a = Fol G

(6) Toeit AR TWHE AT

(7) Tod wcvm Yrifas @ o

(8) AN AN M H.

(9) WeRTEHE JM fcard s e fofr.
(10) Toefiao G GRO™  EET

(11) TIAReR 9o HOM 99 ¥92d  foel
(12) <Tdtes g wror=t 719 for.

(13) onf¥rn Werie &M W1 Heard A fofal.
(14) “&fieh GEH Fouxiel &9 g forn

(15) wreum=n fogaeds = naq  fown

2. TS 50 V=@ SN faw (FoRE W) [10]
(1) HHeeRT AUGE
(2) TUR=HAI SHAE HEEl SaH
(3)  STdleR oM

(4) IAd TIATR.

3. WIS 150 v=id S e (Fod gF) [20]
(1) WEel = S,
(2) WHS il YAfdelidsh ®led auid .
(8) HeNwe fyea SHdifawh wifedt fomar
(4) HeIgA AhdEEe fGgdae Weg  fomn

[5201]-3038 7 P.T.O.



4. YIHR 300 V= S A (FUmE ) [30]
(1) 99 U &9 ? HEA gav oo foeew e &
(2) UfepHl SR rifass gW|
(3) YRAna 9H T HA.

(4) AR WIS &F ? AGUE YhR T H.

[5201]-3038 8



Total No. of Questions—4+4] [Total No. of Printed Pages—9

o [5201]-3039
T.Y. B.A. EXAMINATION, 2017
GEOGRAPHY (S-3)
(Gg-320 : Population and Settlement Geography)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.
(iii) Draw neat diagrams and sketches wherever necessary.
(iv) Use of map stencils is allowed.

1. Answer the following questions in about 20 words each (any

ten) :

[20]

(1) Define Population Geography.
(2) What is fertility ?

(3) State the main objective of Family Welfare Programme.

(4) What do you mean by illegal migration ?

(5) What is post-transition stage of Demographic Transition

Model ?

(6) Define density of population.

(7)  What is Human Development Index ?

(8) Define Settlement Geography.

P.T.O.



9)

(10)
(1D
(12)
(13)

(14)
(15)

Define rural settlement.

What do you mean by Smart Village ?

Draw a neat diagram of circular type of rural settlement.
What is urban fringe ?

State any four economical factors influence on rural
settlement.

What is C.B.D. zone ?

What do you mean by spring site settlements ?

2. Write notes on the following in about 50 words each (any

two) :

(1)
(2)
(3)
(4)

[10]
Census of India

Causes of Migration

Importance of Settlement Geography

Site and situation of settlements.

3. Answer the following questions in about 150 words each (any

two)

(1)
(2)
(3)

(4)

[52011]-3039

[20]
Explain nature and scope of Population Geography.
Criticize Malthus’ population theory.

Explain the influence of geographical factors on
settlements.

Explain the causes and problems of urbanisation.

2



4. Answer the following questions in about 300 words each (any

two) :

(1)

[30]

Critically examine Demographic Transition Model.

(2) Give an account of functions and significance of Family Welfare
Programme.
(3) ‘Settlement Geography is interdisciplinary branch of Geography’.
Elaborate.
(4) Give an account of patterns of rural settlements.
(AUS wUia)
9% : i A TRUT TOT : 10

o — (i) §d WA IS e
(i) 3SE®Sie i qui IO IFifedm.

(iii) 3TEvI® AU ok STHA Hal.

(fv) TN LiUcd IuuaE GEEr 3.

1. wod YEHE Yoe gAR 20 v W fael (Hvael g&@r) o: [20]

(1)
(2)
(3)
(4)
(5)
(6)

[52011-3039

ArehEE et e forr.

ST WS %A ?

Fod HeAU FHEHAE eI e fomn

IHASRARN AR RIS HE 2

~ + . e~ + _n + = =

AR Eed HehAU fagiardial HehHAuIR FHdld 6 3l 7

AhEE SHdel oAared  forel

3 P.T.O.



o~

(7)  "Ha oA faem e mvs s ?

(8) &l el ATed forl.

(9) UEHu Sl s o

(10) @ fxas woN &@ 2

(11) Ui gl ‘TR g%t SThdiay  SATddiea HerAM gl
(12) FFE Hwd & =os wE 2

(13) == THHFEER R FOM | fYs w2 fom

(14) sE =goerk faam (C.B.D.) =S &E 2
(15) TAHRIEEe ol WIS & ?

2. WEWE YR AR 50 v=id few faw (Fomd@ @F) [10]
(1) HRAET SO
(2) TS HRO
(3) SIYTE HE
(4) T W 9 feodl.

3. WA Y=l YAkl 150 v=Eid SW o (el |e) [20]

(1) dwge Jiae @EY 9 A T S0

(2) WoggAl deden g fedaes geaHed &
(3) wwien wenfimieiomer gRomy IO dnifeie Sed TS A
(4) FAFRIAOTET RO 9 HHSE T H

[5201]-3039 4



4, GO YT TS AR 300 vsSid Sw fowl (FE @F) ;o [30]
(1) dEed GhAu fHgiae fehias Jead T .
(2) YRAMIA Hed HeAUl FREGHAE! HE F HEA W FHA.
(3) ‘Gt gma ¥ oImen sfowmmetd e’ faum wse &
(4) UM T HARdEY TR HA.

[5201]-3039 5 P.T.O.



[5201]-3039

(Gg-320 : Agricultural Geography)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(1) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencils is allowed.

1. Answer the following questions in about 20 words each (any

ten) :

(D)
(2)
(3)
(4)
(5)
(6)
(7)
(8)
9)

(10)
(1D

(12)
(13)
(14)

(15)

[52011]-3039

[20]
Define systematic approach.
What is Land Fragmentation ?
Give two local name and countries of shifting cultivation.
State any fwo advantages of sprinkler irrigation.
What is drought ?
Define ‘Green Revolution’.
Name any fwo states of Tissue culture practices.
Define organic farming.
Give any two Aquaculture (fish farming) Research Institute of
India.
Give any fwo physical determinants of agriculture.
Give any two various schemes of central and state governments
for agricultural development.
What is meant by dryland farming ?
Name product obtained from food processing.
What is meant by Integrated Watershed Management Programme
(IWMP) ?

State any fwo characteristics of subsistence farming.

6



2. Write notes on the following in about 50 words each (any

two) :

(1)
(2)
(3)
(4)

[10]
Corporate farming

Need of irrigation

Recent approach

Pest and weed management.

3. Answer the following questions in about 150 words each (any

two) :

(D)
(2)
(3)
(4)

[20]
Explain the importance of Irrigation in agriculture.
Explain the characteristics of dryland farming.

Explain the problems of Indian agriculture.

Explain the role of poultry and nursery in agricultural

development.

4. Answer the following questions in about 300 words each (any

two)

(1)
(2)

(3)

(4)

[52011-3039

[30]
Explain the importance of agriculture in Indian economy.
Explain the economic and technological determinants of
agriculture.

Discuss the green revolution of India and explain problems
associated with Indian agriculture.

Explain the concept and methods of watershed manage-

ment.

7 P.T.O.



(WIS ®Uiay)

9@ : A d™ THUT TUT : 80
ol :— (i) W WA HETds .

(i) SSEhele 3% Yo IO gFifddn.

(iii) oTE¥Is dY A 9 @S HEl
(Gv) RN VLi9ed gy WaEi AR

1. Ted GeEl TS AR 20 =@ s fomn (FioeEl g@r) o: [20]

(D)
(2)
(3)
(4)
(5)
(6)
(7)
(8)
9)
(10)
(11)
(12)
(13)
(14)
(15)

AdG WeUl UgdEl AR =@l

SIfHAT RSyl US| 6 ?

R fo=q= SUaE g9 ®Ee forml
YU WU HE ?

gRasidi=l =Are o

Al GIAET IR g TSI 9L

fsa It = o

e fawmEmEE $5 9 TS9 TEAA g ASA G
HEdg Al WIS HH ?

SYfhAT SUe BUIR US|

THIfcHE TUGile &5 oM de[l Bus 6 7
SRR 1z R e LT B o R i e [ o s

2. YRl AR 50 visgid < faw (FoeE @F) [10]

(D)
(2)
(3)
(4)

[52011]-3039

SiEfier g et
SRR RIS
A SRS
HIE d qU HILAIA.




3. WO YT YA AR 150 V[ S faw (FomE gF)  : [20]
(1) Fodiad Safg=-re Hed TR H
(2) HREAR Ve vy TR H.
(3) WA Tdr=Al HET W HA

(4) F fowmme gFgpzaeE U Juatfesd SqauE A= i T
.
4. TOd YEE YS! 300 vEd I fown (wivdd gF) e [30]

(1) IR AdFaEdd I 7 o FH.

(2) VdleR gRomg FOm offde F qifEe e gfawR T &

(8) ‘gRa @’ AR T=@i wA AN YR vden el 9uen e
F.

(4) UUERE &F HARAA Ghoddl AU Ugdl TR .

[52011-3039 9



Total No. of Questions—7+7+7] [Total No. of Printed Pages—5

Seat
No.

[5201]-3041

T.Y. B.A. EXAMINATION, 2017
MUSIC (|fa)
MG A9H ®W(SH-3)
(2013 PATTERN)

fagim o c— a1 Wune T 9| e, q6e, §a) d9r a9 eht

qrT fawarslt wIUTHEl Tk WU |rsan)
[ || mEA

a% : 1% ™ THUT TOT : 20
I — () ulgenm w¥A Hrefau fEr e

(ii) 3G T YAl HUGE qH Y THO AW G Gre.
(iii) |@ YA YAH! 5 A YHN FHE O SR

SasFadt, A o, a1 Yl SR TRl W HeAed e
(B ©&A).
feRan

foerelid @™ (Sl ©e) Wl oEd 6.

I AR AGIG  HIVCARI Tehl I Gio&X wmelie  Hifedr  feral.

[ bl o~ - o~

focifad Uehara, focifaa fa@ =1 9l SIEE WeRt T oes &

femr faer (=veE 9)
(1) We&Fs ]

(2) S T

(3) 3HF W

(4) BERE W

P.T.O.



50

dqresa famr (Fvel @F) .

1) feg ™
(2) Y&y
(3) HiYgerIfyd .

fray fagr (FoEE Tw)
(1) b A

(2) T GIQrEr AR
(3) gia foemme w@wu.

T fo@r (FIUMEl TEH) e
(1) HER ¥

(2) sfimdt HAnErE HETR
(3) U fodg SAfeen.

[5201]-3041



[5201]-3041

GEKL
q% : 1% d™ THUT TUT : 20
goar — (i) ufgenm yvd diefau sAferd .
(i) 3HNG @& Ukl DGR @F FH THU AR YA Hiedl
(i) | UM Y& 5 A A GHA O SR

1. a9 femn

2. Prarde frfsr v=sged e e fo

3. ®um darEt diE fomn

4, UHAEE Th FHeR To@l

5. feool 9 T TR HI.

6. T femr (UEED TH)
(1) deen dmErEn sfae
(2) g e fowga serE

(3) TIEE THAENA T&E

7. qUS PSRl Ukl Hored i foern

[5201]-3041 3 P.T.O.



[5201]-3041

HdX
9% : 1% ™ THUT TOT : 20
oAl :— (i) ufgem wvd refon st e
(i) ARG @& Ukl HIUAE G FH THU FR YA Hied.
(iii)) | UTAA YAl 5 A YHO HHM U 3.

1. I AAYHHME DITARI Tkl WM HfEd@H T WRfdfbas F.

2.  UHU, WA, gorart @ Ykt wOE Tt W= gfaw) vneied wifedt
femar.

3. U, T, Thdar A YR IR UeRl dle T, @S, e, HIA
I YHMO @@d

4. 3w fag (FEE =)

(1) s W
(2) S~ I
(3) fog =
(4) I

5. dreFa fag (FoeE 9F)

(1) T W

(2) fauvE
(3) Tfayia
(4) AMETs TH.

[5201]-3041 4



6. T@y fag (FvER TH)
(1)  Hre=
(2) G e7for eSS
(3) W QTS Eren g

7. =f@ faw (FvaE Tw)
(1) HER T
(2) W TafEeen @M

(3)  siwdl HIEE HSIHT.

[5201]-3041



Total No. of Questions—7+7+5] [Total No. of Printed Pages—6

Seat
- [5201]-3042
T.Y. B.A. EXAMINATION, 2017
MUSIC
giia feRw (T9-3)

(2013 PATTERN)

(fafyre gomm :— o1 GeE® T G MEE, q9@, @A) a1 dedet
quen fasamelt RIvTdEl Teh YIUiieh |igan)

T EIE TEE
9% : 1 A 30 fafee TRUT TUT : 20
o :— (i) ufgenm wvd Gefan sAter s
(ii) 3ERG YA HIUCE A S THU AR YA e
(iii) | UMl YA 5 A YA GHH O AR

1. 3 96 SATEHANE SR Tahl T foofad &a @fedies. &4.

2. R HeEm, @R FEES], TER TG Aeh! HIOARl Teht T= Fq0 IS
wifedt forga wifasr ferar.

3. TIdUH! HIVAR TehT drar= HYU IS Hifed! folgd dreme=n 31 THU,
gueld 9 fauda femnr .

(i)  gse

(z) @

(i) Ede

(Gv) dar (daq)

PT.0:



4. fou fom (FoE@E @F)
(1)  SIERmEA
(ii) HASH, wHA

(iii) HSTERR

5. dieFd wifedt femr (Fvem@ €9)
(i) I TR
(ii) eI
(iii) afesw wifa

(Gv) Y9Y

6. I TUSA SAEHATEIG BRI Tehl Tdsme Arfifas dreH fave &

7.  Yacds! wivcarel Ter fawaer wfasr fomr
() W gl a <fwore wfla asd
(i) 9 ST NYfeh ey gl
(iii) TeRa Gia fogo g

[5201]-3042 2



[56201]-3042

9% : 1 @ 30 fafe THIT TOT : 20
oAl :— (i) ufeenm g diefau sifed ew.
(ii) 3ERG YA HIUE A S THU AR YA e

(iii) @d YA YAS! 5 A YHIU GEHM IO 3ed.

1. I aui=a SAAEhAE hIERl Tat Wkdia faefaa sfqeyafaaerd 7

fdAdiag .

2. MR, Madt, gRET AitUsl IR ekl W= Tqul wretg wifedr forgd
W fetal.

3.  USIcUeh! hIVARl WeRl dlair=l §qui Y&y mifed! fogs drer=n 31 wshud,
g 9 AMda fam

(1)  SASTYHTES

(i) Gddn

4. four fam (FvEE @F)
(1) e
(ii) ®HAT o9 HoAS!

(iii) SE, THH, STHIHI

[5201]-3042 3 P.T.O.



5. dieqa difedt fam (Fv@@t d9)

(1) Hd Wl fomen AT
(i) TEHa Gia feremr ugd
(iii) WaY, SIArmEE

6. A1 T SAMFHHCA HIUAE Terl Fidard rfifas dreH fave &

7. YIUh! HIAR Uan fawarer wfaww fomr :
() UEH T syl STemd usd
(ji) fegwrt @ia usdl @ <feore d@id ggdl
(iii) Bl Hird

[5201]-3042 4



[5201]-3042

9% : 1 ™ 30 fufe THUT TOT : 20
o — (i) ufeen WA wiefan #fer e
(i) ARG USRI HIUE A S THRM AR UYA e

(iii) |E YAl YAl 5 A YA HHH U SR

1. %5 fowar 99 o0&t FU@E TR d@Et 990 IneE wifed fagd e

b ¥ a} n ~
dohl UhUlld d qWId Teiel.

2. UIHYIR] ded @9 e 9 o gore Tl

3. few fesr (FvremE gF)

(i) A SASNIEl ANl 1 hiEal
(i) THE ®E

(i1i) fadeedt

iv) e

4., YICURI HIVAR TSl FHABRE Giffaes areE fove &

(1) N aHe™

(ii) U. %S WIS

[5201]-3042 5 P.T.O.



(iii) 9. foym #ers
Gv) Y. HHEd YEE

(v) 3. Tt foama s @f

5. Al VARl Tehl fao@mel Higwr foer :
(i) R fwer dSm@ AT SReA e
(ii) WA UAWEA FUA heledl qWOnEl wWiedt e
(iii) qA @adA deA U WHYHdE gaedide w@Ey

[5201]-3042 6



Total No. of Questions—7+7+7] [Total No. of Printed Pages—5

Seat

No. [5201]'3043

T.Y. B.A. EXAMINATION, 2017
MUSIC (&a)
Special Paper IV (S-4)
(2013 PATTERN)

fafyre gemm : — o1 doE T WG TMEE, WG, 9ol a1 dident qEeEn
faoamel wIUTdEr TR wyHUteRT diEE,

W Giita A
9% : 1 amm 30 fafe THUT TOT : 20
o — (i) ufgenm Yy diefan sAfer e
(ii) 3ENd ¥ Uehl wIvdel 9 38 THU ¥R Y39 Gl
(iii) | UTAA TAHN 5 A YO TEHHE O AR

1. o AHFHAGA BV TehT WA faeifad @A (98] ©ad) @R oed
.

2.  HEfaRN, YAH-hedrol, YRAT AT IR Tl =T ekl Imsies wifedl
fetar.

3. daU (di9n), G YIS, Ushel AUk VAR Tkl dlare OEI, B, A,
HTA I YHO A@H HA.

4., fow o= (FU@EE g9)
(i) AR
(ii) Efa EHeH
(Gii) wMa feome w@Ey
(fv) T gL
P.T.O.



5.

[5201]-3043

g forer (Fo@d dF)
@) fosm=E "=
(ii) Hifta smfur HerwmETen g
(iii) 9ed g

fey fogl (IRl Th) -

(i) i Bfed FEdETS O
(i) WG WEE "R

(iii) i qeqEl formm

IS fefRl (IRl Teh) -
i) U BRuEE =R
(ii) Teuers et

(iii) SN W&



a5
o

1 @ 30 fafee

i— (i) ufgem wvd wefan sfard s

[5201]-3043

TFHOT T ;20

(i) AR el HIVME @ 3T TH WX U Giedl.
(iii) & YA FHH! 5 YA AW O SR

TIM HA0, dferd, HYadl A0R] @R TH T TEqer T @X-

I AAHRAIIA hiIVcaEl Tehl I Hf&R IS Hifgdl fosr.

1.
ISIEEr-SC T
2.
3. focifed uwwda ferern
4. fou fomr (@ 9)
(i) TMd HecEd
(ii) g oo e9Er=Aa 9t
(iii) A {3
5. diea fam (fomE dF)
(i) O foreoma =ey
(ii) WG GUse™
(iii) TaES Teared
[5201]-3043

P.T.O.



6. foy foer (+UEEl TH) :
() Tehd Wi e ugdt 9 snyfie @i
(i) HId T
(iii) WG HRNEAE 9

7. =& fag (SodEl )
G 4. feeemAr wi
(i) &R FHER T

(iii) e faamEa @i

[5201]-3043 4
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9% : 1 @™ 30 fufe THUT TOT : 20
el :— (i) ufgenm yvd defau sifEmd e
(i) <G W& Yl ®IUGE A S THU AW UvH el
(iii) |A YLAAT YHH! 5 AGHT HAM TOT 3.

1. #d (9 HEN) dad Uk swEal gl
2. ®YF d@€ TH GwER fom

8. fTuammn ww Y& fermern

4, FHACH dal dg5d TR R

5. HHM HET §EI=A dial fAfHdEl R0 TS .

6. dIAIA TEmEn Srenasdr  foral.

7. U AGSA hIVAR FHARE 9iE T

[5201]-3043 5



Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat

Y. [5201]-3044

T.Y. B.A. EXAMINATION, 2017
PSYCHOLOGY
General Paper III
[Industrial and Organizational (I/0) Psychology]

(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(z) Comment on Past/History of I/O Psychology.
(ii) Explain the Biodata Items.
(iiz) Comment on relationship of job satisfaction to productivity and
withdrawal behaviour.
(fv) Explain the Time and Motion Study.
(v) Explain the self discipline—seven step process.

(vi) State the components of job satisfaction.

2. Answer the following questions in 200 words each (any two) : [20]
(1) Write the functions of Industrial Psychology.
(ii) Explain the history and scope of engineering psychology.
(iit) State the trends and challenges to O.B.
(fv) Explain the measurements of job satisfaction.

P.T.O.



3. Answer any one of the following questions in 400 words : [20]
(z) Explain the uses of performance evaluation and sources of
evaluation.

(i) State the styles and approaches of leadership.

4.  Write short notes on (any four) : [20]
(1) Resume
(ii) Psychological Principles in training
(iit) Need theory of McClelland
(tv) Job Satisfaction
(v) Meaning of OD

(vi) Application of Organizational Change.

(FEl W)
9% : W e TeHRUT TOT : 80
I — () WE WA qehm aErE e
(i) SSEHElS HHh YU IO SFifore.
(iii) TGS T3 TS YFAULART TgTEl.

1. UWoloUsl HUdER = WBaE SO Yde! 100 It fowr [20]
()  SrEfies/gueacae EEYTSEl Sae 9.

(i) SHeAfoIsFs Y= WEY FA

(iii) HAGHYEET IAGHhAl o HHUE HH WS SIUAr=l Yol 2T
oY

[6201]-3044 2



4.

(Gv) ‘& T ATE W HA.
(v) @I = 9@ 9=l gfear T &
(vi) HE GHYFETE ¥2Hh AT

WAGUs! HIUR S WA I YS! 200 IeEid fowr [20]
(G) SirEnfe AEERTERE s foen

(i) AMAITIRT AFENTET= 3fdee o oAl |iaw T &
(iii) HEeAIH® ddqdid Yo S AreeE 9.

(jv) HETHYE AN Ygdl afasr o

GSIGUH! HIAR TRl YA W 400 I fo@l [20]

;o S,

(i) HEMEd Hediehardl IUYEdl EWRH HegAgae fafay &d afeasw

.
(i) Agren fafay eit 9 gfewm wfaww T

TR HIVER! ARier dredra fea fom [20]
(G)  TvEr

(i) ufverondiel AEERTSiE d

(iii) Waeetvsdl RS faga

(jv) w1 GHIYH

(v) GueATHE fawm 39

(vi) TEEATHS wEdrd ITASH.

[5201]-3044 3 P.T.O.



[5201]-3044

(Applied Psychology)

Time : Three Hours Maximum Marks : 80

N.B. :—

() All questions are compulsory.

(1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(2)
(i1)
(ii1)
(iv)
()
(vi)

Explain the scope of positive psychology.

Describe the scope of educational psychology.

Explain the limitations of educational evaluation.

State the role of psychologists in tackling social issues.
Explain any three educational problems.

Describe the concept of community mental health.

2. Answer the following questions in 200 words each (any two) : [20]

(2)
(1)
(iii)

(Zv)

Explain the use of psychology in dealing with superstitions.
Describe the use of psychology in rehabilitation work.
Discuss the characteristics of DSM-V classification of mental
disorders.

Write about the use of psychological test in selection in the

defence services.

3. Answer any one of the following questions in 400 words : [20]

(2)
[6201]-3044

Define I/O psychology. Describe its nature and fields.
4



(i) Define developmental psychology. Describe the issues faced by

adolescents.

4, Write short notes on (any four) : [20]
(z) Sports Psychology
(i) Rural development
(iit) Consumer Psychology
(fv) Military Psychology
(v) Cyber Crimes
(vi) Client centered therapy.

(W@ TUIR)
9@ : A d™ THUT TOT : 80
oAt :— (i) WA WA defan orewdsd  oTRd.
(i) e #@F qu T e,
(iii) UIWEIES TS TUSH WAdART Taral.

a

1. UPe WA SW YIS 100 I f@er (Hdd 9r) [20]
(i) HHERHE HHEEMSE 2« fowe .
(i) VeAford AAERTETE AT T H
(iii) Vel HogHMIETEl WA TR

(jv) WIS G BdlesdHl a9 Jfiyer @
(v) HIUAE dF el e favg &
(vi) WTHfesh THAMGER FARFT & Hhoodl TR FHA.
[52011]-3044 5 P.T.O.



2. WG WAME IW FAHRI 200 IE[ foRl (UG qE) [20]
(1) FUIKH R FOAMEE AT IR fove &3

(i) YIAEd HEd AEGITETEl YN W h
(iii) WMAfE® fagd=n DSM-V afieioms Tuafmes s &
(v) Ifwt sl AFEeTEtE SETEEr STEn T

3. WIGUH! DR Tl ¥ IR 400 31| foar . [20]

(1) 3T/ Tueacdss AMETSTHt el fogl 9 " Weq S &5

e hl.

(i) SFIas TSl @ren fag 9 fEviReds ga-geten wmen

e &
4, dieEd feqr fogr (FUERE 9®) [20]
() Towsr wHEETH
(i) U faw™

(iii) TR HITHIIEA

(iv) HfFw AEHITE

(v) HER T2

(vi) TTEHHS ITAN TG

[6201]-3044 6



Total No. of Questions—4]

[Total No. of Printed Pages—3

Seat
No.

[5201]-3045

Time

N.B.

T.Y. B.A. EXAMINATION, 2017
PSYCHOLOGY
(Special Paper III)

(Scientific Research and Experimental Psychology)
(2013 PATTERN)

: Three Hours Maximum Marks : 80

:— (1) All questions are compulsory.

(ii) Figures to the right indicate full marks.

Answer the following questions in 100 words each (any four) : [10]

(1)
(2)
(3)
(4)
(5)
(6)

Distinguish the Quantitative Vs. Qualitative Research.
State the criteria of hypothesis.

State the interview method.

What is psychophysics ?

What are the types of attention ?

What is thinking process ?

Answer the following questions in 200 words each (any two) : [20]

(1)

(2)
(3)
(4)

What is scientific method ? Explain the characteristics of scentific
method.

What is variable ? Discuss the types of variables.

Define learning. Explain the types of learning.

Discuss the theories of thinking process.

P.T.O.



3. Answer any one of the following questions in 400 words : [20]

(1) What is reliability ? Discuss the various types of reliability.
(2) Illustrate the method of average errors.
4, Write short notes on (any four) : [20]
(1) Experimental approach
(2) Types of Hypothesis
(3) Quota sampling
(4) Signal detection theory
(5) Characteristics of perception
(6) Heuristics.
(WS ®UITER)
9@ : A d™ THUT TUT : 80

oAl :— (i) W WA defau semas sied.

(ii) ISChel® H YO U SFifadn.
(i) TEUEE Hed SUSH YeAqAal UgrEl.

1. @od geE gde 100 7kid W faer (Foed =\ w) [20]
(1) wTeaTs faeg TUmEs GINEATS W |FT.
(2) AYTEN &y g
(3) HamEd Ugdl 9.
(4) wadifaRl ®US wE 2
(5) SEYMME YHR HUd Agd ?
6) foam-ufsrn wUS w2

2. WA YyEl S YIS 200 IS fawl (RUdE dF) [20]
(1) vEg 9gd =N wE 2 IS UgdeEl dfvrmes T @
(2) Ufed ®UN ®E 7 UEdred YERREr 99 6.

[5201]-3045 2



(3) AHFATEl AT . I YhR W &L

(4) four-ufed=n fog@a=l == &

3. WIAUR! HIUAR TR UIE 400 IRE fo@r [20]
(1) fovegfraar =mus & ? favogfraaen fafay yesm=r == .
(2) SUEH YR Ygdl HiRmor 9.

4. dgieqa four fagr (Fo@E =ww) e [20]
(1) Y& <
(2) HAYTMEE TR

(3) fHuamer THATEEA
(4) Hhd MY U9
(5) HagArE af¥reey

(6) el faER.

[5201]-3045 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

Y. [5201]-3047

T.Y. B.A. EXAMINATION, 2017
GANDHIAN THOUGHT
G-3 : Relevance of Gandhian Thought
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) State Dada Dharmadhikari’s idea of Social Reconstruction in
brief.
(2) State in short relation between Gandhi and Vinoba.
(3) Write Jayprakash Narayan’s views on Youth.
(4) Give a brief information about Peasant Movement.
(5) State in short about Chipako Andolan.

(6) Write any four limitations of Gandhian Movement.

2. Answer the following questions in 200 words each (any two) : [20]

(1) In what regard Medha Patkar provoked the Narmada Bachao
Andolan ?

(2) Write importance of Nelson Mandela’s Anti-racist movement

in regards to human right.

P.T.O.



(3) Explain the notion of Acharya Javdekar’s Synthesis of Gandhi
and Marx.

(4) Describe the Vinoba Bhave’s concept of Sarvodaya.

3. Answer any one of the following questions in 400 words : [20]
(1) State and evaluate fully Gandhian Model of Development.

(2) Write fully Vinoba Bhave’s concept of Sthitaprajna.

4.  Write short notes on (any four) : [20]
(1) Ganga Bachao Andolan
(2) Right to Information
(3) Javdekar’s Synthesis on Marx
(4) Concept of Anti-imperialist
(56) Impact of Gandhi on Javdekar
(6) Dada Dharmadhikari’s economic thoughts.

(TS ®UI)
9% : W9 9 THUT TUT : 80
o — (i) Wd WA diefad serds ek
(i) SSEhele e qul YU gFifad.
(iii) TS B TUSH WRAUCAHRT TETE.

1. GooUsl HIVERI X WEAET TSl 100 IS SW foul [20]
(1) <1 ywifyer@ =i gt qAafyei=i geeg fave =+

(2) W M 9 fodler W@ I=AmHE GeY dieddd 9L
[56201]-3047 2




(3)
(4)
(5)
(6)

SAYHTY AE A= G odeh g8 |

JIdsh=aTa  doodcolanl  eleadrd |
faust sTeafawE  dresma o
MeaEl J@deidial hivcaEl = e foer.

2. TOOUH HOERI G WEAE &S] 200 IR IW (R [20]

(1)
(2)

(3)

TY UEhd I S Hedid -Hel s9d Ao 9ed @ld.
qHdr  AfYSRiaoT® Fadd Aeoreal avlloldl doddid Hed e
.

7. e A wE Aren fowi e Saewddl SHaarEl GehedHl

.

(4) ‘warga’ & fodqen gd=Et Goheud T H.

3. UWOOYR! HIUAR TR WAE 400 IS SW fowr [20]
(1) TeiS=n fowm@r=n geue gfaw Wil 9 JedHdd &
(2) ‘fegguz’ & foden wGO=Et Gweudr Gfow® TS H

4. dg=HE U fow (B WR) [20]
(1) T S=rsl STere

(2)
(3)
(4)
(5)
(6)

[52011-3047

Hifedr=n  AfuwR
SeSshUd A Fafea
qoTare ol gdeu
MiS=  STeresierial Y4

TRI YAIfYSRl 9= Advreia fa=ur.



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

Y. [5201]-3048

T.Y. B.A. EXAMINATION, 2017
YOGA (G-3)
(Applied Yoga)
(2013 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

1. Explain any one from the following in 50 words : [5]
(1) State the importance of Niyam in personal life.

(2) State the importance of Anulom-Vilom Pranayam.

2. Write short notes on any fwo of the following : [10]
(1) Vaman Dhotti
(2) Brahmcharya
(3) Udiyan Bandha
(4) Dand Dhotti.

3. Answer any two questions from the following in 200 to 250 words
each : [15]

(1) State the importance of Yam in social health.
P.T.O.



(2) State the importance of Pranayam in old age.

(3) State the importance of Dhanurasan in physical health.

4. Attempt any one question in detail : [10]

(1) What is mental health ? Explain the importance of yoga
techniques in mental health.

(2) What is practical yoga ? Explain the goals and objectives of

practical yoga.

(W& T UIR)
9% : & d™ TeRUT TOT : 40
AT :— () WA WA UEfou oeRasd .
(i) 3EHErS FF YIAE YU YU SFiferdrd.
({ii)) GSHER He TUSH WIAUAR] TRMEl.

1. Woeusl HIUER T 50 ek SIeho o o [5]
(1) T Safes Sioda Hed T
(2) Sam-fad™ YUEENE Heg@ 9.

2. dgFd fow @ (FUEE M) [10]
(1) SHIH
(2) wadE
(3) 3TEEE 9y
(4) TUSHI.

[5201]-3048 2



4.

WOGUH! hIUAE G TeAE 200 d 250 ¥EM@ S @l : [15]
(1) 9 IRFa[d J99 HJed 9.

(2) JSEEd YUEHTE HEd 9.

(3) UUEAE IR SR HEe 9.

TSGUH! HIUEE ThT YE FOER IW ol [10]

(1) THAME IRE RIS ®E § GiE THAEE AR fenfauame! A
He i

(2) HRINE I WUS A T UAH Hdeiie drm=r 39, e e
FH.

[52011-3048 3



Total No. of Questions—4]

[Total No. of Printed Pages—3

Seat
No.

[56201]-3049

Time :

T.Y. B.A. EXAMINATION, 2017
HISTORY OF CIVILIZATION (World Culture)

General Paper III
(2013 PATTERN)

Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

Answer the following questions in 100 words each (any four) : [20]

(2)
(i1)
(iii)
(v)
()
(vi)

State about the ‘Roman Law’.

Write the concept of civilization.

Consequences of geographical discoveries on India.

Write a note on ‘Stone Age Tools’.

Describe the contribution of Chinese philosopher in philosophy.

Explain the counter Reformation in Europe.

Answer the following questions in 200 words each (any two) : [20]

(@)
(i1)
(ii1)
(v)

Explain the feature of religious ideas in Vedic culture.
Discuss the impact of Renaissance on Europe society.
Describe social and religious life in Greek Civilization.
Describe the contribution of Arabs in the field of Science and

Art.

PT.0:



3. Answer any one of the following questions in 400 words : [20]
(1) Take a review of the religion and philosophy of Buddhism.

(ii) Discuss the salient features of the Harappan civilization.

4.  Write short notes on (any four) : [20]
(z) Homo Sapiens
(i) Hijri
(i) Art and Architecture of Egypt civilization
(fv) Meaning and nature of feudalism
(v)  Vasco-da-Gama

(vi) Social life of Mesopotamia civilization.

(W& T UIR)
d% : W aE THUT 7T : 80

1. @elid Y=l Yol 100 vsSd SW fasl (Fivder 9r) [20]
() ‘U Rl ArfaeE g
(ji) TEhdt & Hweyd forn
(iii) WM M ARAE ¥Ed  Seiedl IRUMHE 90 .
(Gv) ‘SemgE 'R’ Fer fou fomn

(v) HF dERE dRaEEEE R G
(vi) JUurRda gfagd FUR T3 TR H.

[5201]-3049 2



2. il GEAEl Yoasl 200 v SWfewl (HIUdEl §F) [20]
(i) dfcws depdmdia s wogarn Afred T FA
(ii) JUUHEHA HHSTOR  YAESSioAr=al GuEm=t == .
(Gii) e TG&pdmdia gmmse oo enfde Sftadre 9uiH &
(v) owerEl foam snfor e W &l wE T

3. Wi SR Teh Y 400 ¥k W ol [20]
() digud onfor dowE ATET SATEE AL
(ii) TSH GEhdreAl Sooch diersedrdl Il

4. grewa fon fasr (FoemE =9w®) [20]
() =B ofeE
(Gi) T

(jii) 3 TEhdEEA Hen ST T
(jv) TH@TEMET 3 T E=Ey

(v)  ETERI-S-TME

(vi) TR F&pdmda s Sie.

[5201]-3049 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

Y. [5201]-3050

T.Y. B.A. EXAMINATION, 2017
HOME ECONOMICS
G-3 : Dynamic and Challenges of Indian Society
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) Explain the causes of social change.
(2) Explain the active and passive deviation with example.
(3) Explain education effect on social change.
(4) Explain the causes of Adoption.
(5) Explain the causes of changing Indian Family.

(6) Explain the causes of social conformity.

2. Answer the following questions in 200 words each (any two) : [20]
(1) Explain the difference between Traditional society and Modern
society.
(2) Explain the functions of family.
(3) Explain the causes and effects of Divorce.

(4) “The status of women is changing in Indian society.” Explain.

P.T.O.



3. Answer any one of the following questions in 400 words : [20]
(1) Explain Political, Economical, Communication and Scientific effects
on social change.

(2) Explain the causes and effects of Dowry system.

4.  Write short notes on (any four) : [20]
(1) Causes of social deviation
(2) Difference between Indian and Foreign Family
(3) Marriage and Sex
(4) Causes of Intermarriage
(5) Social value conflict

(6) Nature of Indian Society.

(WS wUTR)
% : WA A THUT TOT : 80
oAt :— (i) |d WA defaw orewas  oTRd.
(ii) SSE®Ele 3dh WA= U U ifdar.

1. Treld gl SW Ul 100 Ve[ forel (FveE | W) [20]
(1) wmfas IREda=T SR T H.
(2) wHhE i Hitwa fogem QEOME W &+,
(3) Toreome wmifse aREdaradia aRom Tase &
(4) T<MEl HRU TR FHA.
(5) ARG HISdiel Sgerdl HRO T .

(6) HMISh  STIFCEME] HRU T H

[5201]-3050 2



2. TEld FeAE SW U 200 V[ fowl (FO0E M) [20]
(1) WO 99§ Al enyfies GurSl Adial %k TR 6.
(2) Hea=l HE WL R
(3) EEERIEE] ®RU S URumH R

(4) “9rdE wEeE foEmEn Sl dedd AR W &AL

3. @i HIVARI Teh YA SW 400 s fo@r : [20]
(1) UShE, e, Hegreed SN defes i TS qiad-e]. BIom
RO T H.

(2) T UgdEt HRU e oy T &AL

4, dreeEd fow fawr (FioEE =9w) e [20]

(1) w9mifSe fa=gomEr SRl
(2) 9RdE et faqsft sHeardia wiw
(8) foaw enfor <iffeean

(4) STAfoarErT SR

(5) WHISR Hed e

(6) YNdI TUSTY Y.

[52011-3050 3



Total No. of Questions—4+4+4] [Total No. of Printed Pages—9

Seat

No. [5201]'3051

T.Y. B.A. EXAMINATION, 2017
DEFENCE AND STRATEGIC STUDIES
(D.S. G-3(A) : India’s National Security)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) :[20]
(i) State the concept of Indian National Security.
(it) What are the objectives of Nuclear Policy ?
(itt) State geostrategic importance of Kashmir.
(fv) Explain the strategic importance of Indian Ocean.
(v) State the objectives of SAARC.

(vi) What are the objectives of Indian Foreign Policy ?

2. Answer the following questions in 200 words each (any two) :[20]
(z7) State the meaning and concept of National Security.

(zz) Describe the causes and measures of insurgency.
PT.O.



(iii) Explain India’s Nuclear Policy.

(iv) Explain the India’s role in SAARC.

3. Answer any one of the following questions in 400 words : [20]
(z) State the determinants of Foreign Policy of India.

(i) Explain the relation between India and U.S.A.

4.  Write short notes on (any four) : [20]
(i)  Peaceful uses of Nuclear Power
(ii) MacMahon Line
(iit) Defence Policy
(fv) Concept of terrorism
(v) Importance of National Security

(vi) India’s Naval Strategy.

(TS wUTaR)
d% : W aE THUT 7T : 80

gaT — () W WA Giefau sevds &R
(i) SRSl 3k FEAE YU U gRifaa.

1. Teid Y3l SW YdhT 100 vseid foer (Fvdel 9r) [20]
(i) AR U Gl Hehed Tl |
(ii) ofUaesh YROM=El 3fEse hivdr 2

[5201]-3051 2



(iii) HHE YHMNE Hed HA

(v) f&&l 7REFRE 9MiE Ae@ TR HA.
(v) Wl 3R T

(vi) YRAE YOS gRomEl 3fEsd wivrdt 2

2. WElid WAl SR YIH! 200 Vi fowl (FORE 8F) [20]
(i) TRE e A S Wehed WAL
({i) focoaRM™ &RO oA gRomH FuiE &
(iii) WRaE STfvesh YN0 T H.
(iv) YAl WAL YAkl T ST

3. TEld HIUMAEN Ueh YA 400 IEid W fa@r . [20]
(i) 9RAEl TSI YRUTE ¥Ed |
(ii) YRa nfor SR 9y T S

4. geqE foor fagr (SodEd 9w®) - [20]
(1) SRR damd YA
(ii) HehHEA IO
(iii) GR&U RO

(jv) SRR HehedHl
) TEE Qe Ao
(vi) YA IR EEYE.
[5201]-3051 3 PTO.



[6201]-3051

(D.S. G-3(B) : India and South Asia)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) :[20]
(i) State the functions of SAARC.
(i) State the causes of 1971 war.
(iit) Explain the importance of Geopolitics.
(iv) Explain the problem of Kashmir.
(v) State the India’s role in Bhutan development.

(vi) Explain the strategic importance of Indian Ocean.

2. Answer the following questions in 200 words each (any two) :[20]
(z) Explain the performance of Indian Armed Forces in 1971 war.
(ii) State the India’s role in Nepal’s development.
(zi1) Explain the ethnic problem in Sri Lanka.

(zv) Describe the India-Maldive’s socio-cultural relations.

[5201]-3051 4



3. Answer any one of the following questions in 400 words : [20]
(z) India’s military capability. Explain in detail.
(ii) Explain the structure and objectives of SAARC.

4.  Write short notes on (any four) : [20]
(1)  Geopolitics
(i1) Present status of Indo-Nepal friendship
(iii) Tin Bigha Corridor
(fv) Causes of 1947 war
(v) India’s Indian Ocean Policy

(vi) IPKF.

(& wuTaw)
9@ : A d™ TRUT TUT : 80
el :— (i) Wd WA Wefau AEvas SR
(i) ISEHErd 31k Yo o geifedra.
(iii) WSHMES! Wb TUSH WYAUCARI TEE.

1. @efd g3l S YdE 100 v forer (FivdE 9\m) [20]
(i) WeRdEl ®HE GO
(i) 1971 = &I HRO GO
(iii) YUSHIGE A8l TR .

[5201]-3051 5 P.T.O.




(jv) HNAR U= T &

(v) qa=A fahEdie WRaEl  qfHer |
(i) T&t wemrTRE mie W TR #A

2. @id eEE W YAS! 200 [ faw (FvEE gE) [20]
() 39 1971 A ISHA HRAE G TATEl HEART TR hH

(i) Aureren fasmardie WdrEl qfieer |

(iii) Siicihdidd aIfeTh THET TS &

(lv) YRA-TfGE AT AT -TTEhiah  GaemER == .

3. WEld HIUAREN Ueh Y™ SW 400 ¥=@ fa@l - [20]
(i) HRAET dsRd gHar’ gfawy wWee HAL
(ii) Tl WA 9 3fesed W F.

4. greHE faor faw (wo@E @9R) [20]
@) quSIl
(Gi) wu fedidia wRa-Aara e
i) = foenm s
(fv) 1947 =1 g HRU
(v) wRare fédl HeErR fases  HRo
(i) STANHTE. (WRAE T T ).

[5201]-3051 6



[6201]-3051

D.S. G-3(C) : Contemporary Warfare)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(i) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) :[20]
(z)  Explain the psychological causes of war.
(ii) State the meaning and concept of Conventional Warfare.
(iti) Explain the Guerilla strategy.
(iv) State the objectives of Biological Warfare.
(v) State the importance of Economic Warfare.

(vi) Explain the concept of Nuclear War.

2. Answer the following questions in 200 words each (any fwo) :[20]
(1) Explain in brief the concept of Total War.
(ii) Describe the development of Nuclear Weapons.
(izi) Explain in detail the means of psychological warfare.

(zv) Describe in detail chemical warfare.

3. Answer any one of the following questions in 400 words : [20]
(z)  What is Insurgency ? Explain the causes and nature of Insurgency.

(i) Explain the nature and scope of Electronic Warfare.
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4.  Write short notes on (any four) : [20]
(z) War : Meaning and concept
(i) Mao-Tse-Tung
(zi1) Counterinsurgency
(fv) Objectives of Biological Warfare
(v) Aims of Economic Warfare

(vi) Means of Cyber Warfare.

(S wUi)
9% : i A THUT TUT : 80
oAl :— (i) 9Wd WA diefau ofevds S
(i) I9EHErd 31k Yo o geifedra.

(iii) TEWEIS! Yoz TUSH UYAUCART TRTEl.

1. @oid eAEl W Y&H! 100 v gl (FHoE 9r) [20]
(i) JSE AFERTSE SR TR &
(i) YR Jgugdrdr o1 offor Hehead AT
(iii) T FeHdr T w0
(jv) Sfow Fgusd=r Sfeser @
() Y% Jgusdrea Heo G
(vi) oTfvaes fohal T qE=T Tehoddl T
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2.  @elldl YeEEl SR OUAH! 200 vieEid forwl (FIvE g@F) [20]

(i) GARY Gt Hheddl dSHM T H

(ii) AvaE=Al fasm™e 9uig &
(i) AHENTSE JSUGdEl WY G TR .
(jv) TEAM® J§usdd FawR FJuHA  H.

3. Woiid HUMR Teh I SW 400 IeM ol [20]

() fowEa (de@rt) BN s ? fOcEsEt (deEr=E) sRo S WEy
W &

(i) SO JSUsdd WEY S Swl T H.

4, g feor fagr (vdd =9 w®) [20]
(G) J& : Id oW Hewew
(ii) HISH-E-
(iii) wfdfaera

(iv) Sfask Jgusd=r fe
() onfds FgusdEr S
(i) TR FGUSAE FTE.
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Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat

Y. [5201]-3052

T.Y. B.A. EXAMINATION, 2017
DEFENCE AND STRATEGIC STUDIES
(D.S. S-3-A : International and Regional Organisation)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) Explain the functions of UN.
(2) What is Human Rights ?
(3) State the functions of UN in social field/issues.
(4) State the aims of ASEAN.
(5) Explain the objectives of European Union.
(6) State the aims of WTO.

2.  Answer the following questions in 200 words each (any fwo) : [20]
(1) State in brief the structure and powers of International Court
of Justice.
(2) Explain the functions of UN Peace-keeping Forces.
(3) Explain the origin, structure and objectives of SAARC.

(4) Explain the structure and functions of European Union.

P.T.O.



3. Answer any one of the following questions in 400 words : [20]

(1) Explain the origin, structure and objectives of UN.

(2) Explain the structure, objectives and functions of ASEAN.
4.  Write short notes on (any four) : [20]

(1) Security Council

(2) Enforcement action

(3) Declaration of Human Rights

(4) SAARC and India

(5) Structure of NAFTA

(6) Functions of WTO.

(TS ®UI)

d% : W aE THUT 7T : 80

oAl :— (i) W WA Hisfau eRds .

(ii) SoEIhEl® 3k HYAE YO O SRiferdra.

1. @od JeEEl SW Ydwl 100 v fag (S |w) e [20]
(1) 9gF U HE T H
(2) WAl R WUS hE 7
(3) HIH USIH HHISHR  &/JeA hE HAL
(4) enfgaFE= 3 W @A
(5) JUTA Faa=i Sfee @ &
(6) SIFIfdeh SAMR o4 Bq/35%d 9.

2. WO YRl W UEET 200 veed foel (IR @) e [20]

(D

[5201]-3052

AR A= = 37 Hrd/AH&R - dreaa 9rm.
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(2) UgH TS U S HifeH=l wE W &
(3) HehdEl 3w, A1 Mo Sfesey e &AL
(4) JURREE FHET= @ T & W &

3. TOAUHl HIVAE Tk IEAET SW 400 =MW o [20]
(1) ogad o=t Scot, AT s Sfegsesr @
(2) SfgaE= A1 ST HE TR HA

4, dgieqa four fagr (Fo@E =\w) e [20]
(1) gan uieg
(2) FHEEEET FHdl
(3) HMEl TIHMET S
(4) 9k S HRd

(5) ATHTE TEAT

(6) SIFMfdes AR FEeI=l .
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[5201]-3052

(D.S.S.-3-B : Terrorism and Counter-terrorism)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) Explain the characteristics of terrorism.
(2) Describe the resources of terrorism.
(3) State the objectives of terrorism.
(4) Explain the nature of terrorism.
(5) State the concept of counter-terrorism.

(6) Explain the types of terrorism.

2.  Answer the following questions in 200 words each (any fwo) : [20]
(1) Explain the communal terrorism.
(2) State the preventive measures of terrorism.
(3) Explain the International terrorism.

(4) Describe the Indian strategy regarding terrorism.

3. Answer any one of the following questions in 400 words : [20]
(1) Describe the counter-terrorism in Jammu and Kashmir.

(2) Explain the politics of terrorism.

4.  Write short notes on (any four) : [20]

(1) Terrorism and International law

[5201]-3052 4



(2) Terrorism and National Law

(3) Organisation of Indian terrorism

(4) Economic implications of terrorism in India
(5) Cross border terrorism

(6) Border Control.

(TS TUIR)
9@ : A d™ THUT TUT : 80
oAl :— (i) |d WA gefan smemds o
(ii) 3SSE%els & YUl U SFifeam.
(iii) TEWEIS T TUST U¥AUIAH] T,

1. TEd YIE SW YIS 100 I forwr (Fod |mw) [20]
(1) CeYqaRrT df¥red W &
(2) TEvEdRE HYd fave &
(3) <EYaEEl Sfes=l |

(4) TEVEORE W®Y W &L

(5) Yfdeevmare Taheqar .

(6) TEIGARE WhR T &

2. WO gEl W Yde 200 e fagr (SvaEr @e) [20]
(1) oifder <A T H.

(2) <EVEARER Yfddyss SU™ 9rTL
(8) AT <T@V TR FH
(4) TCEYCARETAT He9idid 9RdE R fave &
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3. WHcUd! HIVAE Weh FIAET SW 400 IS ol [20]
(1) <H-%eHR wHa gfaesudar foee &

(2) <BYGAR UShRU TS .

4., dgewE foor fa@r (Fomd =ww) [20]
(1) TENEaR A AR HEal
(2) TBY@ElE M0 U Tl
(3) WRANd SBEEE]  HeeHAl
(4) YRAe SeydaR™  snfde  gfiomm
(5) HHMUR TEYIAER
(6) Hmr fEE.
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Total No.

of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[5201]-3053

Time :

N.B.

T.Y. B.A. EXAMINATION, 2017
DEFENCE AND STRATEGIC STUDIES
D.S. S.-4 (A) : Defence Economics
(2013 PATTERN)

Three Hours Maximum Marks : 80
:— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

Answer the following questions in 100 words each (any four) : [20]

(@)
(i1)
(ii1)
(iv)
()
(vi)

What are the post-war problems ?

State the importance of development.

Explain the means of wartime economy.

Explain the strategic minerals.

State the planning of Indian Defence Budget.

Explain the analysis of India’s Defence Expenditure from 2002
to update.

Answer the following questions in 200 words each (any two) : [20]

(2)
(i1)
(ii1)
@v)

Explain the causes of increasing defence expenditure of India.
What are the functions of Estimate Committee ?
Contrast between defence and development.

State the scope of Economic Warfare.

PT.0:



q% :

= T

Answer the following questions in 400 words (any one) :
(1) Describe in detail the means of War Finance.

(i) Explain the features of Indian Economic System.

Write short notes on (any four) :

(i) Internal Threats of India’s Security
(ii) Price Control

(ii1) Importance of War Finance

(iv) War Potential

(v) Problems of Wartime Economy

(vi) Defence.

(WS i)

e A THT T

i— (i) Wd WX HSfaUl SEvEE SR
(i) IVEhErd e FEAE YU O gFifed.

@efid el W gl 100 v foel (FIORl 9r)
(i) SRk THE HOE ?

(i) foemmE Te@ @

(iii) ISP ATATIH oA TR FH

(jv) THRE THS T H

(v) YAl WYY STESTYSIRET  ArSET E.

[20]

[20]

: 80

[20]

(vi) 2002 YA d ST HRAEA WU Ed faverson e 6.
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2. Wod YAl SR YO 200 VRid fewr (R &) [20]
(i) ARl WU T d@ BvErEl hRU TR H.
(i) e WHAE ®E w2
(iii) XU offor ok Adiel wieh T .

(iv) oAfYs Jgugd=l = .

3. WEEld JEAET SW 400 v forel (FUAE Uaw) [20]
(G) Is foaren A Gfos®X 9uiE - &
(ii) YR eEd= dfie T &

4. greHE fow o (SR \9w) [20]
(1)  WRAEAN WA A ek
(ii) Toua =
(iii) Jg fom= w8
(v) F& &Hd
(v) ISHEA NITRI=T GHE
(vi) TREL.

[5201]-3053 3



Total No. of Questions—4]

[Total No. of Printed Pages—3

Seat
Yo, [5201]-3055
T.Y. B.A. EXAMINATION, 2017
COMMERCE
(Business Management)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i) Figures to the right indicate full marks.

Answer in 50 words each (any two) : [10]
() Explain in brief importance of Business Management.

(b) Explain co-ordination and co-operation.

(¢c) Give the meaning of communication.

(d) What is meant by planning ?

Answer in 100 words each (any four) : [20]
(¢) Explain advantages of Committee Organisation.

(b) Explain importance of Planning.

(¢) Discuss Management is an ‘Art’.

(d) State Principles of Communication.

(e) Describe the Process of Control.

(f) Explain the Principles of Direction.

P.T.O.



3. Answer in 300 words each (any three) : [30]
(a) State the recent trends in Management.
(b) State the merits and demerits of Delegation of Authority.
(¢) Explain ‘Total Quality Management’.
(d) State various types of Communication.

(e) State the types of leadership.

4. Answer in 500 words (any one) : [20]
(a) Explain functions of management.

(b) Describe the detail types of organisation.

(W wUIR)

9% : i A TRUT TUT : 80
ol :— (i) |d U diefdu sewed &
(i) 3oERSIE 3w Ui U e,

1. GFd Y= Y&l 50 v Sk foel (ivdel @) e [10]
(37) g™ FIIOAE Hegd e T &
() ‘"=’ enfor ‘weed’ WUS T ?
(%) TovmEeqrer g g

() T =N &E ?

2. WW YEE YIS 100 IS S fewr (FveE e mw) [20]
() Ifdr ggd=a Oued EHd BEe W &

(F) A= Ted W= HA.
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(&) AIAUT Tk ‘el IR <I9S

(8) HeyEedAEl dd 9.
(3) Troom=t wfean fave =
(%) fRYART dd W< &J.

3. WA YNl Yodwl 300 I SW R (FUeEl A o [30]
(31) AU YR Yo .

(9) oIfYsR YSHENE ®Ee 9 HIQ 9.

(%) ‘HYU TR YT R .
(8) wevew e fafas wR @AM
(3) Agcra YHR G

4, TEld geEET 500 Y[ SW ol (VAR TE) [20]
(31) FEEAUAE HE TR FH.
(§) Iuedd YR Tfawr fave &
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Total No. of Questions—4]

[Total No. of Printed Pages—3

Seat
o [5201]1-3056
T.Y. B.A. EXAMINATION, 2017
G3 : EDUCATION
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

Answer the following questions in 100 words each (any four) : [20]

(1)
(2)
(3)
(4)
(5)
(6)

Explain the impression aspect of discipline.

Explain the effect of globalisation on higher education.
Explain the role of school in disaster management.
Write the characteristics of personality.

Write the educational importance of perception.

Write the characteristics of good mental health.

Answer the following questions in 200 words each (any two) : [20]

(D

(2)
(3)

(4)

What is concept ? Explain the educational importance of
concept.

Explain the problems in higher education.

Explain the nature, importance and limitations of demonstration
method.

What is individual difference ? Explain the educational

importance of individual differences.

P.T.O.



3. Answer any one of the following questions in 400 words : [20]
(1) What is school indiscipline ? What are the causes of
indiscipline ? Suggest the remedial measures to overcome them.

(2) What is guidance ? Explain the need and importance of guidance.

4.  Write short notes in 50 words each (any four) : [20]
(1) Action Research
(2) Limitations of Discussion Method
(3) Mental health
(4) Factors affecting on personality
(56) Concept of riot

(6) Educational importance of imagination.

(& i)

q% : dF A THUT TUT : 80
ol :— (i) Wd YR Giefaul SAewEsd e
(ii) SoEhStE % YUl U geifadm.

1. TFd Y=l W gdd 100 i foel (Fivdel e ) [20]
(1) T gweErEsds f9g[ o &
(2) SIIdeRTRIOT=T  IARIEUERIE IR T .
(3) AN HOEATYA Tesdl HfHAHT TS HL
(4) SAlFaTErE At foer.
(5) oo VafrR Wew™  foml.
(6) =l HAEMAS AR @igm ferer

2. WA YEAED SW TIH! 200 v fowr (HoE F) : [20]
(1) TeheUdl WS &E ? Ghoddd JA0F A e &
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4.

(2) S=HERILIUMTl 9HE T2 .
(8) foee@ ugdie wWE®Y, He@ 9 HIQT TR HA
(4) SfFie wWUN &M@ ? AfFIeE Nufe Ted W &

Ted ®IUAE Teh JeAEl 400 ¥R SW forer [20]
(1) e A RS #1E ? SfRdE HR0 SO 2 d g wAe

(2) HFlEYH WUS ®E ? HUCYANED SEavdehdl o TS TS .

T& 50 ¥ du faw (Fvhd Ww) [20]
(1) Sl HMEA

(2) == Ugden waAwe

(3) WHfG® SRIA

(4) SAfFKHAEL YRUMH FOM HZH

(5) TSIl Hehedl

(6) “hegad VIR HeEd.
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Total No. of Questions—5] [Total No. of Printed Pages—6

Seat

Y. [5201]-3057

T.Y. B.A. EXAMINATION, 2017
INDUSTRIAL MATHEMATICS
FMG-3 : Financial Mathematics and Graph Theory
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Attempt any eight of the following : [16]
(z) If I am offered either ¥ 6,000 now or ¥ 10,000 in seven
years time, which should I accept, given the fixed interest

rate of 8% ?

(ii) Explain the terms :

(a) startup
(b) breakeven point.

(iti) Determine whether the Cobweb model predicts stable or
unstable equilibrium for the market with ¢S(p) = 2p - 3,
P = 18 - p.

(v) Prove that, at the price which maximises revenue, the
elasticity of demand equals 1.

P.T.O.



(v)

(vi)

(vii)

(viii)

(ix)

(x)

2. (A

(B)

[6201]-3057

Explain the terms :

(@) Technology matrix

(b) Leontief matrix.

Define Graph. Draw a graph with four vertices and four
edges.

Prove that a complete graph K, is (n — 1) regular.

Give an example of a non-Eulerian graph.

Define Hamiltonian graph. Give an example of a Hamiltonian
graph.

Define n-connected graph. Give an example of a 2-connected

graph.

Attempt any one of the following : [6]

(i) Explain the Cobweb model.

(i) Derive the formula for income generated by an annuity
of I for N years, given the fixed interest rate r.

Attempt any fwo of the following : [10]

(1) The supply and demand functions for a commodity are
Sp) = 12p — 4, ¢P(p) = 8 — 4p. If an excise tax of
T is imposed, what are the selling price and quantity
sold, in equilibrium ?

2



3. A

[52011-3057

(i1)

Suppose you own a piece of land whose value V(¢) after
t years is V(¢) = e‘/?. Assuming that interest on a bank
deposit will be compounded continuously at the equivalent
annual rate of 12.5%, write down an expression for the
present value of the amount realised by selling the land

after ¢ years, and determine the optimum time to sell.

(iii) The demand set for a good is :
D = (g plgl + p? = 100}
Determine the elasticity of demand e(p) as a function
of p. For what values of p is the demand inelastic ?
Attempt any one of the following : [8]
() A factory makes two goods, grommets and widgets. To

make $ 1 worth of grommets requires $ 0.1 worth of
widgets, and to make $ 1 worth of widgets requires
$ 0.15 worth of grommets and 0.05 worth of widgets.
There is an external demand for $ 500 worth of grommets
and $ 1000 worth of widgets. What should be the total

production of each commodity ?

3 PT.O:



(i1) The supply and demand sets for a good are :
S =1g plg =bp - al, D = g, plg = ¢ - dpl,
where a, b, ¢, d are all positive. Suppose the government
wishes to raise as much money as possible by imposing
an excise tax on the good. What should be the value
of the excise tax ? What is the resulting government
revenue ?

(B) Attempt any two of the following : [8]

(i) Prove that in any graph G there is an even number
of odd vertices.

(i1) Let G be a k-regular graph, where k£ is an odd number.
Prove that the number of edges in G is a multiple
of k.

(ziz) Find incidence matrix of the following graph :

[5201]-3057 4



4.

5.

[52011-3057

(A)

(B)

(A)

Attempt any one of the following : [6]

(Z) If T is a tree with n vertices then prove that T has
precisely n — 1 edges.

(i) Let T be a tree with n vertices, where n > 4, and let
V be a vertex of maximum degree in T. Prove that T
is a path if and only if d(v) = 2.

Attempt any two of the following : [10]

(i) Let G be a connected graph. Then prove that G is a
tree if and only if G is a bridge.

(i1) Explain Kruskal’s Algorithm.

(ii1) Let v be a vertex of the connected graph G. Then prove
that v is a cut vertex of G if and only if there are
two vertices u and w of G, both different from v, such

that v is on every u — w path in G.

Attempt any one of the following : [6]
(i) Prove that a connected graph G is Euler if and only
if the degree of every vertex is even.

5 PT.O:



(ii) Using Prim’s algorithm construct a minimal spanning

tree in the following weighted graph.

(B) Attempt any two of the following : [10]
(1) Explain Fleury’s algorithm.
(1) Prove that a simple graph G is Hamiltonian if and only
if its closure c¢(G) is Hamiltonian.
(iii) Show that a bipartite graph G with bipartition

G = X U Y is Hamiltonian then IXI| = [YI.

[6201]-3057 6



Total No. of Questions—5] [Total No. of Printed Pages—8

Seat

Y. [5201]-3058

T.Y. B.A. EXAMINATION, 2017
MATHEMATICAL STATISTICS (GENERAL)
(Statistical Inference)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory
(i) Figures to the right indicate full marks.
(itzz1) Use of statistical tables and calculator is allowed.

(fv) Symbols and abbreviations have their usual meaning.

1. Attempt each of the following : [1 each]
(A) State whether each of the following statements is true or
false :
(i) Pivotal quantity used for the construction of confidence
interval for o2 in case of N(u, o2?) distribution follows
Chi-square distribution.
(1) Maximum likelihood estimators are always unbiased.
(iit) SPRT always requires more sample observations to come
to a conclusion than the test based on Neyman-Pearson
lemma.

(fv) MP test is always a UMP test.

P.T.O.



(B)

[5201]-3058

Choose correct alternative in the following : [1 each]

@)

(i1)

(ii1)

If T, be unbiased linear estimator of 6 and T, be any
other unbiased linear estimator of 6 such that var(T,)
< var(Ty), then :

(@) T, is the best linear unbiased estimator

(b) T, is the best linear unbiased estimator

(c) T, is a consistent linear unbiased estimator

(d) T, is a consistent best linear unbiased estimator

If X, Xy coveeeeen X

. is a random sample drawn from

U(-6, 6) then m.l.e. of the parameter 0 is :

(@) max{-X;), X

b) max{X;), X))

(¢) min{X,), X}

(d) min{-X,, X}

Rejecting null hypothesis when alternative hypothesis is
true leads to :

(a) level of significance

(b) type I error

(¢c) type II error

(d) power of a test

2



(iv) The following non-parametric test is used for testing
hypothesis of goodness of fit of a distribution :
(@) Sign test
(b) Run test
(c) Kolmogorov-Smirnov test
(d) Mann-Whitney test
(C) Answer in brief : [2 each]
(1) State the Crammer-Rao inequality.

(i) If T follows binomial distribution with parameter n and

T - T)
0, then show that m is an unbiased estimator

of 6(1 — 0).
(iii) Define Wald’s SPRT of strength (o, f).
(fv) State Neyman-Pearson (N-P) lemma for constructing the

most powerful level o test.

2. Attempt any four of the following : [4x4=16]
(A) State Pitman-Koopman form for existence of sufficient
statsitics. If T is sufficient for 6, then show that ¢(T) is also
sufficient statistic for 6, provided ¢ is a one-to-one and onto

function.

[5201]-3058 3 P.T.O.



(B)

(C)

(D)

(E)

(F)

Examine whether the sample mean is minimum variance bound
unbiased estimator (MVBUE) of 6 for the distribution, with
p.d.f.

1
f(x,9)=ae 0,x20.

Define sufficient estimator of a parameter 6. Further show
that if sufficient estimator exists, it is function of m.l.e.

Let :
1
f(x,6)=6,0<x<6

Obtain maximum likelihood estimator of 6.

With usual notations prove that, if T is consistent estimator
of 6 and ¢(.) is a continuous function, then ¢(T) is a consistent
estimator of ¢(0).

On the basis of a random sample of size n from N(u, c2),
obtain 100(1 — ®)% confidence interval for u when o2 is

unknown.

3. Attempt any four of the following : [4x4=16]

(A)

(B)

[5201]-3058

Define Fisher’s information function and state its use. Obtain
information function I(a) for G(o, A) distribution where A is
known.

State Neyman’s factorization criterion for finding sufficient statistics
for unknown parameter 0. Given a random sample of size n
from Poisson distribution with parameter m, obtains sufficient

statsitic for m.



(©)

Define consistent estimator of parameter 6. Examine whether
the sample mean is a consistent estimator of the parameter

0 of the following distribution :

1 |
f(x,@)z;(x_e)z,—oo<x<oo.

(D) Given a random sample 3.6, 4.8, 5.4, 6.6, 7.2, 11.2 from the
distribution with density :

f(x, 6)=é(6—x), 0<x<6,0>0,
Estimate 6 by the method of moments.

(E) Define uniformly minimum variance unbiased estimator (UMVUE)
of a parameter. Show that UMVUE is unique when it
exists.

(F) Let X,, X,, X3 be a random sample from a Poisson distribution
with parameter m. It T, = LT 2x62 * 3% and T, = ot x32 . x3,
find the efficiency of T; with respect to T,.

4. Attempt any two of the following : [2x8=16]

(A) Explain notion of likelihood ratio test (LRT). Construct LRT

[5201]-3058

of level of significance o for testing H, : u = u, against
H, : u# u, where p is the mean of N(u, o2) distribution

where o2 is known.

5 P.T.O.



(B)

(©)

(D)

Explain one tailed and two tailed test procedure of run test.
The following sequence shows the rise (R) and fall (F) in the
price of share for 15 consecutive days.
RRRFRFFRFFRFFRF

Test the randomness of the sequence at 5% level of
significance.
Explain empirical distribution function S, (X) as estimator of
F(.). State its properties. Test whether the following
sample can be regarded as taken from the distribution having
p.d.f.

fx)=4x" 0 < X <1
0.93, 0.85, 0.95, 0.98, 0.83. Use o = 0.05.
Explain most pwerful (MP) level a test and uniformly most
powerful (UMP) level o test. Let a random variable X follow
binomial distribution with parameters n = 10, p. It is required
to test Hy : P = 0.4 against H; : P > 0.4. Construct a UMP

level o test for testing H, against H;.

5. Attempt any one of the following : [1x16=16]

(@)

[5201]-3058

(i) Explain SPRT as a function of sufficient statistics. Let
X follow normal distribution with mean 6 and variance
02 = 100. Carry out SPRT to test Hy : 6 = 75 against
Hy : 6 = 80 with o = f = 0.10 by using the following
sequence of observations : [10]
87.7, 81.2, 62.7, 88.7, 56.8, 87.5, 63.9, 80.8, 66.3, 50.2
Also present the test graphically.

6



(®)

[5201]-3058

(i) In a controlled environment, eight men and ten women

(@)

were tested to determine the room temperatures they found
to be most comfortable. The following results were
obtained :

Men 72 76 70 68 66 75 73 75

Women 75 77 77 73 79 78 8 76 T4 T2
Assuming that these samples are random samples from
their respective populations, test whether the average
comfortable temperature for men is lower than that for
women using Mann-Whitney test (Use 5% level of
significance). [6]
Explain power function of a test and power curve. It is
assumed that height of soldiers follows Normal dsitribution
with mean 68 inch. It is required to test whether the
variance of heights is 4 inch? against that it is less than
4 inch2?. Set suitable null and alternative hypothesis and
construct UMP test based on a random sample of size
20 for testing stated hypothesis at 5% level.

Draw power curve by considering variance = 1.24, 191,

2.245, 2.67 and 3.49. [11]

7 P.T.O.



(i) In a township the milk consumption of the families is
assumed to be exponentially with mean 6. The hypothesis
Hy : 6 = 6, = 5 is rejected in favor of H; : 6 = 0; =
10 if a family is selected at random consumes 15 units
or more. Obtain the size of the critical region and the

probabilities of type I and type II errors. [5]

[5201]-3058 8
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[5201]-3059

T.Y. B.A. EXAMINATION, 2017
ENGLISH

General Paper III

(G-3 : Advanced Study of English Language and Literature)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

Texts :— (i) A Collection of Indian English Poetry by Radha Mohan

N.B. :—

Singh
() Linguistics : An Introduction by Board of Editors
(i) All questions are compulsory.

(1) Figures to the right indicate full marks.

1. Attempt any two of the following in about 100 words each : [16]

(2)

(1)
(ii1)

(iv)

How does the speaker describe the beauty of his beloved
Cashmerian girl in the poem ‘Song of the Hindustanee
Minstrel” ?

Write a note on the central theme of the poem ‘Peace’.
Discuss the theme of patience in the poem ‘Poet, Lover,
Birdwatcher’.

Why does Adil Jussawalla Call Bombay ‘a surrogate city’ ?

P.T.O.



2. Attempt any four of the following in about 100 words each : [16]

(@)
(i1)
(ti1)
(iv)
()
(vi)

Syntax

Complements and adverbials as parts of a clause
Transitive and intransitive verbs

Subject-verb concord

Wh-questions

Functional classification of sentences.

3. Attempt any fwo of the following in about 100 words each : [16]

(@)

(1)

(ii1)

(iv)

The father described in the poem “Tribute to Papa’ is a typical
Indian middle class man. Discuss.

How does Agha Shahid Ali glorify the Indian culture and history
in the poem ‘The Seasons of the Plains’ ?

How does the poem ‘The Captive Air of Chandipur-on-Sea’ deal
with the theme of nostalgia ?

Comment on the modern man’s faithlessness and rootlessness

reflected in the poem ‘The Bus’

4. Attempt any fwo of the following in about 100 words each : [16]

(2)
(i1)
(iii)

(iv)
[5201]-3059

What is Semantics ? Explain its scope.
Explain the difference between homonymy and polysemy.
What is the difference between denotative and connotative
meaning ? Illustrate.
Write a note on homography and homophony.

2



5. Attempt any fwo of the following in about 100 words each : [16]

(2)

(i1)
(ii7)

(Iv)

[52011-3059

Write a note on Pragmatics and the relevance of social code
of conduct in the use of language.

Explain locutionary, illocutionary and perlocutionary speech acts.
Discuss any fwo maxims of cooperative principle with suitable
examples.

Describe with suitable examples the agreement maxim and the

sympathy maxim of politeness principle.



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

- [5201]-3060

T.Y. B.A. EXAMINATION, 2017
ENGLISH
Special Paper III
(S-3 : Appreciating Novel)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
Texts Prescribed :
(i) Animal Farm : George Orwell
(zt1) The Old Man and the Sea : Ernest Hemingway
(tii) The Guide : R. K. Narayan
N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any four of the following : [16]
(a¢) How important are the setting and the atmosphere in a novel ?
Discuss in brief, giving examples.
(6) What do you understand by a psychological novel ? Explain
with examples.
(c) Explain the term “stream-of-consciousness” with some examples.
(d) What are the major elements in a novel ? Explain each of
them in brief.

PT.0:



(e) Do you think a novel using a first person narrative
technique becomes highly subjective ? Justify your answer
with examples.

() Give some examples of novels that contain an element of social
satire.

2. Answer any one of the following : [16]

(a) Bring out fully the major historical parallels that we find in
Orwell’s Animal Farm.

(b) Attempt a character sketch of Snowball based on Orwell’s Animal
Farm.

3. Answer any two of the following : [16]

(a) Bring out the relationship between Man and Nature in Hemingway’s
The Old Man and The Sea.

(b) Can we consider the sea itself as a character in Hemingway’s
The Old Man and The Sea ? Discuss.

(¢) Write a note on the narrative technique used by Hemingway
in The Old Man and The Sea.

4. Answer any two of the following : [16]

(a) Consider Raju as the “hero-villain” of R. K. Narayan’s The
Guide.

(6b) Write a note on the title of the novel, The Guide.

(¢) Comment on the minor characters in R. K. Narayan’s novel,

[5201]-3060

The Guide.



5. Answer any four of the following : [16]

(@)

®)

()
(d)

(e)

1)

[52011-3060

Comment on the use of the technique of flash-back in the
context of any one of the novels you have studied.
Explain the terms “life-like” and “living” (also labelled as “flat”
and “round”) characters used by E. M. Forster in his work,
Aspects of the Novel. Give examples from the novels you have
studied.

Consider R. K. Narayan’s The Guide as a regional novel.
Why do you think George Orwell made use of the “fable” form
for writing Animal Farm ? Elaborate.

Write a note on the plot structure of Hemingway's The Old
Man and The Sea.

Comment on the “loose, episodic” structure of the plot in Orwell’s

Animal Farm.



Total No. of Questions—5]

[Total No. of Printed Pages—4

Seat
o, [5201]-3061
T.Y. B.A. EXAMINATION, 2017
ENGLISH
Special Paper IV
(S-4 : Introduction to Literary Criticism)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(i) Figures to the right indicate full marks.

Attempt any fwo of the following questions : [16]

(2)

Examine how Johnson departs from neo-classical tenets in

defending Shakespeare.

(i) Explain Aristotle’s theory of art as imitation.

(iit) Examine Wordsworth’s definition of poetry.

(fv) What, according to Arnold, is the function of criticism ?

Attempt any fwo of the following questions : [16]

(z) Explain Lucka’s concept of realism.

(it) Which are the four kinds of meaning according to I.A.
Richards ?

(iiz) Explain Allen Tate’s notion of extension and intension.

(iv) Bring out the various shades of the term ‘tradition’ in Eliot’s

essay.

PT.0:



3. A
(B)
4. (A
(B)

[5201]-3061

Attempt any one of the following questions : [8]

(z) Examine Dryden’s views on tragi-comedy.

(ii) Examine Eugenius’s claim about the superiority of the
moderns over the ancient dramatists.

(iz1) Examine Dryden’s views on French drama.

Attempt any one of the following questions : [8]

(i) Explain Coleridge’s views on nature poems.

(ii) Explain how Coleridge distinguishes between poetry and
a poem.

(iit) What, according to Coleridge, is the basic difference between
poetry and prose ?

Attempt any one of the following questions : [8]

(i) Comment on Helen Gardner’s view that criticism has become
increasingly professionalised.

(i) Do you agree with Helen Gardner’s view that Elucidation
or illumination is the critic’s primary task.

(iiz1) Sum up Gardner’s ideas of criticism as implied in ‘The
Scepture and the Torch’.

Attempt any one of the following questions : [8]

(z) Clarify Frye’s notion of the “lower” and “upper” limits
of criticism.

(i) Examine Frye’s views on aestheticism and evaluative
criticism.

(iit) Comment on Frye’s view that literature cannot be

taught.



5. (A) Explain any four of the following literary and critical

terms : [8]
(z) text
(ii) irony

(iit) point of view

(fv) setting and local colour
(v) round and flat characters
(vi) ambiguity.

(B) Read the following poems and answer the questions that follow
(any four) : [8]
After great pains, a formal feeling comes—

The Nerves sit ceremonious, like Tombs—
The Stiff Heart questions was it He, that bore
And Yesterday, or Centuries before ?

The Feet, mechanical, go round—
Of Ground, or Air, or Ought—
A Wooden way

Regardless grown

A Quartz contentment, like a stone—
This is the Hour of Lead—

Remembered, if outlived

As Freezing persons, recollect the Snow—

First—Chill—then Stupor—then letting go—

[5201]-3061 3 P.T.O.
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Questions

(@)

(i1)
(iii)
(iv)
()

(vi)

What is the meaning of the phrase ‘a formal feeling’
in the poem ?

What is the main theme of the poem ?

Comment on the use of rhyme in the poem.
Explain the tfwo similes used in the poem.

Explain the psychological stages presented in the
poem.

How far is it true to say that it is a memory

poem ?



Total No. of Questions—5]

[Total No. of Printed Pages—4

o [5201]1-3062
T.Y. B.A. EXAMINATION, 2017
MATHEMATICS GENERAL
MG-3 : Group Theory and Ring Theory
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.
1. Attempt any eight of the following : [16]
(a¢) Give an example of an abelian group that is not cyclic.
(b) Prove that identity is unique in a group.
(c) State Lagrange theorem for finite groups.
(d) Define a normal subgroup of a group G.
(e) Let (1, 4, 5, 6) and (2, 1, 5) be cycles in the group Sg. Find
(1, 4, 5, 6,) (2, 1, 5).
(f) Show that {0, 2, 4} is a subring of Zg.
(g) Define integral domain. Give an example of integral domain.
(h) Show that the correspondence x — 5x from Zg to Z;, does
not preserve addition.
(1) Give an example of a commutative ring without zero divisors
that is not integral domain.
(j), Give an example of an irreducible element in Z[/-3] that

is not prime.

P.T.O.



2. (A
(B)
3. (A

[6201]-3062

Attempt any one of the following : [6]

(@) Prove that every permutation o of a finite set A is a
product of disjoint cycles.

(b) Prove that any subgroup of a cyclic group is cyclic.

Attempt any two of the following : [10]

() Prove that every subgroup of an abelian group is a normal
subgroup.

(b) Prove that the group Q* of non-zero elements of Q under
multiplication is not isomorphic to the group C* of non-
zero complex numbers under multiplication.

(¢) Compute the indicated product of cycles that are per-
mutations of :

{1, 2, 3, 4, 5, 6, 7, 8}
@ (1, 4, 5 (7, 8 (2, 5, 7)
@) (1, 3, 2, 7) (4, 8, 6).

Attempt any two of the following : [8]
(@) Show that if H is a subgroup of index 2 in a finite
group G, then every left coset of H is also a right coset
of H.
(6) Compute the factor group :
(Zy x Zgl<(0, 2)>.
(¢c) Show that every proper subgroup of a group of order

77 is cyclic.



(B)

4. (A

(B)

[5201]-3062

Attempt any one of the following : [8]

(@) Prove that cancellation law hold in a ring R if and only
if R has no zero divisors.

(b) If a is an integer relatively prime to n, then prove that
o _1 is divisible by n that is :

a®™ =1 (modn).

Attempt any one of the following : [6]
(a) Find all solutions of the congruence :
15x =27 (mod 18).
(b) Prove that an element ,cF is a zero of f(x)eF[x] if
and only x — a is a factor of flx) in Flx].
Attempt any two of the following : [10]
(@) In Zglx], divide :
Fx)=x*=3x> +2x* +4x -1
by g(x)=x*-2x+3 to find quotient g¢(x) and
remainder r(x).
(b) Show that :
25x° —9x* —3x% 12
is irreducible over Q.
(c) Prove that a ring homomorphism ¢:R — R' is a one-

to-one map if and only if ker(¢p)= {0}.

3 P.T.O.



5. Attempt any two of the following : [16]

(@)

®)

(c)

[6201]-3062

Let R be a commutative ring with unity. Prove that M is
a maximal ideal if and only if R/M is a field.

If D is a UFD, then prove that a product of two porimitive
polynomials in Dl[x] is again primitive.

Prove that every Euclidean domain is a PID.
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T.Y. B.A. EXAMINATION, 2017
MATHEMATICS
MS-3 : Metric Spaces and Complex Analysis
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any eight of the following : [16]

1
(@) In usual metrix space R,, find open ball S, (0) for f’=5.

(b) State whether true or false and justify. The set Z is open

in discrete metric space Rj.

(c) Let R, be the usual metric space. Find interior of the cantor

set.
(d) Let R, be the usual metric space. Find 5/N.

(e) Prove that in a metric space, every convergent sequence is
bounded.

PT.0:



@)

(h)

(2)

)

2. (A)

[5201]-3063

Find the principal argument Arg z, if

2
1+\/§i '

z =

If f(z)=(01-4z*), find f'(2).
Prove that sinhz=0 if and only if :
z=nni (n=0,%1,%2, ... ).

Evaluate :

If(z) dz

C
where the contour C is the positively oriented circle
Izl = 1 and flz) = ze™=.

Write sinz in terms of Maclaurin’s series and use it to find

the Laurent series that represents the function :

f(z):zzsin(lj,

2
where 0 <| z| <.
Attempt any one of the following : [6]

(@) Let (X, d) be a metric space. Prove that finite intersection

of open sets in X is open.

() In the usual metric space R, give A, B c R, such that :

ANB#ANB.



(B)

3. (A

[52011-3063

Attempt any fwo of the following : [10]

(@)

Let {x,} be a sequence in a metric space (X, d) such
that }llfolo X, =X_ Let A be the range of the sequence

{x,}. Prove that :

(@) If A is a finite set, then x, = x for infinitely

many n.

(i) If A is infinite set, then x is a limit point of A.

(6) Prove that the Euclidean space R is a complete metric
space.

() Let (X, d) be a metric space and (Y, dy) be a
subspace of (X, d). Prove that if Y is closed, then Y
is complete.

Attempt any one of the following : [8]

(a) Let (X, d) be a metric space and v ~x. Prove that
if X is separable, then Y is separable.

(b) Let (X, d) and (Y, p) be metric spaces and

f:X—>Y be a function. Prove that f is continuous if
and only if 7 '(F) is closed in X whenever F is closed

in Y.

3 P.T.O.



(B)

4. (A

(B)

[5201]-3063

Attempt any fwo of the following : [8]

(@ Show that if / (z)=§, then the limit lim f(z) does not
exist.

(b) Show that :

u(x, y) =sinh x sin y
is harmonic in some domain and find a harmonic conjugate
Vix, y).

(c) Let f(z)=z-1 and C be the arc from z = 0 to z = 2
consisting of the semicircle z=1+¢"(n<6<2n). Evaluate
qu@)dz.

C

Attempt any one of the following : [6]

(@) State and prove Cauchy-Integral formula for f(z) at z =z,.

(b) Prove that if a function f that is analytic at a point
zp has a zero of order m there, then there is a function
g, which is analytic and non-zero at z;, such that :

f(2)=(z-z2)" g(2)-
Attempt any fwo of the following : [10]
(@) Find all roots of :

(-8 —8+/3 i)""4.



(b) Let flz) be the function defined by the equations :
1 when y<0
f(z)=
4y when y>0
and C be the arc from z=-1-i to z=1+i along the

| 1) dz.
C

curve y=x’. Evaluate

(¢c) Let u and v be the real and imaginary components of
the function f defined by the equations :

[z

f(z)=4\z

0 when z=0

2
j when z#0

Verify Cauchy-Riemann equations #,=v, and u,=-v,
are satisfied at the point (0, 0) but f'(0) does not

exist.

5. (A) Attempt any one of the following : [6]
(@) State and prove Cauchy’s residue theorem.

(b) State and prove the fundamental theorem of algebra.

(B) Attempt any fwo of the following : [10]

1
(@) Find the Taylor series for the function > about z,=2.

Hence show that :

1 1 . -2
—272 (-1) (n+1)(z2 j (z-2<2).

z n=0

[5201]-3063 5 P.T.O.



(6) Find the value of the integral :

dz

J' z +2

oz (z+4)

taken counter clockwise around the circle Izl = 2.

(c) Give two Laurent series expansions in powers of z for

the function :

1

f(Z)=m

and specify the regions in which those expansions are

valid.

[5201]-3063 6
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T.Y. B.A. EXAMINATION, 2017
MATHEMATICS
MS-4 : Ordinary and Partial Differential Equations
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any eight of the following : [16]
(@ If f(D)=xD+2 and g(D)=D + 5, then compute g(D). (D).
(b) Obtain particular integral of the equation :
(D+1)°y =2e".

(¢) Verify that y, =cosx is solution of the equation :

2
d—);—2tanxﬂ+ 3y =2secx,
dx dx

(d) Define regular singular point of the differential equation :

y"+P()y' +QMx)y =0.

PT.0:



(e)

1)

&)

(h)

(2)

%))

2. (A

[5201]-3064

Find roots of associated equation for

equations :

dx dy
X o2y, B 4x sy
dt v 4

Obtain integral curves of :

xdx dy dz
y3z xz oy -

Determine the equation :
z(z+y)dx + z(x+ z)dy —2xydz =0

is integrable or not.

the system of

Obtain the partial differential equation by eliminating arbitrary

constants ¢ and b from :

z=(x+a)(y+Db).

Define linear partial differential equation of first order. Give

an example of it.

Obtain the general solution of xp + yg=1z.

Attempt any one of the following :

(@) Prove that :

— .8in ax = —cos ax .
D +a 2a

(6]



(6) Explain the method of solving the system :
dx dy
E=a1x+bly, E=a2x+b2y,

where q,, a,, b, b, are given constants, using a pair of
linear independent solutions.

(B) Attempt any two of the following : [10]

(@) Obtain the particular integral of the equation :

X

" 1 €
y'=2y'+y=—
X

by using the method of variation of parameters.
(6) Find power series solution of the differential equation

y'=2xy.
(c) Find the general solution of the equation :

(D> +4)y = cos2x +cosdx.
3. (A) Attempt any two of the following : [8]
(@) Solve :
(D*+1)y = xe*.

(b) Solve :

xyvv_yv:3x2

using the method of reduction of order.
(¢c) Find regular singular points of the differential equation :
2+ y"+(x* =1)y'+2y =0.

[5201]-3064 3 P.T.O.



(B)

4. (A

[5201]-3064

Attempt any two of the following : [8]

(@) Show that direction ratios of tangent line to the curve
C made by the surfaces F(x,y,z)=0 and G(x,y,z)=0
at a point P(x,y,z) are :

{a(F,G) oF,G) G(F,G)}
0(y,2) " 0(z,x) " (x,)
(b) Solve :
de _dy __ d:
xy y? xyz—2x*"

(c)  Obtain partial differential equation by eliminating arbitrary

function from :
Z:F(\/x2+y2),

Attempt any one of the following : [6]

(a) Prove that, a necessary and sufficient condition that the
Pfaffian differential equation X.dr = 0 should be integrable
is that X.curlX = 0.

(b) Explain Natani’s method for solving Pfaffian differential

equation :

P(x,y,z)dx + Q(x,y,z)dy + R(x,y,z)dz =0.



(B)

5. (A

[5201]-3064

Attempt any two of the following : [10]

(a) Find the integral curves of the equations :

dx dy dz

vix+y)+az x(x+y)—az z(x+y)’

(b) Find the equations of the system of curves on the cylinder

2 orthogonal to its intersections with the hyperboloid

2y=x
of the one parameter system xy=z+c.
(¢) Verify that the equation :
yzdx + 2xzdy — 3xydz =0
is integrable and find its primitive.

Attempt any one of the following : [6]
(@) Show that general solution of the linear partial differential
equation :
P(x,y,2)p + Q(x,y,2)q = R(x,y,2)

is F(u,v)=0, where F is an arbitrary function and
u(x,y,z)=c¢, v(x,y,z) = ¢, form a solution of the equations

dx _dy _dz
P Q R°

(b) Explain Charpit’s method for solving a partial differential

equation :

f(x,y,2,p,q9)=0.

5 P.T.O.



(B) Attempt any tfwo of the following : [10]
(@) Show that the equation :
pP+q -1=0, (p>+q)x—pz=0

are compatible and find a one parameter family of common

solution.
(b) Find complete integral of the equation p?;?+4%=1.

(¢) Find integral surface of linear partial differential

equation :

x(V +2)p-yx* +2)g =" -y)z

which contains the straight line x+y=0, z=1.

[5201]-3064 6
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T.Y. B.A. EXAMINATION, 2017

STATISTICAL PRE-REQUISITES (GENERAL)

(2013 PATTERN)

Hours Maximum Marks : 80

Figures to the right indicate full marks.
Answers should be precise and to the point.
Use of non-programmable calculator is allowed.

Symbols have their usual meaning.

Seat
No.
Time : Three
N.B. — (i) Attempt All questions.
(i7)
(Zi7)
(iv)
(v)
1. (a)

State whether the following statements are true or false :

(@)

(i1)

(zi1)

(iv)

[4x1=4]
For a continuous random variable the relation between
density function flx) and the distribution function F(x)

s
d
f(X)—EF(X).

For normal distribution all odd ordered central moments
are zero.

In testing of hypothesis alternative hypothesis can be one
sided or two sided.

For testing equality of two population proportions we can

use t-test.
P.T.O.



(b) Choose the correct alternative : [4x1=4]
(z) The type of kurtosis of a normal distribution is :
(1) mesokurtic
(2) leptokurtic
(3) platykurtic
(4) none of the above
(zi) Distribution function of a continuous random variable X
i1s a :
(1) increasing function of X
(2) non-decreasing function of X
(3) decreasing function of X
(4) constant function of X
(iii) R-charts are used for checking whether the process is
in control with respect to :
(1) average
(2) number of defects
(3) percentage defective
(4) range
(fv) In analysis of variance two-way classification the degrees
of freedom for error sum of squares is :
(1 = -1
2 € -1
QG r -1 (c -1
4 r -1 + (c - 1)

[6201]-3065 2



(c) Answer in brief : [4x2=8]
(z) If X is a continuous random variable with density
function :
f(x)_{6x(1—x), 0<x<l
0, otherwise
obtain P(X < 0.4).
(zz) Define continuous random variable.
(ii) State the control limits for X -Chart.
(fv) State any two assumptions of analysis of variance.
2. Attempt any four of the following : [4x4=16]
(@) If X ~ N (10, 100) distribution, obtain
i) PX=215)
(i) PGB <X<15)
(b) Define :
(i) Hypothesis
(i) Standard error of test statistic
(1ii) Level of significance
(tv) Test statistic
(¢c) An automatic machine is designed to fill tins with 2 kg. of

[5201]-3065

oil with a standard deviation of 0.1 kg. A sample of 100 tins
was examined and the average weight was found to be 1.98

kg. Can we say that the machine is working properly ? Use

5% L.O.S.
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(d)

The following table gives the information about illiterate persons

in two cities A and B.

City Sample Size No. of Illiterate Persons

A 20,000 6236
B 25,000 8120

Can we conclude that proportion of illiterates is same in both

the cities ? Use 5% L.O.S.

(e) Explain the concept of analysis of variance in brief.
() Given below is a sample of 10 lengths of rods produced on
a lathe machine. The population median length is claimed to
be 0.5. Test this claim at 5% L.O.S.
0.37, 0.62, 0.47, 0.52, 0.64, 0.43, 0.82, 0.68, 0.35, 0.42.
3. Attempt any four of the following : [4x4=16]
(a) If X is a continuous random variable with probability density
function :
1 0<x<5
f(x) =15
0, otherwise
Obtain :
i) P(X=2)
(i) P <X<4)
(6) Out of a sample 100 residents in a certain area 73 were found

[6201]-3065

to own their homes. Test the hypothesis that proportion of
house owners is 80% against the alternative that it is less
than 80%. Use 1% L.O.S.

4



(c)

Distinguish between parametric and non-parametric tests of

hypothesis.

(d) A sample analysis of examination results of 200 MBA’s was
done. It was found that 46 students have failed, 68 secured
third division, 62 secured second division and rest were placed
in the first division. Are these figures consistent with the general
examination result which is in the ratio of 2 : 3 : 3 : 2,
for various categories respectively. Use 5% L.O.S.

(e) Explain in brief the procedure for construction of control chart
for fraction defective (p-chart).

(f) The following data represents information about the result of
students from two classes :

Passed Failed
Day Classes 10 20
Evening Classes 6 64
Check the dependence of success in the examination and timing
of class. Use 5% L.O.S.
4. Attempt any fwo of the following : [2x8=16]
(@) The following table gives number of errors detected by two

[5201]-3065

auditing techniques A and B. Test whether the two auditing
technique differ significantly regarding the variance of the errors
detected. Use 5% level of significance.

A B

125 &9
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116 101

133 97
115 95
123 9
120 102
132 98
128 106
121 98

(6) The following record shows the additional hours of sleep in
two sets of patients due to two soporific drugs administered

after a safe interval :

Patient No. Drug A Drug B
1 1.5 2.0
2 2.0 3.1
3 1.7 2.1
4 2.5 2.0
5 1.6 1.8
6 2.0 1.9
7 2.2 2.1
8 3.2 3.5

Examine whether the drugs differ in their effect. Use 1% level
of significance.
(¢c) What is statistical quality control ? Explain its purpose in

detail.
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(d) Contruct R-chart from the following data of samples of 5 fuses

taken every hour and comment on the process control.

Sample Number Sample Range
1 45
2 48
3 62
4 48
5 36
6 81
7 78
8 42
9 69
10 84
11 48
12 75
5. Attempt any one of the following : [1x16=16]

(@) The three samples below have been obtained from normal
populations with equal variances. Test the hypothesis that the

sample means are equal using one-way ANOVA.

P1 P2 P3
8 7 12
10 5 9
7 10 13
14 9 12
11 9 14
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(b) The following table gives the inspection data on completed spark
plugs on lots of size 100 each. Construct the p-chart and comment

on the state of the process.

Lot Number Number of Defectives
1 5
2 10
3 12
4 8
5 6
6 5
7 6
8 3
9 3
10 5
11 4
12 7
13 8
14 2
15 3
16 4
17 5
18 8
19 6
20 10
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o [5201]-3066
T.Y. B.A. EXAMINATION, 2017
LOGIC
G-III : Logic and Methodology of Science
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.
1. Answer any four of the following in 100 words each : [20]
(1) What are the objectives of the science ?
(i) Explain principles of causation.
(izi) Discuss about essential characteristics of inductive inference.
(v) What is D.N. model ? Explain it.
(v) What are the fundamental laws ?
(vi) Explain the merits and demerits of observation.
2. Answer any two of the following in 200 words each : [20]
(z) State the difference between Science and Common Sense.
(ii) What are the grounds of induction ? State and explain the
formal grounds of induction.
(iit) Explain difference between common sense and scientific
explanation.
(fv) What is traditional classification of laws of nature ?

P.T.O.



3. Answer any one of the following in 400 words : [20]
(z) What are the conditions of a good hypothesis ?

(ii) Can social sciences be value-neutral ? State your views.

4.  Write short notes on (any four) : [20]
(i) Role of theory in science
(i) Uniformity of nature
(iit) Simple enumeration
(fv) Functional model of Explanation
(v) Secondary laws

(vi) Merits and demerits of survey.

(& i)
9% : A9 9™ THUT T : 80
el :— (i) wd WA drefau seras eiwd.
(i) SSEhele e qul YU gFifad.
(iii) WU T@ TUST WYY URTEl.

1. Wi HIUGEl o Y99 Tdhl 100 Y=<id Hiedl [20]

(1) fogmmet Ee wE AT ?

(i) HRUTE d™d T &

(jii) TomEATHE SATHMRAT AEIE AHUE 9=l A

(Gv) ST U®Y WIS &M@ ? WL HA

() Hayd Fem =S w@ 2

(i) Te= ®wEe S die T &
[6201]-3066 2



2. WeAlUshl HIVAE G YUY YAkl 200 ¥eRd Gieel [20]
(G) fogm onfor 9w 99 ISl WIS WAL
(ii) oA genuR wE ARG T SeRTie SRS TAERIO Hi.

(iii) TEF TE STl aifeh TS0 I=Adid Bk TS H.

Gv) Tt o= 9Rufie offfets =os " 2

3. @Cieush! HUME Tk U¥T 400 Iegid Hiedl [20]
() Sfaa Tag@ Fead=a I8 HE Rd ?
(i) 9ESe IS Hoa U&7 vehad w1 7 HEl Hd G

4, IERd dal fo@l (heR WR) [20]
() fogmmeie fagamEt  gfve
(i) el wefaua
(iii) had TUH
(jv) TICEHME HAHE GTEY
(v) T=H |
(vi) TAHUE ®EFe SO dIe.
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Seat

Y. [5201]-3067

T.Y. B.A. EXAMINATION, 2017
SOCIOLOGY
(Group ‘A’ : G3 : Work and Society)
OR
(Group ‘B’ : G3 : Crime and Society)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.
(iiz1) Attempt Group ‘A’ Or Group B’.

(Group ‘A’ : G3 : Work and Society)
1. Answer the following questions in 100 words each (any four) : [20]
(a) Give meaning of formal work.
(b) Explain concept of MacDonaldization.
(¢c) What is meant by domestic labour ?
(d) Describe the nature of work in post-industrial society.
(e) State the features of informal sector.

(f)  Discuss the nature of agricultural labourers.

2. Answer the following questions in 200 words each (any two) : [20]
(a) Describe women’s participation in the new international division

of labour.

P.T.O.



b)
(c)
(d)

3. Answer any one of the following questions in 400 words :

(@)

®)

Explain Trade Union Movement in India.
Discuss the problems of Migrant Labourers.

Elaborate the problems of agricultural workers.

[20]

Define Bureaucracy and describe the features and problems

of Bureaucracy.

Elucidate the effects of New Economic Policy (NEP—1991) on

the workers in formal sector.

4. Write short notes on (any four) :

(D)
(2)
(3)
(4)
(5)
(6)

Informal work

Guild system

Hary Braveman’s concept of ‘Deskilling’
Taylorism

Problems of service sector employees

Importance of work.

OR
(Group ‘B’ G3 : Crime and Society)

[20]

1. Answer the following questions in 100 words each (any four) : [20]

(1)
(2)
(3)
(4)
(5)
(6)

[5201]-3067

Define crime.

What is Marxist perspective of crime ?

State the meaning of terrorism.

Write nature of human rights violation.

State the meaning of criminalization of politics.

Write the meaning of environmental crime.

2



2.  Answer the following questions in 200 words each (any fwo) : [20]
(1) Explain the relation between capitalism and crime.
(2) Discuss the nature of international crime.
(3) State the nature of deterrent theory of punishment.

(4) Describe human right perspective in detail.

3. Answer any one of the following questions in 400 words : [20]
(1) Explain the causes of crime.

(2) Discuss the meaning and causes of crime against women.

4.  Write short notes on (any four) : [20]
(1) White Collar Crime
(2) Meaning of organized crime
(3) Cyber Crime
(4) Preventive theory of crime
(5) Parole
(6) Open prison.

(WS ®UI)

d% : W aE THUT 7T : 80
oM — (i) WE TR Hiefau sead #wR.

(ii) ISEele ek T U YU geifed.

(iii) HEWHIE] Hos TUSH YIAULIRT UGBl

(jv) e ‘@' fRE T ‘T TR wH HEa

RICHREC K
1. TEd Gl Yo 100 vea S feren (SivE wmw) [20]
(@) o= s g @i

(b)) HISACSIHWME HhHeqdl T &Y.
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20

() ‘=0 FMR' WIS &M@ ?
(d) W el gaede sE= @WE9" 9o .
(e) SHT=Ih &= dAfyrsesl |

(H U HEREA EEAE TG HA

e geel GodT 200 vesid W o (Foed dF) [20]
(@) 7o STaU<E  gufaasqEsd S Jg9rme 99 .

(b) YRAME SR oAl d@de T H.

(c) Tad HEAMUAT G 99 6.

(d) 9 HEMREN gaen gier foamn

e UvEEl 400 V[ SR foRl (FIvEEl Tew) [20]
(@) THQEE 2 o AeQEE ainesre d§ e au| &,
(b) AvEier GFda HERER J6E i8R (1991) 9iom faere

.
e fear foel (SIUe@El =9w) [20]
(1) SFH=ies we
(2) g9 Ygdr
(8) T dwwd Al fewmidim=t HehedH
(4) oRIFm
(5) AT HI=AT G
(6) wHEE Hed.
femar
RICHE

TEE YEAE YA 100 VsSaudd Sw faer (worE \mw) ;o [20]
(1) == A el

(2) TR AR gfeed WU wE ?

(3) CeEvEAREl A .
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(4) HHEE SoosArEAl AR WEwY  foE
(5) USThRUTE TR0 37 G
(6) wAERUE e A9 fomn

2. WoEd YEAE TOE 200 vvEd Sw fae (@vnE @e) o [20]
(1) wieaammel i [ A= Hey T H.
(2) SATARE o= @&uEl 99 H.
(3) fugmn seonfowas faga™ w=®Y gL
(4) WA AR gfedMeR dfaw® == 6.

3. WO YIAEl 400 vEdd SW e (FvEE ) [20]
(1) T=El ®RU W FHA
(2) Sffotet e Sd oNfor FROMER T= H

4. dgeRm@ fon faer (FowE =\ )) [20]
(1) e T
(2) gufed =1 3™
(3) dfeRd TR
(4) fqeuws faga
(5) afE=H (W)
(6) o HRAE
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Total No. of Questions—4]

[Total No. of Printed Pages—3

Seat
Yo, [5201]-3068
T.Y. B.A. EXAMINATION, 2017
SOCIOLOGY
(S-3 : Social Research Methods)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

following questions in 100 words each (any four) : [20]
the meaning of interpretative approach.

is stratified sampling ?

the meaning of Case Study Method.

is median ?

the meaning of pure research.

the mode method.

following questions in 200 words each (any two) : [20]

Describe the sources of secondary data.

State the advantages of questionnaire technique.

Describe the disadvantages of survey method.

the importance of report writing.

Answer any one of the following questions in 400 words : [20]

is Social Research ? Explain the importance of social

Answer the
(1) State
(2) What
(3) State
(4) What
(5) Write
(6) State
Answer the
(1)

(2)

(3)

(4) State
(1) What

research.

(2)

Describe the steps in Social Research.

P.T.O.



4.  Write short notes on (any four) : [20]
(1) Meaning of positivist approach
(2) Random sampling
(3) Participant observation
(4) Histogram
(5) Mean
(6) Feminist approach.

(WS wUIa)
9% : i A THUT TOT : 80
gedT :— (i) Wd YA diefan oevas  sed.
(ii) SAREr® 3H T qU 7O SRIfadm.
(iii) TR TS TUSH UAUIHI TR,

1. WOdUsl SR Aol 100 v<edd Sw fagr . [20]

(1) SARham@R! T A4 9A.

(2) WA TN o "IN & ?

(3) IR gt e |

(4) weE WS HE?

(5) & FAYA HaAYd weneEren e forn
(6) Sge® Tgdl .

2. WOCYR HIEE SRR 200 y=wdd IR for [20]
(1) T&HH IWEE e fove &
(2) ARl UG HEQ i
(3) HAYU Ugdreal diedid auH .

(4) 3IBAA dAE@AE HEd 9.
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3. WPAdhl FHUAR TS 400 I<odd W foer [20]
(1) gmifser 99NeA WU & 7 GHSe GINEEE Heel T &
(2) gmifses geiyAde 9E=ar fave &

4, GEAUs! SR dANeR giedaa fewr fasr [20]
(1) YagaRl geihvmel 339

(2) IRl TqA1 fHere

(3) weurht fadiem
(4) WY
(5) HEIHM

(6) SfaEt gt
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Seat

No. [5201]'3069

T.Y. B.A. EXAMINATION, 2017
SOCIOLOGY
(S-4 : Contemporary Indian Society)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) :[20]
(z) Discuss the nature of economic development in India.
(i) Describe the impact of green revolution on agriculture.
(iii) State important civic problems in Urban Society.
(fv) Explain the relationship between media and politics.

(v) Examine the challenges before higher education of girls in

India.

(vi) Elaborate on changing nature of marriage in contemporary

India.

PT.0:



2. Answer the following questions in 200 words each (any two) :[20]
(i) Explain Gandhi’s views on nation building.
(i) Discuss the strength of Indian democracy.

(iit) Elaborate important problems concerning primary education in

India.

(fv) Discuss in detail debates around LGBTQ.

3. Answer the following questions in 400 words (any one) : [20]
(z) Explain impact of globalization on Indian agriculture.

(i) Examine issues and challenges concerning the private health

sector in contemporary India.

4.  Write short notes on (any four) : [20]
(i) Concept of modernization
(ii) Objectives of New Economic Policy, 1991
(ii1) Concept of Urbanization
(tv) Commercialization of media
(v) Primary Health Center

(vi) Features of urban family.
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q% : diF A THUT TUT : 80

(iii) HSHHES Ho SUSH YYTUIhl TawEl.

1. Weiddsl YT Yl 100 IS 3aik fosl (Hivdel 9ar) [20]
(1) YA onfee fawmme Weusl == S

n

(ii) edwida dedd 9fiomE= 9oE &

(1i) TBO HHNTG He@r=Aal A 99S 9.

(Gv) YOUR H1EFH 70 YSHRUMHIal HaY T2 .

(v) YR Hed I=a Reomda e IR&u .

(vi) HSF YRGE FHNAA foaeeE dgad @ey fave 3.

2. Wedys] YAET YS! 200 V[ 3al fael (FIUEl IF) [20]
(1)  UeCAUE HeWidial mee foer s &L

(ii) YR SR ddAsIEET 99 S

(iii) YRada grafgs gomEest gedaen guen o &L
(jv) LGBTQ =R acyfqarRr=l == .
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3. Gelais! YAE 400 ¥d 3ar foa@l (FIUARI TeH) [20]
(1) YRAE Tda SETfdfehehons GRoMH T .
(ii) 9Sd YRAS @SRl SR &enged gea nfur s aReu .

4. deRE foo famr (FveEE @ w) [20]
(i)  STYMfRemTom=T  Hehodl
(ii) 1991 =1 T e ¥Rvie e
(iii) AR Fehea T
(jv) YOR WEEHE  STIRG
() WAEE IR w5
(vi) VA HEarE AR
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[5201]-3070

T.Y. B.A. EXAMINATION, 2017
STATISTICS (GENERAL)

Design of Experiments and Operations Research

Time : Three

N.B. :—

@)
(i1)
(iii)
(iv)

(2013 PATTERN)
Hours Maximum Marks : 80
All questions are compulsory.
Figures to the right indicate full marks.
Use of statistical tables and calculator is allowed.

Symbols and abbreviations have their usual meaning.

1. Attempt each of the following :

(@)

®)

State whether each of the following statements is true or

false :

@)

[1 each]
23 factorical design has three factors with two levels

of each factor.

(ii) In partial confounding the same interaction effect is
confounded in all replicates.

(ii1) The dual of a dual is primal.

(tv) Critical activities are the activities of least duration.

Choose the correct alternative in the following : [1 each]

(i) Factorial experiments :

(A) include two or more dependent variables
(B) include two or more independent variables
(C) focus on unmeasured factors

(D) focus on organismic factors
PTO.



(c)

[5201]-3070

(i1)

In case of 4 x 4 L.S.D. error degrees of freedom

are :
(A)
(B)
(®)
(D) 15
(iii) In the standard form of L.P.P., the right hand side element
of each constraint should be :
(A) non-negative
(B) zero
(C) negative
(D) ome
(fv) In PERT analysis variance of the project is :
(A) based on critical activities
(B) based on non-critical activities
(C) based on all activities
(D) based on dummy activities
Answer in brief : [2 each]
(z) Explain the concept of ANOVA.
(ii) State the situations where analysis of covariance is
applicable.
(iit) State the criteria used in simplex method for deciding
whether L.P.P. has :
(I) an unbounded solution
(II) an infeasible solution.
(iv) State the relation of assignment problem with transportation

problem.



[52011-3070

Attempt any four of the following : [4x4=16]

(a) Explain the following terms :
(z) Experimental unit
(i) Treatment
(ii1) Layout of an experiment.

(b) State the mathematical model for R.B.D., along with assumptions.
Explain the notations used. Further show that in R.B.D. mean
sum of squares due to error is an unbiased estimator of error
variance.

(¢) Explain the model for covariance in C.R.D. and R.B.D. Also,
state the estimators of parameters.

(d) Explain in brief Scheffe’s method for comparing contrasts.

(e) Explain main and interaction effects in 23 factorial experiment.

(f) State the mathematical model in ANOCOVA in C.R.D. Also
state the expressions for estimators of different parameters.

Attempt any four of the following : [4x4=16]

(a) Explain total and partial confounding for testing main and
interaction effects.

(6) Obtain the efficiency of L.S.D. over R.B.D. when columns are

taken as blocks, if the following information is available :
Rows s.s. = 259.5375,

Columns s.s. = 155.2725,

Treatments s.s. = 1372.1225,

Error s.s. = 156.37,

Treatment d.f. = 3.

3 PT.O:



(c)
(d)

(e)

")

Explain the general description of m’ factorial experiment.

Explain the following terms in brief related to analysis of non-

normal data :

(@)
(i1)

square root transformation for counts and

sin~1 transformation for proportions.

Explain in detail the layout of completely randomized design
(C.R.D.). Also state Cochran’s theorem.
Write a note on the principle of randomization. How is it
used in L.S.D. ?

4. Attempt any two of the following :

(@)

(®)

(c)

[5201]-3070

Explain the following terms :

(@)
(i1)

earliest start time

earliest finish time

(zii) latest start time

(tv)
(2)

(i1)
(2)

(i1)

latest finish time for an activity.

Explain pseudo random number generates :

(I) linear congruential
(II) mid square method.
State the transportation problem.
Obtain the dual of the following LPP :
Maximize Z = 3x1 + 5x9 + Txg
Subject to :

X1 + X9 + x3 < 6

dxy — x9 + 2xg > 15

xq, X9 = 0, xg unrestricted

[2x8=16]

[5]

[3]
[5]

Explain linear programming problem in canonical form

and standard form.
4
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(d) Explain Vogel’s approximation method. Consider the following
Transportation Problem with per unit cost of transportation

as given below :

To
Form A B C Supply
Sq 2 7 14 4
So 3 3 1 8
Sg 5 4 7
Sy 1 6 2 15
Demand 7 9 18

Obtain IBFS using VAM and check its optimality.

5. Attempt any one of the following : [1x16=16]
(@) (@) Solve the LPP using simple method : [5]
Maximize Z = b5xq1 + Txo
Subject to :
X1 + xo < 4
3x1 — 8xg < 24
10x; + Txg < 35
X1, X9 > 0
(ii) Explain Monte-Carlo method of simulation with a suitable
illustration. [6]
(iii) A car hire company has one car in each of four depots
D4, Dy, Dg and Dy4. A customer in each of four cities
Cq, Cy, Cg, C4 requires a car. The distance (in km)

between the depots and cities is as follows :

[52011-3070 5 PT.O:



Cities
Depots Cy Cy Cg Cy
D, 160 135 50 55
Do 130 120 80 80
Dy 190 160 80 80
Dy 200 175 110 105

How should the cars be assigned to the customers so

as to minimize the total distance travelled ? [5]

(6) () A small project consists of seven activities, the details
of which are given below :

Activity | Most Likely | Optimistic Pessimistic Immediate

time time time predecessor

A 3 1 7 —

B 6 2 14 A

C 3 3 3

D 10 4 22 B,C

E 7 3 15 B

F 5 2 14 D,E

G 4 4 4 D

[5201]-3070

(I)  Draw the network, number the nodes and hence

find the critical path, the expected project completion

time.

(ID

completion ?

6

What project duration will have 95% confidence of

[9]



(i) From the following information find the critical path and

the duration of the project : [7]
Activity Predecessor Duration (days)

A — 4

B — 6

C 9

D B 7

E C,D 5

F C,D 4

G E 3

H E 6

I F.G 9

J H,I 4
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[5201]-3072

T.Y. B.A. EXAMINATION, 2017
APPLIED MATHEMATICS

(AMG-3 : Real Analysis-I and Real Analysis-II)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (1) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any eight of the following : [16]

(2) Does the function f : R — R defined as flx) = ex2
one-one ? Justify.

(ii) Describe the following set of points in the plane geometrically
A = {kx ylx < yh

(iit) Show by an example that a divergent sequence may have a
convergent subsequence.

(fv) Find N € I so that :

n2:’3 ~2/<02Vn=N.
(v) Does the series 1 — % + % - % + % o, converge ? Justify.
(vi) Laﬂﬁ=x®gxglﬂmdbtGZ%ﬁiix%J}beammmﬁ@m

of [0, 1]. Compute LI[f, 6].

P.T.O.



(vii)

(viii)

(ix)

(x)

2. (A

(B)

[5201]-3072

1

I, x #—

If f is defined on[0, 1] such that f(x)= %, show that
0, x = 5

f € RIO, 1].

Find the limit function of the sequence {f, }~_, where f (x)=x"

0 < x < 1)

_ — SIn nx
Show that for all real x, the series zn—z converges

n=1

uniformly.
Prove that
1
J. ! dx
o1 — x2
is convergent.
Attempt any one of the following : [6]

(@) If {a,}°_, is a non-increasing sequence of positive

n=1
numbers and 22” N converges, then prove that Zan

n=0 n=1

convergent.

(i) If {a, ), is sequence of positive numbers such that

n=1

then prove that alternating series 2(—1)”+1 a, convergent.

n=1

Attempt any fwo of the following : [10]
@ If f: A - B and if X ¢ B, Y c B, then prove
that :

XUy =" o m.

2



3. A

(B)

[52011]-3072

S, -1

(i) Suppose il_rflo S +1 =0 prove that il_I}l, s, =1,

(zie) If {s }°_, 1s convergent sequence of real numbers, then

n=1

prove that :
lim sup s, = lim s,.
n—>° n—>oc0
Attempt any two of the following : [8]

- 7!
(1) Show that the series En_” is convergent.

n=I

d 1
(i) Test the convergence of ZZ nlogn

(ziz) Prove that the sequence {f,} is convergent, where

Attempt any fwo of the following : [8]
(i) If f eRla, b], then prove that @ f| €R[a,b] and

b

[r

a

b
<[l 1.

(Zi) Prove that :

/2 ¥ TEZ
I - dx > .
Osmx+2cosx 8J§
(1) If f is continuous on [a, b], then prove that there
exists :
C € (a, b)
such that :

b
[rx)dx = 1) (b= a).

3 P.T.O.



4, (A) Attempt any one of the following : [6]
@) If f, g € Rla, b], then prove that f + g€ R[a, b] and

b b b
ff+g=ff+fg-

(i) If f is continuous on the closed and bounded interval
[, b] and if F(x) J.f(z‘) dt, then prove that :

F'(x) = f(x) (a £ x < b).

(B) Attempt any two of the following : [10]
(1) Evaluate :
. 1{. n . 2m . nn}
Iim —|sin — +sin— + ......... + sin — |.
n—o n n n n

1
(ii) Prove that the improper integral J.x_pdx for

a

x > a > 0 conveges for p > 1 and diverges for p < 1.

¢ 1
cey TV ——dx.
(iii) Discuss the convergence of ixz e

5. (A) Attempt any one of the following : [6]
(z) Prove that the sequence of functions {f |” converges

uniformly to f on set E iff lub| f, (x) — f(x)] > 0 as n — oo,
x€eE

(ii) Let Zuk be series of functions in R[a, ] which converges
k=1

uniformly to f on [a, b], then prove that f € R[a, b] and

b w b
[r@)dx =Y [u,(x) dx.

k:1 a

[5201]-3072 4



(B)

[52011]-3072

Attempt any two of the following : [10]
(i) For each n € I, let 7, (x) = nx(l - x*)" (0 < x < 1). Show

[}

1
that {f 1~ converges to 0 on [0, 1]. Also show that {f fn}
0

n=1

1
converges to 5

nx

(ii) Show that the series ZX e s uniformly convergent
1

on [0, 10].
(iii) Show that :

(1 + x)° 2 4



Total No. of Questions—4] [Total No. of Printed Pages—6

Seat

- [5201]-3073

T.Y. B.A. EXAMINATION, 2017
MATHEMATICAL PRE-REQUISITES
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
(i) Use of electronic pocket calculator is allowed.

(iv) Graph paper will be supplied on demand.

1. Attempt any ten of the following : [20]
@ If

A=[2 3 0 0] and B=

find AB.
() If

find KA.

P.T.O.



(iit) Give the dimension of the matrix A, where :
A=[10 2 9 8 7 6].
(iv) Define Inverse Matrix.

(v) Given that :

find [Al.
(vi) Define Jacobian of :
i =f(x, %), v =80x, x,).
(vii) If
v, =6x, +4x,

(G20
find ox, -

(viii) Find 4A — B where :
1 2 0 1
A = B =
sol Bl
(ix) Define eigen values of the matrix.

(x) Obtain the eigen values of the matrix A, where :

1 4
A =
{O 2}.

(xi1) Obtain the cofactor of an element in the 2nd row and 1st

column of the given matrix, where :

[65201]-3073 2



[52011-3073

(xiz1) Write any two properties of determinant.

(xiii) Define slack and surplus variable in the linear programming

problem.
Attempt any two of the following : [10]
(1) Evaluate IKA|l where K = 3 and
3 6 5
A=|2 1 8
7 9 1
(ii) Solve the following equation by Gaussian elimination :
2x+8y =34
4x+12y=56.
(iii) Determine the characteristic roots of the matrix A, where
6 3
A =
{3 _6}.
(fv) Convert the following inequality constraints into equations by

using slack and surplus variables, also express the equations

in matrix form :

Maximize n=24x +8y

Subject to 2x +5y <40
4x +y 220

10x +5y <60

x, y=>0

3 PT.O:



3. Attempt any two of the following : [20]

(1)  Solve the following linear programming problem by graphically.

Minimize n=4x +5y
Subject to 4x +2y >28
2x +3y 230
y >4
x, y=>0

(1) Use Cramer’s rule to solve :
S5x;, —2x,+3x; =16
2x, +3x, =5x; =2
4x, —5x, +6x;=7.

(iii) Use the Jacobian to test for functional dependence in the given

system of equations :
2
v, =x; —6x7x, +9x3

(fv) Use eigen values to determine sign-definiteness for :

-5 1 2
A={0 -2 0
4 2 3

[65201]-3073 4



4. Attempt any two of the following : [30]

(@)

(1)

(ii1)

[52011-3073

Use simplex algorithm to solve the linear programming

problem.
Maximize n=30x, +24x, + 60x,
Subject to 6x, +3x, +5x; <30

2x, +2x, +10x5 <50
Xy, Xy, X3 20

Optimize the given function using Cramer’s rule for the first

order condition and the Hessian for the second order condition,

where

Yy =3x; =5x, — XX, +6x5 —4x, +2x,x; +4x5 +2x; —3x,x;

(a) Explain advantages of dual of linear programming problem

and obtain dual of the following :

Min Z = 36x+30y+40z

Subject to 2x+5y+8z>40
6x+3y+2z2>5

x, y,z2=20

5 PT.O:



(b) A specialty steel manufacturer produces two types of
steel. Type 1 requires 2 hours of melting and 4 hours
of rolling. Type 2 requires 5 hours of melting and 1
hour of rolling. 40 hours are available for melting and
20 for rolling. The profit margin for type 1 is 24 and
for type 2 is 8. Reduce the data to the equations and

inequalities.

(zv) Consider :

and

>
Il
— 3
W N O
W N o0
w
I
S wn =
D W N
~ = O

Is AB = BA ? Justify.

[65201]-3073 6



Total No. of Questions—5]

[Total No. of Printed Pages—10

Seat
Yo [5201]-3074
T.Y. B.A. EXAMINATION, 2017
APPLIED STATISTICS (GENERAL)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
(ii1) Use of scientific calculator and statistical tables is allowed.
(fv) Notations and abbreviations have their usual meaning.

1. Attempt each of the following :

(@)

(®)

State whether the following statements are true or false :

(2)

(i1)

(Zi1)

(Zv)

[1 each]
The standard error of a sample statistic is the standard
deviation of its sampling distribution.
Control charts are used to check whether the manufacturing
process is under control.
Critical region is the region of acceptance of the null
hypothesis.
Non-parametric tests are employed if no assumption can

be made about distribution of the parent population.

Choose the correct alternative for each of the following :

(@)

[1 each]
A null hypothesis is :
(A) hypothesis of interest
(B) hypothesis that assigns 0 value of the parameter
(C) hypothesis which is simple

(D) hypothesis of no difference
PTO.



(c)

[6201]-3074

(ii) In one-way analysis of variance, if total sum of squares
is 120 and treatment sum of squares is 80 then error
sum of squares is :

(A 20
(B) 200
(C) 100
(D) 40

(Ziz) If X ~ N(10, 100), variance of X + 10 is :
(A) 100
(B) 110
(C) 20
(D) O

(fv) What type of control charts are used to monitor no.
of defects in the output of a process ?

(A) p chart

(B) X bar chart

(C) ¢ chart

(D) R chart
Answer in brief : [2x4=8]
(i) Explain each of the following :

(I)  Critical region

(II) Standard error of a statistic.

(i1) Write the test statistic to test Hy : m = ng against
H; : n # ny if population variance is not known.

(iit) Write 3o control limits for ¢ chart when standards are
not given.

(tv) Let a random variable X follows normal distribution with

mean 10 and variance 9. Find P[X < 11.5].
2



Attempt any four of the following : [4x4=16]
(@) Describe the test procedure for testing the hypothesis :
Hy : P = P, against
Hy : P > P
where P denotes the population proportion.

(b) Let X and Y be two independent normal random variabls with
means 1, 2 and variances 4, 25 respectively :
Compute :

@ PX + Y > 2]
(i) PI2X - Y < 0l

(¢) The manufacture of certain make of electic tubes claims that
the average life of a tube is minimum 50 months. A random
sample of 16 tubes gave mean 54 months with a standard
deviation 8 months.

Can it be concluded that the manufacturer’s claim is correct ?
Use 1% level of signifiance.

(d) Explain chance causes and assignable causes of variation in
quality of manufactured product.

(e) State the mathematical model used in one-way classification
of analysis of variance and explain the terms used in it. Further
obtain the break up of total sum of squares.

(f) The Internal Revenue Service (IRS) claims that it should typically
take about 160 minutes to fill out a 1040 tax form. A researcher
believes that the IRS’s claim is not correct and that it generally

takes people longer to complete the form. He recorded the

[5201]-3074 3 P.T.O.



time (in minutes) it took for 15 individuals to complete the
form as :
125, 165, 155, 200, 170, 145, 175, 180,
210, 190, 175, 175, 120, 180, 140.
Using sign test, test whether the researcher is correct. Use

5% level of significance.

3. Attempt any four of the following : [4x4=16]
(a) The following data give the number of fires in a city recorded
for many months. Test whether the number fires has been

evenly distributed over the week. Use 5% level of significance.

Day No. of Fires
Sun 27
Mon 16
Tue 15
Wed 15
Thurs 14
Fri 28
Sat 25

(b) Distinguish between parametric and non-parametric tests.
(¢) A random sample of 200 bolts manufactured by machine A
showed 20 defective bolts whereas 100 bolts manufactured by
machine B showed 5 defective bolts.
Is this evidence sufficient to conclude that machine B is better

than machine A ? Use 5% level of significance.

[6201]-3074 4



(d) Explain the concept of analysis of variance.

(e) There are 1000 students in an institute of a certain age group
and it is known that their weights are normally distributed
with mean 55 kg and standard deviation 4.5 kg. Find the number
of students having weight :

(z) less than 48 kg.
(ii) between 50 kg and 58 kg.

(f) State the objectives of statistical quality control.

4. Attempt any fwo of the following : [2x8=16]
(a) The time taken by workers in performing a job by method

I and method II is given as below :

Method 1 Method II
50 35
45 50
30 55
42 34
36 50
48 45
20 43

Test whether variability in time taken by method I is more

than that by method II. Use 5% level of significance.
[5201]-3074 5 P.T.O.



(6) A firm has introduced new less complicated methodology to
work out on tax calculations forms of their clients. The following
table indicates time (in min) taken to fill forms of 14 clients
before and after administering new methodology. Test whether
the new methodology is effective by using Wilcoxon’s signed

rank test. Use 1% level of significance.

Before After
35 17
45 38
36 20
35 45
40 50
56 35
38 44
55 28
34 28
20 30
35 44
44 28
50 33
22 19

(¢) Two andom samples drawn from two normal populations are

as given below :

Sample I Sample II
20 17
16 23

[6201]-3074 6



26 32

27 25
23 22
22 24
18 28
24 31
25 33
19 20

22

Test the hypothesis Hy : ny = ng against Hy : ny # ny
(Use 1% level of significance)

(d) Fifteen shipments, each consisting of 50 electronic components
is inspected for defective components to get the following
information :

Shipments No. Fraction defectives

0.24

0.30

0.16

0.20

0.08

0.14

0.32

0.18

0.28

0.20
[5201]-3074 7 P.T.O.
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11 0.10

12 0.12
13 0.34
14 0.24
15 0.22

Draw p-chart and check whether the process is under control.

Suggest the control limits for future use.

5. Attempt any one of the following : [1x16=16]

(@)

[6201]-3074

(@)

Three experiments determine the moisture content of
samples of a powder, each one taking a sample from
each of four consignments. The following table indicates

their observations :

Experimenter Consignment
I I1 I11 IV
A 9 10 11 10
B 12 14 10 12
C 8 12 14 13

Carry out two-way analysis variance and test the
hypotheses whether :

(I)  There is significance difference between consignments
(II) There is significance difference between experiments.

Use 5% level of significance. [13]
8



®)

[5201]-3074

(i1)

(@)

Identify the parameters if Ax) given below is p.d.f. of

N(u, o2) distribution : [3]
1 e%(x2—4x+4)
ﬂx)_—sﬂ -0 < X < o,

A production process is under observation which produces
certain type of discs. Sixteen samples each of size 5
are taken at every hour. Average thickness (in mm) (5_()

and range (R) of each sample are recorded as follows :

Sample No. Mean (P_() Range (R)

1 8.8 0.9

2 9.2 1.2

3 8.9 1.6

4 9.3 1.0

5 9.1 2.0

6 8.6 1.8

7 9.0 1.7

8 9.2 0.8

9 94 1.2

10 9.1 14

11 8.7 2.0

12 8.8 1.1

13. 9.3 1.9

14 9.0 21

15 9.2 1.1

16 8.9 1.2
Set up ¥ and R charts. Examine the state of control
of the process. Comment on the result. [12]
9 P.T.O.
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(1) A certain firm has kept a record of the gender of people
who called the office for prospective opportunities of joining
them to get the following sequence : (4]

MFFFMMFMFFFFMMM
FMFMFFFFMMMMM
Test the randomness of the sequence at 5% level of

significance.

10



Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat
o [52011-3075
T.Y. B.A. EXAMINATION, 2017
PHILOSOPHY
General Paper III
(Social and Political Philosophy)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

Answer any four of the following questions in 100 words

each :

(1)
(2)
(3)

(4)
(5)
(6)

[20]
What are the basic tenets of feminism ?

Why M.G. Ranade is called a liberal ?

What according to Gandhi is the relation between truth and
non-violence ?

State the Marxist distinction between base and superstructue.
Explain the notion of status hierarchy.

What is humanism ?

Answer any two of the following questions in 200 words

each :

(1)
(2)
(3)

(4)

[20]
Why does Gandhi say, “Truth is God” ?

Discuss M.N. Roy’s views about democracy.

Explain the distinction between cultural pluralism and
multiculturalism.

Give a brief account of Ecofeminism.

P.T.O.



B :

AT

1.

Answer any one of the following questions in 400 words
each : [20]
(1) Critically evaluate Mill’s liberalism.

(2) Elaborately discuss Dr. Ambedkar’s views regarding liberty, equaltiy

and fraternity.

Write short notes on any four of the following in 50 words
each : [20]
(1) Nayi Talim

(2) Dialectical materialism

(3)  Navbhagvatdharma

(4) Politics of recognition

(5) Liberal feminism

(6) M.N. Roy’s criticism of Marxism.

(WS ®WUia)
d= a TeRUT TUT : 80
— () Wd Yy Trefau T avas o
(ii) ISTRere 37k qui U geifedr.

THA JAET DR AN S Yol 100 va foaw [20]
(1) iRl Hoide hivdl Rd ?

(2) WM. TES I CRAGEAR] HT U ?

(38) T snfor AfE@ A wMHeN WA HvMn ey R ?

(4) AT MU ARG A HEHARM holell i §IL

(5) TWfdsedl IMWE & Hoddl TR H

(6) HHIAERE FUS w7

@old Y3 SIvaR! STl St Yode! 200 eeid fomr [20]
(1) 99 B9 IR’ 9 WEH w1 WM ?
(2) TUWHUA. U9 I=a1 AhIMeded= Hd=l 991 6.

[5201]-3075 2



(3) UREpfdeh AAkdiEle AU FgURpIdRdEG A ik T H.
(4) UREEEl SR @Wwg faug &

3. WA YAl HIVARI Tehrd IW 400 =@ fawr [20]
(1) fooco=n ErHaacerE fafeds gy &
(2) T@aA, gEal 3 Sya favee 2f. seesuen foanEt afawm ==

h .
4. ECAIAIh! DR TR Y&hi 50 Y=< dar fasr [20]
(1) = arfem

(2) EelowmEES SR
(3) TAHNTedYH
(4) "R TSThRY

(5) TCREAART SR
(6) THUA. UG It HEHdREdd 26l

[5201]-3075 3 P.T.O.



Time :

N.B.

[6201]-3075

(Aesthetics and Philosophy of Religion)

Three Hours Maximum Marks : 80

:— (i) Attempt All questions.
(ii) Figures to the right indicate full marks.

Answer any four of the following in 100 words each : [20]
(1) State aesthetic as a branch of Philosophy.

(2) What is God ? Briefly state.

(3) Discuss briefly concept of Beauty.

(4) What is meant by Morality ?

(5) Describe in short Collingwood’s concept of art.

(6) Define the term Religion.

Answer any two of the following in 200 words each : [20]
(1) In what regards Freud criticise on religion ? Describe.

(2) Explain the difference between beauty and sublime.

(3) Write Marx’s critique on religion.

(4) Explain fully concept of Lokdharmi.

Answer any one of the following in 400 words each : [20]
(1) What is the difference between art object and aesthetic
object ?

(2) Explain fully nature and kinds of religion.

Write short notes on any four of the following in 50 words
each : [20]
(1) Aesthetic experience

(2) Religious morality

[5201]-3075 4



(3) Judgement of agreement

(4) Ontological argument for the existence of God
(5) Art as intitution—Croce

(6) Problem of evil.

(TS ®UTER)

9% : i A THUT TOT : 80
ol :— (i) Wd UYT diefdaul Hevgs .

1.

2.

(ii) ISEhele h Yo IO Sy,

WA GEAUR] HIU@E AiE W Yah 100 eS| femr ;o [20]
(1) doEdEE Th A Wevd  Hieduerd Ty fove @

(2) ‘SyR’ WS FE ? dgHd G

(3) ‘died’ @ Yoy deHEM TR H

(4) ‘Sfdea’ Fm=n sd wE A ?

(5) wifareed ‘wen’ @ diewdd Hheqw fave .

(6) ‘yH' v==R AR AL

AT YEAUH! PR SATE IR TS 200 v fawr ;o [20]
(1) Yok WIS HIA GRIGHNA 2Ihl &l ?

(2) dHicd onfor W A Wk TR H

(8) yHiael HEd=Er et foEn

(4) TARYHT B Hohoudd WEY GOl W &

WA FIAH! B TehTd ST 400 Vs ferer . [20]
(1) homagy ol dicdeaw adid ik ®iod 3fed 2
(2) wHE @W&Y AU FE YHER GiaER TR

[5201]-3075 5 P.T.O.



4., WeidU®s! HUER ARER YS! 50 s o fewr [20]
(1) Higagye
(2) wfds Afqwan
(3) wgHdt faum
(4) 3vauen SOt aanRmeita gfadas
(5) el WUS AUA-HIR

(6) A=t www=.

[5201]-3075 6



Total No. of Questions—4]

[Total No. of Printed Pages—4

Seat
o [5201]1-3076
T.Y. B.A. EXAMINATION, 2017
PHILOSOPHY
(Special Paper III)
[S-III : Thinkers and Textual Studies (Indian)]
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.
1. Answer any four of the following in 100 words each : [20]

(1)

(2)

(3)

(4)

(5)
(6)

What, according to Vivekananda are the essential qualities of
a teacher ?

State the relation between non-violence and wisdom from Kosambi’s
perspective.

Explain the difference between Sankhya Buddhi and Yoga
Buddhi (Theoretical and Practical Knowledge) according to
Vinoba.

Give a brief account of the Lokayata Metaphysics as explained
by Madhavacharya in the Sarva Darshana Sangraha.

Why according to Gandhi have the lawyers enslaved India ?
Why does Gandhi compare the parliament of England to a

‘sterile woman’ ?

P.T.O.



2. Answer any two of the following in about 200 words each : [20]
(1) What evidences does Chattopadhyaya provide to demonstrate
that Lokayatikas did perform certain rituals ?
(2) Explain Kosambi’s understanding of Sheela and Samadhi.
(3) What according to Gandhi are the roles and responsibilities
of doctors ?

(4) State Gandhi’'s arguments against use of machines.

3. Answer any one of the following in about 500 words : [20]
(1) Give a detailed account of the characteristics of Sthitapradnya
according to Vinoba.

(2) State and explain Gandhi’s conception of Swaraj.

4.  Write short notes on any four of the following : [20]
(1) Bhoodana movement
(2) Trushna (craving) according to Kosambi
(3) Lokayata as ancient Indian Materialism
(4) Concept of Satyagraha
(5) Disadvantages of Railways according to Gandhi

(6) Nature of Brute force—Gandhi’s opinion.

(W& i)
9% : i A TRUT TUT : 80
ol :— () |d U Grefau oTeavad R
(ii) 3SSEHele 3% U IO SEifed.
(iii) HIWHES! e TUS GYAULTHl T,

[5201]-3076 2



2.

WOAUH! HIVEAR TR YIAE SW Yods! AR 100 e[ fewr @0 [20]
(1) foowrc=n wa foee™ sTewds IO w7

(2) FEE=n TagER few g ym (fagw) Ar=adia Tad S YRR
e ?

(3) 9= dgfg a am gfg ana fode difiacen weh T A

(4) THEEMEEAT e WURHEY Higwdl AikmEae™ G faEm

S

(5) THfen Ud afdkell WRdATen [aifd &I YRR a2

(6) TioleTA WHeHl Jol TER ‘T Wi’ I w1 waw ?

FIUEE S YEAET IW AR 200 @ o [20]
(1) <ierd § fodfia Sfacied &id 3T8d § FIIEAR™AT hlvedl G
YR qrEed fod e ?

(2) i 9 YHEEN IAEEEE SEdd f9urR W &

(3) TH= HAHER eyl iyl 9 SEeFAl Hivel ARd 2

(4) @ aMue foliurda mdE gf e T w:

FIUEE TRl Y¥A I AR 500 31z forer [20]
(1) fodiarl fase wheiell figqumril «&ol gfowX we .
(2) THTE wUSEEl geeddl WA W L

[5201]-3076 3 P.T.O.



4. HIUAR ARER Aiedad feawr fawr

(1)
(2)
(3)
(4)
(5)
(6)

[5201]-3076

b L I 2 )

o (HIEe= Hd)
AREAA—9TEE YR Sedrg
TR TeheuHl

e "4 Yedd die

M= "Ad UREr YERE EE.

[20]



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5201]'3077

T.Y. B.A. EXAMINATION, 2017
PHILOSOPHY
[S4 : Thinkers and Textual Studies (Western)]
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (1) Attempt All questions.

(ii) Figures to the right indicate full marks.

1. Answer any four of the following in 100 words each : [20]
(z)  Explain Nietzsche’s views regarding herd morality.
(ii) State Dewey’s Concept of Enquiry.
(i) What is verification according to A.J. Ayer ?
(fv) What is Solipsistic viewpoint ? Explain.
(v) What is problem of demarcation according to Popper ?

(vi) State in short Wittgenstein’s concept, ‘Family Resemblence’.

2. Answer any two of the following in 200 words each : [20]

(i) How does Marcel distinguish between primary and secondary
reflection ? Explain.

(ii) State and explain Sartre’s notion of freedom.

PT.0:



(iit) Explain fully Nietzsche’s doctrine of Will of Power.

(fv) State and discuss Ayer’s criticism of metaphysics.

3. Answer any one of the following questions in 400 words : [20]
(1)  Elaborately discuss Dewey’s pragmatism.

(ii) State and discuss about Malcolm’s theory of knowledge of other
minds.

4, Write notes on any four of the following : [20]
(i) Sartre’s notion of anguish
(ii) Notion of perspectivism
(ziz) Falsifiability
(fv) Use theory of meaning
(v)  Nietzsche’s notion of truth

(vi) Ayer’s characteristics of metaphysics.

(A wuiaw)
9% : i A THUT TOT : 80

o :— (i) ¥Wd WA diefau sfewesd ERd.
(i) SVEIhErd 3 YU O gEiferr.
({ii) FRHES! e SUSH ULTUAK] gl

1. Gdds! SUdERl af 999=T Il 100 v 3t fomr e [20]
(1) FHAUdEEdY Ao fTar TR &

(i) <SUEdI HEIET dgdl WA
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4.

(Gii) TS, TRA Yfadiemdd dcd &E 3e 7

(jv) 3TRHIAIE WIS HI d TR H

(v) U=l STl Heohoddl HF 3R

(vi) TITRRT HOAUR Gheddl i |

GIAteTdehl hivcATel S Y=l Ul 200 IS Sail foel [20]
() HEd YW W9 9 fgdg wWg a9 9 % el 3T d
e .

(ii) EBEl W@EA Hheddl |RH R &

(i) TR gycahig=r fagu dfowr = &

(jv) TIE FOnRmErE fafedn §FE @Et == &

Erefleehl HIUCAE Taht ¥ 400 & 3k forel [20]

(i) SEA GAYEIARET gfewR == Ha.

(ii) WeHTAl = AAGUAS JEESHN WA AT =€l H

et vl aier fear fosr [20]

(i) EEEl wIeATRed  Hehedl

(it) 9HER

(iii) wNYgAdS qA

(Gv) AR STATE IO
() TR 9 GehedH

(vi) TITAT HARTEET AT

[52011-3077 3



Total No. of Questions—5]

[Total No. of Printed Pages—3

Seat
Yo, [5201]-3078
T.Y. B.A. EXAMINATION, 2017
SOCIAL WORK
I—Introduction to Youth Welfare
II—Introduction to Rural and Urban Welfare
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
1. Answer any one question in 500 words : [16]
(1) Explain how education can lessen problems in rural area.
(2) Discuss the importance of education to newly married couples.
2. Answer any one question in 500 words : [16]
(1) State the need for vocational training to youth.
(2) Explain the hurdles in loan recovery in rural area.
3. Answer any one question in 500 words : [16]

(1)

(2)

State the features of newly emerging middle class in urban
area.

Discuss how castes play negative role in organization of youth.

P.T.O.



4. Answer any one question in 500 words : [16]

(1) Discuss the need for education programmes for senior
citizens.

(2) State the importance of entrepreneurship development among

Backward class youth.

5. Answer any two in 200-250 words each : [16]
(1) Need of political awareness in rural area
(2) Educational situation of tribal women
(3) Features of small towns

(4) Problems of widows of the farmers who committed suicide.

(E wUi)
9% : A9 9™ THUT T : 80
ol :— (i) W& WA Hefau seras o
(i) SSEhele e qul YU gFifad.
(iii) WU T@ TUST WYY URTEl.

1. YEIoIUh! R Uehl Y9 S 500 Isi[ femar . [16]
(1) T 9rmg e € U3 % HH HE Yohd § T A
(2) ToarT foaw Feed SevdEel iU "ed IR 9"l .

2. YRRl HIVAR Tl U¥AE SW 500 ¥<@ fa@l : [16]
(1) YahEe AEHgs JRIGUET TS T 6.
(2) U 9ATG hHSiEl Wahe (FHA!) HET HUAMA ASUs TR HAL.
[6201]-3078 2




3. TUe@UR! HIVAR TRl U9 SW 500 k@ ol : [16]
(1) IR YA AN 3GAE AU HegHenTer  afrsed i,
(2) goThMAl HWESAM S HI YhR THNHE YfHhT SSTad Fr=t ==
H.

4, YIAUR! HIUAE Tl YA W 500 Vi R [16]

(1) I8 AR eifer SEwaE] TWS-ael 949 .

(2) HFMHESRE JAHMES el G/l TReek  Aifsdl =@

5. Ul SR fewr fewr [16]
(1) U0 9 TSTehid SRl TR
(2)  orfeerd wfgerst iefres  feerd
(3) M wEdHr dfyre

¥

(4) STHEAT holedl Vdskh-area fagen Ueii=a 9HeE.
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Total No. of Questions—4]

[Total No. of Printed Pages—3

Seat
No.

[5201]-3079

(Gen-3

Time :

N.B.

T.Y. B.A. EXAMINATION, 2017
PUBLIC ADMINISTRATION
: Institutions and Issues in Indian Administration)

(2013 PATTERN)

Three Hours Maximum Marks : 80

:— (1) All questions are compulsory.

(ii) Figures to the right indicate full marks.

Answer the following questions in 100 words each (any four) : [20]

(1)
(2)
(3)
(4)
(5)
(6)

Explain the functions of Union Public Service Commission.
Explain the functions of Ministry of Finance.

State the importance of Voluntary Organization.

Explain devices of Governance.

State the concept of Liberalization.

Explain functions of Department of Law Affairs.

Answer the following questions in 200 words each (any fwo) : [20]

(D)
(2)
(3)
(4)

State the functions of Central and State Reserve Police.
Explain the budgetary process in India

Explain structure and functions of State Service Commission.
Explain functions of National Human Rights Commission in

India.
P.T.O.



3. Answer any one of the following questions in 400 words : [20]
(1) Explain the machinery of planning in India.
(2) Explain the good and bad effects of globalization in Indian

Administration.

4. Write short notes on (any four) : [20]
(1) National Women Commission
(2) Significance of Governance
(3) Social dJustice
(4) State Services
(5)  Public Finance

(6) National Development Council.

(S ®UI)
9% : 9 ae THUT TOT : 80
e :— (i) ¥Wd YA Evds  Ied.
(ii) ISTReSle 37k qUi U geifedr.

1. Wod e SW Ydsl 100 vid fdel (FeE 9m) [20]
(1) 5 dlhdel TERTE ®E T &
(2) fou TacEE FE TR FH
(3) ISl TEAE Hed AT
(4) GEUEAET g TR HA

(5) SRR Hehoddl AT

(6) TFHEET FIER WA HE T H.

2. WFd YT SR YAHT 200 v o (R @) [20]
(1) g oo gEita 9ifad ear=l &™ 9r.
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(2) YA SESYSSET Yfshar T .
(3) TS WHUdl STEN=ET AT ST ™ .
(4) U™ AAd YR AEIME ®F TR FHA

3. TOAUSl HIUAR Tl € SW 400 v=@ fo@r [20]

~

(1) YRdder fFESE=l g3 T &,
(2) YRAE WYIMEAERIA SATfdeh iR & oqifor e1fae qfomy oose

.
4, J=HE@ fewr T (IR WR) : [20]
(1) = afeen M
(2) GG Hew
(3) wmifSs =™
(4)  TIHE

(5) wESHE fa

6) U=E fowm 9ieR.
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

Y. [5201]-3080

T.Y. B.A. EXAMINATION, 2017
PUBLIC ADMINISTRATION
(S-3 : Administrative Thinkers)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) Explain Nehru's views on Decentralization.
(2) Explain Rigg’s Ecological approach.
(3) State Chester Bernard’s views on organization.
(4) State Simon’s views on Administration.
(5) Explain Taylor’s objectives of scientific management.

(6) Explain Kautilya’s machinery of administration.

2. Answer the following questions in 200 words each (any fwo) : [20]
(1) Explain Taylor’s benefits of scientific management.
(2) Explain Max Weber’s views on legitimacy.
(3) State Nehru's views on socialism
(4) State Woodrow Wilson’s views on relation between

Administration and Politics.

P.T.O.



3. Answer any one of the following questions in 400 words : [20]
(1) Explain Simon’s views on Behaviourism.

(2) State Rigg’s structural-functional approach.

4., Write short notes on (any four) : [20]
(1) State Nehru’s views on Bureaucracy
(2) State Woodrow Wilson’s views on Administration
(3) Weberian model of Bureaucracy
(4) Taylor’s concept of scientific management
(5) Explain Chester Bernard’s theory of authority

(6) Kautilya’s views on corruption.

(TS ®UTa)
9% : i A THUT TOT : 80
oAl :— (i) Wd WA Hiefau evas SR
(ii) 3SEhele e Ui U qeifodn.

1. Wod 9l S YISl 100 v foagr (FoaEr 9mw) [20]
(1) fasgietor gest Jge<l Hd W &

(2) fosm=n adEoTHE gfedE T &

(8) TR SISl TGS Td G

(4) TEHTE YIMESIE Hd GO

(5) TR ATHl IMEHAY FoRIEET 3fEE T FH.
(6) hifccar=l UIMEHE FAM TS H.

2. WO YIAEl W YS! 200 v foer (HveEr dF) [20]
(1) TR I ST FEaEqUSd ®mEe T &
(2) W deEl AfYHEaEaHi Hd W H
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(3) HWSERHEHl EEdl A EWA
(4) IS faoed a1 WRMEA ST USRROl GedTEl " HET

3. WAAURl AR TRl TeE I 400 k@ AR o [20]
(1) 9T I SaaREdEt 7d TR H.
(2) OS=T EAHE-hEfHE  giteeh |,

4, drewdd fear fa@r (Fivdl W) [20]
(1) 7% a9 SQmEEsst Td g
(2) T faeed 9= JEmEAEEHst HA @
(3) TR IE AFWMEE Uy
(4) <R AW WS AGRAIANE] Hheddl
(5) TRX TAE A AEREn faga e FH
(6) Wifeca a9 YRR T
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [5201]-3080A

T.Y. B.A. EXAMINATION, 2017
PUBLIC ADMINISTRATION
Special Paper IV
(Development Administration)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(z) Explain the features of bureaucracy.
(ii) Comment on ‘Sant Gadgebaba Gram Swatchata Abhiyan’.

(ii1) Comment on ‘Public-Private Partnership in Development

Administration’.
(tv) State the importance of people’s participation.

(v) Explain the role of Panchayat Raj in Development

Administration.

(vi) State the concept social welfare.

PT.0:



2. Answer the following questions in 200 words each (any two) : [20]
(1) Comment on ‘Administrative Neutrality’.
(ii) Discuss on functions of bureaucracy.
(iz21) Explain the concept of people’s participation.

(iv) Discuss on ‘Public Administration and Development’.

3. Answer any one of the following questions in 400 words : [20]

(z) Comment on the challenges before Development

Administration.

(i) Discuss on the effects of Globalisation in context of

development.

4.  Write short notes on (any four) : [20]
(i) Population Explosion
(1) Significance of Development Administration
(ii1) District Rural Development Agency
(iv) Globalisation
(v)  Scope of Development Administration

(vi) Importance of ‘Social Welfare’.

[5201]-3080A 2



d% : W aE THUT TOT : 80

(i) SEhEld ek YA YUl U gRifer.
(iii) TS Yoz TUSH WITUMARI TRIE.
1. @efld 9eET W Yl 100 v o (HIoEl =n) [20]
(i) AwwETEET aRv TR H
(ii) ‘Ed TEidEn YW Wesdl sIfWaE’ s 6L
(iii) ‘foR™ TS HeSHER-Serl ARieRl’ 9 6.
(iv) % HEWrT™ Heed 9.

(v)  gEEASEr o YA YfHeRT s

(vi) ‘TS Hedol’ Geheddr 9.

2. Wdd YgaEl SW Yodel 200 YsSid fowl (Svkel e ) [20]

(i) 'UITEA kel W .

(ii) ARWEMEET HEH I =9 FHA.

(iii) ‘<R HRYM' Uheddl WS H

(Gv) ‘% wImEE 9 fae™m’ g == &9

8. Wiicishl HIUAR Tl U™ 400 g W foer [20]
(1) foom WWEAEHRA STRM 9T .
(i) Toawmrea 9cuid SMfdeieom=ar 9fomH=T 9=t .

[5201]-3080A 3 P.T.O.



4., gied@ feor fo@n (Fo@g = w) [20]
(i) <RgEn faome
(ji) Top™E YR HWed

(i) oo wa e

(jv) SITIdeh ROl

(v) Top@ YITEATET AT

(vi) ‘TUS SN HEd.

[5201]-3080A 4



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

Y. [5201]-3081

T.Y. B.A. EXAMINATION, 2017
ANTHROPOLOGY
(G-3 : Maharashtra : A Cultural Region)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i) Figures to the right indicate full marks.

1. Answer any four of the following questions in 100 words
each : [20]
(1) What is Godavari Parulekar’s work among Warlis ?
(2) Describe the contribution of Karmaveer Bhaurao Patil.
(3) Explain the concept of Maharashtra Dharma.
(4) What are the types of Forts ?
(5) Discuss the handicrafts of Maharashtra.

(6) Describe the Peasant movement in Maharashtra.

2. Answer any two of the following questions in 200 words each :[20]
(1) Explain the role of Saint Dnyaneshwar and Saint Namdeo in

the Cultural Life of Maharashtra.

P.T.O.



(2)

(3)
(4)

Explain the importance of Konkan and Vidarbha as a cultural
region of Maharashtra.

Describe the importance of Tamasha, Lavani and Kirtan.
Describe the importance of Balutedari in Economic Life of

Maharashtra.

3. Answer any one of the following questions in 400 words : [20]

(1)

(2)

Explain the social reform movement led by Mahatma Phule
and Savitribai Phule.
Describe the role of Lokmanya Tilak and G.G. Agarkar in Political

and Social Movement of Maharashtra.

4.  Write short notes on any four of the following : [20]

(1)
(2)
(3)
(4)
(5)
(6)

Dalit Panther
Research design
Maharshi Karve
Acculturation
Khandoba

Warli Art.

(TS ®UTaR)

q% : A aE TRUT TUT : 80
oMl :— () W|d U OrEfau ofeavad R

(i) 3SSEHele 3% U IO SEifed.

(iii) HSHHIS! HeB SUS YYAULIR UGBl

[5201]-3081

2



1.

2.

WOkl SV T Yo=Yl 100 vseid forsr [20]

(1) TeEd Uehid dRamed & & AR ?

(2) HHAR WSHUT Gedd IfeH T H.

(3) ‘Herrg yd' ¥ Ghoudl TR HL

(4) Torea= YR GO

(5) THERTMI® B&cdrm=t ==l .

(6) TRRILMIA Idh-dreal Fooded T .

WAAUR] HIUERI a9 gl S YdH! 200 vs<id fa@r [20]

(1) Gd YR A0 Td Hed A= HERISE=A URhfae Siama e

W= HA.
(2) WENISMEI Uk HiEhfaw fauym =uA wreu i faguie dea e
EXU

(3) quwEm, wEun et feds A= "em fave &

(4) VRS Afd® Saqmid gqdeiid W W &

TEAIHRT DR Tl J9E 3w 400 v=ioda forer e [20]
(1) W ol A0 Fifasiar %ol A€l GHiisieh gURoT d@ds [ovg

.

(2) <pua feesw oqfor SHSH. SRS A=l HERTS=N Usthid 3o

qHfSieh  Fesdasidicl  YfHeRT s .

[5201]-3081 3 P.T.O.



4. EElddHl HUER AR dew| fow foawr [20]
(1) Tfaa der
(2) GYEA  SAEE]
(3) wefd ohd
(4) HAHGHAIH
(5) @EE
(6) dRal el

[5201]-3081 4



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5201]'3083

T.Y. B.A. EXAMINATION, 2017
PHYSICAL EDUCATION
(2013 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. :— (i) All questions are compulsory.

(i) Figures to the right indicate full marks.

1. Answer the following in 50 words each (any fwo) : [5]

(z)  Write the types of Yogasanas with relation to the body position.

Write any two asanas of each position.
(ii) Write the importance of carbohydrates in sportsman.
(iii) List any four fouls in Football.

(fv) List the throwing events in athletics.

2. Answer the following in 100 words each (any two) : [10]

(i)  Define physical fitness. List the factors of health related physical

fitness.
(ii) Explain the concept of personal health.

(iit) Write the importance of Yoga and Suryanamaskar.

PT.0:



3. Answer the following in 250 words each (any two) : [15]

(i) Define Balanced Diet. Write the need of balanced diet for good
health.

(ii) Define skill related physical fitness and explain the factors
of skill related physical fitness.

(izi) What is meant by Yoga ? Write a list of Ashtang Yoga.

4. Answer any one of the following in 500 words : [10]

(z) Draw and write the measurement of shotput ground. Explain

the throwing steps in shotput.

(i) Write the effect of junk foods and fast foods on the players

performance.

(TS ®UI)
q% : & A" THUT TOT : 40

gl :— () Wd WA dHiefau AEvEas .
(ii) SSdheld 3 G qu YU geifed.

1. @ g3l Yodehl 50 vegid Sw foel (SIoEl @) e [5]
(7)) AnmEEHiE 99 efiddid @M el A foen
(ii) CWrgHdl fuseny ugigfe Hge T h.
(iii) WeoiamHd 4 YARMEN ART .

(jv) hehr=al Hd YRRl A ferern
[6201]-3083 2



4.

Wellel gerEl Ut 100 Vesgid S fagl (e @) [10]
(i) TRE Hgeal US| wE 7 WM ARFANESE  HehTEl dQl .
(i) oK ARTATE Hehoudl T .

(i) AN 9 FGAHERNE Hed TR H.

@etd YeAET Yodsh]! 250 ISid SW fadel (Sivdel @F) [15]
(i) TUAIfad 2TeR =US ™ 2 R SIRradst =l STeyaehal O
h .

(i) HREATSEA RS Wgedl =S wE 7 A HeHh™ g H.
(iii) I WUS HE ? ¥ U SR AN S AT AR A

Wil hIUAEl TehT Yer<9 500 ¥&id W fomr . [10]

(i) ko= HSHET HSHMEE STHdl $igd el hhvaral T
U .

(ii) SHEHe AV FEEHS A= SAg HETHE SO RoHET ==
.

[5201]-3083 3



Total No. of Questions—10] [Total No. of Printed Pages—2

Seat
Yo, [5201]-3084
T.Y. B.A. EXAMINATION, 2017
COMPUTER APPLICATION—V
(Vocational Course)
(2013 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. :— (i) Attempt any eight questions.

(1) All questions carry equal marks.

1. Explain digital signature in detail. [5]
2. Write a note on Web Content Management. [5]
3. What is CSS ? Explain Internal CSS. [5]
4. Write a note on credit card and debit card. [5]
5. What is static website ? [5]

6. What is information system ? What are the features of information

system ?

[5]
BTG,



7. What is operation level and management level organization ? [5]

8. What is E-commerce ? Explain types of E-commerce. [5]
9. What is E-payment system ? [5]
10. Explain HTML tags for Table creation. [5]

[5201]-3084 2



Total No. of Questions—5]

[Total No. of Printed Pages—5

Seat
No.

[5201]-3085

Time : Three Hours

N.B.

T.Y. B.A. EXAMINATION, 2017
FUNCTIONAL ENGLISH
(Vocational Stream)

Paper V

(Introduction to Print Media and Writing for Mass Media

and Key Competency Modules)
(2013 PATTERN)

Maximum Marks : 80

:— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

Prepare a news item about 150 words based on the points given

below :

[15]
Times New Network

New Delhi

Bravehearts of Siachen-150 soldiers and two canines, specialized
rescue dogs-Dot and Misha.

800 x 400 ft ice wall broke off, covered an army post in
Northern Glacier, Siachen.

Round the clock rescue operations.

Rescue team-arduous task of breaking through 25 ft of blue
ice, harder than concrete, had to chip it inch by inch.
Specialised digging equipments-rock drills, electrical saws and

earth augers flown in.

P.T.O.



] Average temperature minus 30 degrees Celsius during day and
minus 55 at night.
° Helped rescue Lance Naik Hanumanthappa, buried under tonnes
of ice for six days.
Or
Prepare an alternative copy of the following so as to attract the

customers by making changes only in its verbal aspects : [15]

Get a Premium Pillow FREE*
with Every Sleepwell. Mattress.

sleepwell,

MY MATTRESS

[5201]-3085 2



2. (A

(B)
3. A
(B)
4. (A)

[5201]-3085

Write a short note on any one of the following in about 60
words : [5]
(z) Importance of print media

(zi) Difference between the beginning of a feature and an

article.

Prepare a short radio talk or a conversation on any one of
the following topics : [5]
(i) Favourite past time of today’s youth

(zi) Talk with a writer.

Attempt any two of the following in about 60 words : [10]
(i) ‘A good technical writer needs strong writing and com-
munication skills’. Explain.

(ii) What is the scope of technical writing as a career ?
(iiz1) What is the purpose of technical writing ?

As a technical writer prepare an instructional manual for the
following product. Give five instructions in a logical order for
the prospective customers (any one) : [5]
e How to ride a bicycle.

e How to use a pen drive.

Give Marathi or Hindi words for the English terms given below
(any ten) : [10]
(1) Actor

(2) Hoarding

(3) Appointment

(4) Editor

3 P.T.O.



(B)

[5201]-3085

(5) Director
(6) Consumer
(7) Refugee
(8) Dialogue
(9) Republic
(10) Journalism
(11) Growth
(12) Temporary.
Translate the following passage into Marathi or Hindi : [10]
When it rains, a lot of water falls to the ground from the
sky. There is water everywhere. Everywhere, we see rivulets
of muddy brown water flowing fast. Water drips from the trees
and housetops too. But then after a while, everything looks
dry again. (It looks cleaner, too !) Where does all the rainwater
go ?
In cities, there are pipes under the roads. At the sides of
the roads, there are big holes covered with iron gratings. The
holes are connected to the pipes. The rainwater flows to the
pipes through these holes. Then, the pipes carry the water
away to the nearby river or sea.

Or
Translate the following passage into English : [10]
YU A Tehsl Tgd ATl ol waisft A0l e gaY STEdd

3T . RUNCN AN Socddl dled, HUTAl deid Seed amedd, W™

4



5. (A

(B)

[5201]-3085

HUMCT 35 Sdzdl dled. TS STHYAd Hle JEUe SASihed S
FA TEAL A A SGA TSA SG@eEe U g8 Sl e o)l
dt STSETS[e HIA AR, 3TH 3SRl aed R, fad W& 3 A6 @ed
FAQUl Aed IR, @t Akt wew fadwl ARl Bl sW@ fehen

ISR’ eied heterd fa=n ¥es 3ifan /=, faell Uehel Wer=A

WRAKET ==l W @[ Wheal. A= SRE SeA fad @ WA
Shel.

Write short notes in about 100 words on any {wo of the
following : [10]
(1) Entertainment value of films

(2) Use of flash backs in films

(3) Qualities of a good film reviewer.

Write a review in about 200 words of a comic film or an

animated feature film you have watched. [10]



Total No. of Questions—4] [Total No. of Printed Pages—2

Seat

Y. [5201]-3086

T.Y. B.A. EXAMINATION, 2017
TRAVEL AND TOURISM MANAGEMENT
(Vocational Stream)
Paper V
(Emerging Concepts of Tourism and Tourism Development)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.
(iit) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencil is allowed.

1. Explain any two in brief (around 50 words) : [10]
(i)  Medical tourism
(ii) Positive impact of tourism on economy of country
(iii) Historical factors affecting tourism destination
(zv) MICE.

2.  Write short notes on any four (around 100 words) : [20]
(z) Importance of National tourism plan-1992

(iz) Eco tourism in India

P.T.O.



(iit) Time and stress management in destination development
(fv) Recent trends in domestic tourism in India.

(v) How to build local capacity with sustainable development ?

Answer any three (200-250 words) : [30]
(1)  Social, biophysical and infrastructural capacity.

(ii) Pull factors affecting tourism development

(itzz1) Concept of effective tourism development

(fv) Importance of tourism action plan of Maharashtra

(v) Negative impact of tourism on environment and services.

Answer in detail any one (around 500 words) : [20]
(i) Give guidelines for development of tourism in rural India.

(i) Describe destination life cycle.
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gog —(i) |t WA stEE §)
(i) 9 & M R fa@ U dE g & QUi ¢l

faamr ‘et
1. (3 &l A4 sgare wifSw [8]
Stoppage of Increment
No. e
GOVERNMENT OF INDIA
MINISTRY OF ...

.................. DEPARTMENT
New Delhi, the ..........

Memorandum
Shri ........... L.D.C. in this office, is hereby informed
that his explanation dated ........ given by him in reply
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to memo of even number dated ............ regarding his
wilful and unauthorised absence from the office has not
been found satisfactory. It has, therefore, been decided
that his next annual increment falling due after the issue
of this order will be stopped for one year as a disciplinary

measure. This will, however, not affect his future incre-

ments.
Director (Admn.)
Shri oo,
.......................... Section
.......................... Directorate, New Delhi.
(37) FECI-IYT HT YET dIR HIfST | [8]
2. fodl wrw w fewfei fafew . [16]

(&) fewu & gm= f=m

(@)
(N
(%)
(=)
(®)
()
[5201]-3087

IR RPRGICE

feoor =t strevEsany
Ul 3(3) % TEES
O
LSk I e |

YrEqur i fagreEnd |



faum ‘=’
3. (31) Uk welfoumed i e fag ‘g’ | ot B IS il
% IGERA GURIE H GAGEEH oM W Bl I GAGDH Hi

Tfgdr TR HIfSU | [8]

(3) 9R "WieAH o ®9 #H i@l & ISR SIS [8]

4, Trefafeq § 9 fogl uwla W fewfmi fafew [20]
(2) ANE ® T

(3) WEThR @ dcd

(8) SR &1 wWEy

(8) AU i IEvIHdAl
(d7) dHfedrsli & TR

(9) R & TYHR

(7) dfedr iR wER # @
() <ErEb fédl wireer |

5. (31 f=fafee w=i & fau &t wiftafoes s fafeun (4]
(i) Allocation
(1) Civil Services
(727) Claim
(iv) Cabinet Secretariat.
(1) Freafefem #§ @ el W Wl @ feg sish wRwE o
fafe . [4]
(i) sAfereer
(i) et
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(i11) SATEATIh/dTh
(iv) Jea-f1&as
(v) TS T |
(3) Ffafea & &t waia fafe [4]
(i) Needful has been done

(ii) I am directed to
(7ii) I fully agree with the office note

(tv) I have the honour to.
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